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BBEAEHME / Introduction

B ycnoBusix rmobanu3aiyy U pa3BUTHS HAYKH B COBPEMEHHOM O0IIECTBE
YBEIIMYMBAETCA KOJIMYECTBO HAYYHBIX KOHTAKTOB, HAPUMEp, KOH(pepeHIINH,
CHUMIIO3UYMOB, HAyYHBIX CEMHUHApOB, B KOTOPHIX NPUHUMAIOT Y4YacTHE
Y4eHBIE CO BCET0 MHpa C eNbl0 00MeHa Hay4YHBIMU UAEIMHU. UTO MPUBOAUT
K BO3PACTaHHIO 3HAYMMOCTH HAYYHOTO CTHJIS pEUU. Y YCHBIM MIPUXOIUTCS HE
TOIBKO OOBACHATh CBOW HAy4HBIE HCCICIOBAaHUS, HO W MPEICTaBIATh HX
JIOJDKHBIM 00pa3oM. B CBSI3U ¢ 3TUM NPUOPHTETHOE 3HAYCHUE MPHOOpETaeT
U3yYeHHE CHOCO0OB, CIOCOOCTBYIOIIMX YCIEIIHOCTH KOMMYHHMKALUU B
YCIOBHAX KOMMYHHKATHBHO-OPHEHTUPOBAHHOTO TMOAXOAa K H3YYEHHUIO
a3b1ka. Hapsimy ¢ ycTHOM (opmoil Bo3pacTaeT M BaXXHOCTh IMyOIHMKAaLUU
HAYYHOTO 3HAaHUS — UJICH, TPYAOB, pe3yJbTaTOB dKCIIepUMEeHTOB. K ToMy ke,
KaK MpaBUJIO, MyOJMKAMK W3JAIOTCS HA AHIJIMHCKOM S3bIKE, KOTOPBIH
CUHTAETCS MEXXHAIIMOHAIBHBIM IO cepe YHOTpeOICHHS.

Heo6xonumocTh myOnuKanuii Hay4dHBIX paOOT HA AHTIHMKUCKOM SI3bIKE B
KayecTBe OOMICTIPUHATOTO MEXKIYHApOIHOIO sA3bIKa OOIIEHUS TOXKe
00yCIIOBNIHMBACT oOpaiieHue JIONIEH, 3aHUMAIOLIUXCSA Hay4YHOU
JeSTeTbHOCTBIO, K HAyYHOMY CTHJIIO TUCbMEHHOH peun. CieyeT OTMEeTUTh,
YTO HaNMCaHUE CTaTedl Ha AHIJIMKWCKOM S3bIKE YYEHBIMH, I KOTOPBIX
AHTJIMIACKUAN SI3BIK HE SIBISCTCS POJHBIM, IMPEICTABISAET COOOH JTOBOJBHO
CIOXHBIA Tporiecc. Bce 3To 00yclnoBHMIO aKTyalbHOCTh HACTOSILIETO
UCCIIEI0OBaHUS.

B nannHOii paboTe aBTOp aHANM3UPYET COBPEMEHHbIE TEHACHINH,
BO3HHUKAIOIIME B HAy4yHOM JHcKypce. Llenpro AaHHOTO HCCIIeAOBaHUS
gapusieTcs:  a) 0030p XapaKTepUCTHK, TMPHUCYIIMX HAyYHOMY CTHIIIO
AHTJIMICKOTO  53bIKa; ©0) 0030p JIEKCHYEeCKUX U  TpPaMMaTHYeCKUX
(Mopdosnornueckux M CHUHTAKCHYECKHX) OCOOCHHOCTEH $3bIKa, OCBOMB
KOTOpbIE aBTOPbI CMOTYT yBEpEHHEE MHUCaTh U TOBOPUTh HAa AHIJIIMHACKOM
SA3BIKE.

B 1nenoM, Hay4yHOMY CTHIIIO TMPHCYIIM TaKUe XapaKTEPUCTHKH, Kak
JIOTHYECKOE, MOCJIENOBATEIIFHOS M CBS3aHHOE H3JI0KEHHE Marepuaia C
yKazaHHUEeM MIPUYHHHO-CJICCTBEHHBIX CBsI3eH, abCTPaKTHOCTB,
HOMUHAJIHOCTb, TOYHOCTh, OOBEKTUBHOE OTHOILEHHE aBTOopa K (akram,
MH(POPMALIMOHHAs HACBIIIEHHOCTh MaTepuala, W3J0XKEHHOTO C TOMOIIbIO
YCIIO)KHEHHBIX CHHTaKCHYECKUX KOHCTPYKIUH, OTHAKO B CKaTol (opme.

Jloru4HOCTh U TOCIEA0BATEILHOCTD. JIF00O0U Hay4YHBIH TEKCT JIOJDKEH
OBITH JIOTMYHO TIOCTPOCH, TO €CTh HMETh XOPOIIYID CTPYKTYpPY C
NpU3HAKaMHU Tepexofa OT OJHOW YacTH K APYro, coOnronaTh MPHUHIUI



IOCJIEOBATEIbHOIO  M3JIOKEHHUA apryMeHroB. Kaxnoe mnpelioxeHue
JIOJDKHO OBITH JIOTHYECKH COSIUHEHO C MPEANISCTBYIOIINM 1 ITOCIEAYIOIIIM.
UroObl TOOUTHCS JIOTHYECKOTO HM3JIOKEHUs MaTepualla B HaydYHOM CTHIIE,
HCIIONB3YIOTCS, HAIPUMEP, IPOCTBIE MPEMIOKEHUS C OCIOXKHIIOLIIUMU
KOHCTPYKLUSIMH, TUCKYPCUBHBIMU Mapkepamu. Hampumep:

"There are two fundamental problems of knowledge at the centre of the
book. First, we have the problem of induction, that is the fact that although
we are only able to observe a limited number of events, science nevertheless
advances unrestricted universal statements. Second is the problem of
demarcation, demanding a separating line between empirical science and
non-science. This book means a major contribution to the philosophy of
science and is therefore essential reading for anyone interested in the field"
[1]. B mepBoM mpemyoXeHHH aBTOP TOBOPHUT O CYNICCTBOBAHHH JBYX
npoOiieM, U Jajee OH JIOTHYHO XapaKTEepU3yeT KaXIylo W3 HHX, HCIOIb3Ys
JUCKYPCHBHBIE MapKepbl, YTO 00JierdyaeT BOCIPUATHE TEKCTa YATATEIIEM.

Ab6ctpaktHocTh. Eme onHOW uepToi HayyHOrO CTHJS —SBJSIETCS
abcrpakTHOCTh.  JlaHHas  XapakTepUCTHKa YeTKO IpOsABISEeTcs Ha
JIEKCUYECKOM YPOBHE — HAyuYHBIH CTWIb MHUCBMEHHOM pEUYM OTJIMYAETCS
YacTOTOH  HMCHONB30BaHUS ~ a0CTPaKTHBIX  CYIIECTBUTEIBHBIX.  JTO
OOBSCHSIETCS TEM, YTO, BO-IIEPBBIX, IIPH PACCMOTPEHUH MPOOJIEMBI cCHadama
U3y4yaroTcsl OOLIMe MOHATUS U TOJNBKO NOTOM OHHM KOHKpeTu3upyrotcs. Bo-
BTOPBIX, CErOJHS Y4YE€HbIE OTXOAST OT NPHUHSATHIX CTEPEOTHUIIOB, OTIaBas
npearnouTeHre 6osee CKaTbIM CTPYKTYpaM, KOTOPBIE CTaHOBSTCS 3aMETHOM
4epToi HayYHOTO CTWIIA (Tak Ha3pIBaeMasi HoMuHamnm3alws). OHU CYMTAOT, 9TO
HayJHas Ipo3a JODKHA OBITh HACTOJBKO KOMITAKTHA, YTOOBI YHTATENh MOT
OBICTPO IPOCMOTPETH CTATHIO U M3BJICYb BAXKHYIO HH(popManuio [2, 227].

OOBEKTUBHOCTb. [[J11 COBPEMEHHOI'O HAayYHOI'O CTWJIA HE XapaKTEePHbI
CyObEKTUBHBIE OLEHOYHBIE CYXAEHHUsS, KOTOPble HCIONb3YIOTCS UId
BBIPKEHUSI JIMYHOW TOYKH 3peHwsl aBTopa (in my opinion, to my mind, etc).
Haobopor, sToMy crTmmo mnpucyma Oe3nndHas MaHepa H3JI0KCHUS]
Marepuanga, MOTOMY YTO OCHOBHOE BHHMaHHME B paboTe yIemsercs He
JUYHOCTH aBTOpa M €ro MHEHHIO, a HH(POPMAIMK M apryMeHTaM, KOTOpBIe
aBTOp HpencraisieT ynrarento. [lo muennto M. MaptuHes, «(akTsl TOBOPST
camu 3a ce0s 6e3muuHbIM 00pazom» [2, 227]. 1. MapTtuHe3 B cBoeil pabote
paccMaTpuBaeT ynoTpebiaeHue 0€3TMYHBIX KOHCTPYKLUH B
HCCIIETIOBATENbCKUX CTAThIX, KOTOPHIC «TI03BOJISIIOT aBTOPAM CTPATEIHIECKU
IVCTAHIIMPOBATECS OT WH(OpMAaNWH, O KOTOPOH OHM mmmryT» [2, 227].
COOTBETCTBEHHO, B aKaJleMUYECKOH IIpO3€ paclpOoCTpaHEHbl Oe3JIMYHbIE
npetoxkerus (It is known that .... It can be said that ... There is an opinion
that etc). [l 06pazoBaHust OE3NMUYHBIX MPEUIOKESHUI 9aCTO MCHOIB3YIOTCS
[IaCCHBHBIE KOHCTPYKLMM (CTpaJaTelbHbIM 3ajor), e He BaXKeH U He
YKa3bIBACTCS UCTIOTHNUTEIH JCHCTBHS.



OpHako B m000OM cilydae aBTOp MOJDKEH IIOKa3aTh CBOE JIMYHOE
OTHOIIICHHE K TOMY, O Ye€M OH IHIIEeT, XOTA Obl B cKpwITOi (hopme. B
aKaJeMUYeCKOM CTWJIE CYIIECTBYIOT HEKOTOPBIE CIIOCOOBI  TaKoTo
BBIPQKEHHUS] aBTOPOM CBOETO MHEHHS, TaK Ha3blBaeMOE€ XeIDKHPOBaHHE
(hedging), To ecTh cMmsrueHue OTBETa, YKIIOHCHHE OT NPSIMOIO OTBETa.
PaznuuHble mpueMBbl TaKOTO YKJIOHEHHUs MO3BOJISIOT aBTOPY MOKa3aTh CBOH
JUYHBIE YYBCTBa, OTHOIICHHE K MPOUCXOIANIEMY, OICHOYHBIC CYKICHUS,
MOCTPOCHHBIC HA PA3HOM CTETIEHH YBEPEHHOCTH B MPOUCXOJSAIIEM, eNaTh
IPOTHO3bl U T.J. HE oueHb OTKpbITO. Kak yrBep:kmaer M. Bacuiesa, B
AHTJIMICKOM sI3bIKE KONHWYEeCTBO Takux orpanmuurteneid (hedges) — w,
COOTBETCTBEHHO, CTENEHb OTCTPAaHEHUS aBTOpa — camoe OOJIbIIoe 10
CpPaBHEHMIO C HEKOTOPBIMHU JAPYTUMHU si3bIKamiu [3, 88].

. bBaiibep u apyrue CUMTalOT, YTO MHEHHE 4YEJIOBEKAa MOXET OBbITh
BBIPXXEHO C MOMOINBI0 TPAMMATHUECKUX M JICKCHYECKHX MPUEMOB (3a CUeT
BbIOOpa CTPYKTYp M CJIOB, O3HAYAIOIIUX OLCHOYHBIC CYXKIEHHs) THO0
MApaTMHTBUCTHUECKUX (HESI3BIKOBBIX CPEACTB PEUeBOro OOLIeHUs, K
KOTOPBIM OTHOCATCSl (POHALIMOHHBIE TIPUEMBI — CTEMEHb TPOMKOCTH,
pacmpeneneHie may3 U T.I., KAHETHYECKHE OCOOCHHOCTH MHUMHKH U
KECTUKYISAUK, U rpaduueckue) [4]. Jlekcuko-rpaMMaTHdeckue CpeacTBa,
UCTIOJIb3YEMBIE MTPH XEeHDKUPOBAHHUH, BKIIFOYAIOT, B YACTHOCTH,

1) Hapeuwsi, BEIpaXKaroUIue:

* onpezeseHHocTh (actually, certainly, in fact, etc)

* BeposATHOCTH (apparently, perhaps, possibly, etc)

* oTHOIIeHKE (amazingly, interestingly, surprisingly, etc)

* crunb/mogxon (according to, generally, typically, etc)

* yacToty JeiictBus (always, often, sometimes, usually, etc)

3) ykazarenu MHOXecTBa (all, most, many, some, certain, etc)

4) crnoxkHBlE W TMPOCThIE MpeIokeHust (0e3nuyHble ¢ WHOUHUTUBHBIMHU
KOHCTPYKLHMSMH U IPUAATOYHBIMH ¢ that) ¢ HCIIONB30BaHUEM:

* IJ1aroJioB, BBIPAKAIOUIMX OTHOIIEHUe (seem, tend, look like, appear to be,
think, believe, doubt, be sure, indicate, suggest, conclude, expect, hope, etc),

Hanipumep: It might be suggested that...,
It seems/appears thatlt tends to...

*  NpUJIArareNbHBIX, BBIPAKAIONIMX OTHOIICHHWE, IMOCJIE BBOJHOIO
MectouMmeHust it (certain, clear, likely, essential, important, interesting,
happy, able, easy, difficult, etc), Hanpumep:

1t is important to develop

It may be possible to obtain ...

* CYIIECTBUTENIBHBIX, BBIPAKAIOUIUX OTHOIIEHUE B KOHCTPYKIUSIX TOCIEC
there u it (conclusion, fact, observation, assumption, hope, tendency,
obligation, etc), Hanpumep:



There is every hope that
It could be the case that...

PaccmoTpuM crenyronme npumMepsl:

Skeletons recently discovered in Scotland indicate that ancient Britons
practiced the act of mummification at the same time as the Egyptians.

Skeletons recently discovered in Scotland seem to indicate that ancient

Britons practiced the act of mummification at the same time as the Egyptians
[12:96]

AKaneMU4ecKoMy CTWJIIO MUCBMEHHOW pEeYH MPHUCYINM CIEAYIOIUe
YepTHI:
* WCMOJIb30BaHHE HEWTpambHOW wiau Oosee (HOPMATBHONH — JIEKCHKH
(aOcTpakTHBIE CYLIECTBUTEILHBIE)
* ucrosb3oBaHue Oosee (OPMaIbHON TpaMMAaTHKH, HampuMep, Oe3THuHbIX
there/it B kauecTBe MOJICIKAIIETO
* MICTIOJIb30BAHNE XEKUPOBAHUS
* UCTIOJNIb30BaHKE CTPAJATENHHOTO 3AJI0Ta B KaueCcTBE Oe3MYHBIX KOHCTPYKIIUI
Homunanuzanus. Cneayroniel uepToil HayyHOTO CTWJISL B aHTJIMHCKOM
A3bIKE, Ha KOTOPYIO CTOMT OOpaTUTh BHUMAaHHE, SBISETCS HOMHHAIH3ALMS.
OTO 03HAYaeT, YTO B COBPEMEHHON IMHCHbMEHHOW pe4yd Hay4dHOI'o CTHIISL
pasBWIacCh TEHACHIUS K OONbIEMYy YyMOTPEOJCHUIO CYIIECTBUTEIbHBIX M
OTHOCHUTEIILHO MEHBILIEMY YHOTPeOIeHHIO TI1aroyioB. CpaBHUM:

a) Most people would agree that regular exercise is important (General English).
There is a widespread agreement about the importance of regular exercise
(Academic English).

b) The only way to diagnose the disease accurately is to obtain a blood
sample. An accurate diagnosis of the disease depends on obtaining a blood
sample [2, 76].

Cxaroctb. Ilpm  Bceil MHQOPMALMOHHOW  HACBIIEHHOCTH  TEKCTY,
HalmMCaHHOMY B aKaJCMHU4YCCKOM CTHJIC, MNPUCYIIA CXKATOCTbh H3JIO0KCHUA
MaTepualia, TaKk Ha3bIBa€Mass KOMIIpECCHU. OHna MOXeT OBITh AOCTUTHYTA 3a
CYET HOMHUHAJIN3alIuN U ONIPEICITICHHBIX CUHTaAKCHUICCKUX KOHCprKI_[I/II‘/’IZ

* IPOCTBIX IIPEIIOKECHHN;

*CJIOBOCOYCTAaHNH MMEH CYyIIeCTBHTENBHBIX (productivity increase, quality
improvement, baggage inspection procedure, justice department officials,
settlements tax increases, etc);

* CIOBOCOYETAaHHI MMCH CYIIECTBUTECIBHBIX C NpHJIaraTteasHbIMU (a large
number, unusual circumstances, etc);

¢ 3aMCHBI ITPUAATOIHBIX HpeHHO)KeHI/Iﬁ pUIaCTHBIMU UJIA I/IH(l)I/IHI/ITI/IBH])IMI/I
KOHCTpyKumsiMu (greenhouse gas emission driven by a surge in coal use,
companies supplying energy);



* ({pa3 ¢ mpemmoramu (the first step in seeking quicker treatment, to
determine the effect of salt on the growth and development of paddy);
* (paz-kmuie ocobeHHo B yctHoW peun (Regarding the question about ...

OTtHocuTeNnbHO Botpoca o... In answer to the question (enquiry) about ...

B oTBet Ha Bai Bompoc o...)

B anrmmiickoil cucreme oOpa3oBaHus yemnsieTcss OOJbLIOE BHUMaHHE
PasBUTHIO aKaZAECMUYECCKOI0 ITMCbMa. Co BPEMCHEM B AHIJIMICKOM  SI3BIKE
00pa3oBaiicst LETbI PSfl JISKCHKO-TPAMMATHYECKUX MPHEMOB, HAPABICHHBIX
Ha COOJIOZICHNE OCHOBHBIX NPHHIMIIOB HAYYHOTO AWCKypca. B oTedecTBeHHOI
CHUCTEMC 06pa3033H1/151, Ha Hall B3O, YACIACTCA HEAOCTATOYHOEC BHHUMAHHEC
yKa3aHHOW Tpobieme, XOTs, 4TOObI YyBCTBOBATH ceOsl BIIOJHE KOHKYPEHTHO
CTIOCOOHBIMU Ha MEXKIYHAPOJHOM PBIHKE, YKPAUHCKUM YUEHBIM CIEIyeT OBbITh
OCO6CHHO BHUMATCJIIbHBIMU K CHOCO6aM BBIPXKCHHUA HAy4YHOI'O CTHISA Ha
aHTJIMICKOM si3bike. Jlamee paccMOTpHM OoJiee JACTaTbHO SI3BIKOBBIC CPENICTRA,
XapaKTePHBIC TS aHIIMHCKOTO HAYYHOTO JIUCKYpCa.
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OUCKYPCUBHbBIE MAPKEPbI / Discourse Markers

B Hacrosimee BpeMss HE TOJIBKO CO CTOPOHBI JIMHTBUCTOB, HO U CO
CTOPOHBI ~ COIIMOJIOTOB,  IICHXOJIOTOB,  CHELHAINCTOB B  cdepe
WHPOPMALMOHHBIX ~ TE€XHOJOTHH, TIOJIUTHUKOB, IOPHCTOB HaOIIOAaeTCs
MOBBIIIEHHE HHTEpeca K IpodieMe AUCKYpca B IIEJIOM U MapKepoB JUCKypca
(manee JIM), B uactHocTh. VKcciienoBareian BBIACHISIOT PA3IUYHbBIC THITHI
JUCKypca: Hay4HbIH, TITOJUTUYECKUM, pPETUTHO3HBIM, TMeNaroruuyeckui,
IOpUIUYECKU U T. A. B JIMHTBUCTHYECKON JIUTEpaType MOXHO BCTPETHUTH
ONpeJeNIEHUE JAMCKYpca KaK «CBSI3HOI'O TEKCTa», «YCTHO-pa3rOBOPHOM
(hOpMBI TEKCTa», «IUAJIOTa», «TPYMIBl BBHICKA3bIBAHUM, CBA3aHHBIX MEXKIY
CO0OH MO CMBICITY», «PEUueBOr0 MPOU3BEICHUS B MHUCbMEHHON WM YCTHOM
tdopmax» [l], «KOMMYHHKATHBHOTO COOBITHS MEXAYy TOBOPSAIIUM H
ciaymarmomum» [2], «peud TOBOPSILETO», «IBYX WIM HECKOJIBKUX
MPENJIOKEHUM, HAXOJIIIUXCS B CMBICIOBOM CBs3W» [3], «Tekcra,
MOTPY>KEHHOTO B CUTYalMIo oOweHus» [4], «pedeBoil MpakTHKH, CIocoda
oOlIeHUs, JeTePMUHUPOBAHHOTO KYJIBTYPHO-UCTOPHYECKHUMHU YCIOBUSIMH
ero (QyHKIIMOHUPOBaHUM [5].

Mo wmuHenuto amepukanckoro wucciemopatens J. udpuH, auckypc
ClelyeT paccMaTpuBaTh B JIByX HAalpaBICHUSIX: IIOBECTBOBAaHMUS U
JUCKyccur/ apryMmeHTanuu. Kaxkjaoe w3 STHX HampaBlieHHH CTaBUT IMepes
coboii pasHble 3amaud. [loBecTBOBaHWE, HampUMep, XapaKTepHU3yeTcs
YeTHIPbMs 3a/la4aMi: HayaTh UCTOPUIO, U3JIOKHUTH COOBITHS, NIepeaaTh CyTh
pacckasa M 3aBeplIuTh ero [6]. Jluckyccus HampaBieHa Ha yCTaHOBJICHUE
UCTUHBI. BakKHEHIINMU OTIMYMUTEIBHBIMU YEPTAMH SIBJISIIOTCS LIEIBHOCTDh U
CBSIZHOCTB IHUCKypca. CpeacTBaMu, 00eCIeYHBaIOUIMMU IPAMMATHYECKYIO
CMBICJIOBYIO IIEJIBHOCTh AMCKYpCa, OPIaHU3YIOLUIMMH CMBICIIOBYIO CBSI3HOCTH
€ro eAMHUII, SBISAIOTCS AUCKYpCUBHBIE Mapkepbl. OHHM TNPHUCYTCTBYIOT B
M000M JHCKypce M NPEACTaBIAIOT COOOH S3bIKOBBIE €AMHUIIBI, KOTOpPHIE
BBIMOJIHAIOT CTPYKTYPHO-CMBICIIOBYIO (YHKLHUIO MpPU CTPYKTYPHUPOBAHHH
TEKCTa.

Kak m mig camoro mHOHATHS «IOUCKYpC», Tak M Ui OIpEAeTeHUs
JIMCKYPCHUBHBIX MapKepOB B JIMHTBUCTUYECKOW JIUTEpAType HCHOJIB3YIOTCS
pasnuuHble JAeQUHULMU: «IUCKYPCUBHBIE YacTULBD, «IUCKYPCUBHBIE
KOHHEKTHUBBD», «IIparMaTU4eCKUE YacTHUILBD, «IIPAarMaTHYecKUE MapKephl»,
«IIUCKYpCHBIE omnepaTopbl» U Ap. [7-9]. Takoe pa3HooOpasue onpeneseHui
JUCKypca U TUCKYPCHBHBIX MapKepoB OOYCIOBIEHO HAJIIMYHUEM Pa3TUYHBIX
TEOPETUYECKUX IMOAXOJ0B K MCCIENOBAaHUI0O M aHainu3y Tekcra. K
JUCKYPCUBHBIM MapKepaMm OTHOCST CIEAYIOLIHe TPYMIbl CIOB: 1) COO3BI;



2) npeanoru; 3) apTukim; 4) MeCTOMMEHUs; 5) Hapeuus; 6) CylIecTBH-
TENbHBIC, BXOJSIIME B COCTAaB CJIOBOCOYETAHHMH CIYXeOHOTO XapakTepa;
7) MexxaoMeTus; 8) MECTOMMEHHBIE Hapeuus; 9) UMEHHbBIC W TPEIJIOKHEIC
rpymnnsl; 10) rnaronsabie dopmbl. Jlebopa Iluddpun odens mompoOHO
aHanmuzupyer JIM u pasrpaHuuMBaceT MX Ha 5 KIJIACCOB, MPUHAJUIEKAILNX
cnenyommM cdepam: chepa oOMeHa, rae GYHKIUOHUPYIOT MapKepbl MEHBI
poJeii; akuuoHanbHas cdepa, rae M nmogaepKuBaroT KOTEPEHTHYIO CBS3b
MEXJy pEUeBBIMH aKTaMH; HAealMoHHas cdepa, tae M onpexpensror
OTHOILICHHS MEXTY MIPOTIO3UITUSIMH; cepa B3aUMO/ICHCTBUS
KOMMYHHKAHTOB, T1ie¢ JIM CUTHanu3upyroT 00 OTHOLIEHHH KOMMYHHKAHTOB
K MHTCHIMSIM, MHTEPIPETANH U JeATeTbHOCTH; UH(pOpMaoHHas cdepa,
rae JM crnocoOCTBYIOT ymoOpsAOYMBAHUIO W YIPABICHUIO Pa3HbIX BHUIIOB
uHpOpMaIuK B peueBoM notoke [ 10, 24-26].

B. ®peiizep B cBOoMxX pabotax «Pragmatic Markers» u «An approach to
discourse markersy moapa3sgenseT AUCKypCHBHBIC MapKepsl Ha CIEIYIOMIe
rpynmnsl: 1) 6a3oBeie Mapkepsl (basic markers), yka3blBaloIIue Ha XapakTep
6a30BOro cooOILIeHHUs (TUT PEUEBOTO aKTa, Nep(hopMaTUBBL, TParMaTHYECKHE
UAHOMBI); 2) MapKepbl-KOMMEHTapHUH (commentary markers),
KOMMEHTHpyomue 0azoBoe coobuienue (Hampumep: fortunately, possibly,
they say, I heard that, if I am not mistaken); 3) mapamienbHbIe MapKepbl
(parallel  markers), KkoTopble  JOMOJHSAIOT  0a30BOE€  COOOIICHHE;
4) nuckypcuBHble Mapkepbl (discourse markers), ykasbpIBaromue, Kak
0a3oBoe cooOlIeHHe CBA3aHO C KOHTEKcToM (Hampumep, but, however,
although (xonTpactupyromue mapkepsl), in other words, particularly, also,
and (meramusupyromme Mmapkepsl), that's why, so, accordingly (mapkepsr
BbIBOZA)) [11, 12].

Tak, «IMCKYpCHUBHBIH Mapkep — 3TO S3BIKOBOH HHCTPYMEHT
CTPYKTYpUPOBaHHUsS AUCKypca — OT (POHETHUECKMX M HHTOHAIIMOHHBIX
nokasarenei 10 JeKceM M CIelu(pUUecKUX CHHTAKCHUECKUX KOHCTPYKIIUN
[13]. K nmuckypcuBHBIM MapKepaM OTHOCSTCS CIIOBa W BBIpaKEHHUS 0e3
OUYEBUIHOTO JIEKCHYECKOTO 3HaueHHs. VX ocHOBHas (yHKUHUS 3aKIIHOYaeTCs
B (OpMHpPOBAaHMUU pPA3TOBOPHOM CTPYKTYpPHl M Mepedadyd HaMepeHHs
roBopsmmx. TakuM 00pa3oM, MOXHO CKa3aTh, YTO JAUCKYpPCHBHBIN Mapkep,
CKpPEILISIeT Pa3po3HEHHBIE (pa3bl, CO3/AaBasi SAMHYIO CTPYKTYPY pa3roBopa u
npuaaBas e Ooyiee MOHATHYIO M oT4deTIuByl0 Qopmy. bomee Toro,
NMoJOOHBIE MapKephl OXKHUBIIIOT pedb, Jejias €€ MeHee KOCHOS3BIYHOH H
OPUATHON K BOCHPUATHIO. be3 MUCKYpPCHBHBIX MapKepoB HAllM Pa3rOBOPHI
cTami OBl HANOMHMHATH 3a4YUTHIBAEMBbIE BCIYX TEKCTHl, B KOTOPBIX
OTCYTCTBHE SMOLIMU SIBIACTCS HOPMOM, TOTIa Kak Uil YellOBeKa BaXKHA
9MOIMOHANBHAS COCTaBJsomas auanora. CyIIeCTBYIOT pa3HOOOpa3HbIe
SI3BIKOBBIC CPENICTBA, MMEIONINE BO3ICHCTBYIOIIUI XapakTep, HO B HaIliei
paboTe MBI paccMOTpeld HMMEHHO TO, KaK JUCKYPCUBHBIE MapKepbl
pPacKphIBalOT CBOIO TMEPCYa3MBHYIO HaTypy B paMKax MOJUTHYECKOTO
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JUCKypca, Kak @pH TOMOIIM 3THX KOHHEKTOPOB OCYIIECTBISETCS
BO3/ICIICTBHE Ha ajipecara.

[lepcyasuBHBIN OHUCKYpC HWMEET [IOBOJBHO UHIMPOKOE MPUMEHEHHUE,
YYUTBIBas TOT (PaKT, YTO IUISI HEKOTOPBIX BUAOB TEKCTa MEPCYa3UBHOCTh
Oyzer sBIATBCs TNaBHBIM npusHakoM. B.E. UepHsBckas oTmeyaer, 4To B
KayecTBE OJHOM M3 XapaKTePUCTUK MyOJUIIMCTHYECKOTO TEKCTa MOXKHO
BBIJICJIUTh «BO3JIEHCTBUE B LENAX (POPMUPOBAHHS OINPENCIICHHOTO MHEHHS
yuTaTeNbCckod aynurtopum» [14, c. 35]. Ilo ee cioBaM, TEKCTBI
MOJIMTUYECKOTO AMCKYpCa TAK)KE OTHOCSTCS K «TUIUYHO MEpPCya3sUBHBIMY,
BElb BO3JCHCTBUIO B HUX OTBOJUTCS NOMHUHHUpYIomas poub [14, c. 35].
Cpenu MUHTBUCTHYECKUX CPEACTB C MAaHUMYJIATUBHBIM MoTeHIMaioMm B.E.
UYepHsIBCKast BBICISIET «SA3bIKOBBIE €IMHUIIBI, IPArMATUYECKU ITyCThIE» BHE
JIETaTU3UPYIOIIETO UX coaepxkaHue KoHTekctay [14, ¢. 56]. K Takum cmoBam
OHA NMPUYHCISIET CYUIECTBUTEIbHBIC, IIPUIaraTeIbHbIE U HapedHsi, KOTOpPbIE
«HE HECYT HHMKAKOW HOBOH, JNOMOJHUTENHHOW wmH(popmamum» [14, c. 56].
OpHako MBI MOXeM J00aBUTb, YTO IO OIpPENEeNICHUIO IUCKYpPCHBHBIC
MapKepsl TOXE MOAXOIAT K KJIacCy NOJOOHBIX S3BIKOBBIX —€IHHHIL.
CymiecTBys BHE KOHTEKCTA, JIaHHbIE MapKepbl HE MMEIOT ONpPEIEICHHOTO
JEKCHUYECKOTO 3HaueHus. Mx (yHKIMOHANBHOCTH MPOSBIACTCS IMPU
(hopMHUPOBAHWY IUAJIOTA U €TO CTPYKTYPBI, YTO TOBOPHUT 00 UX 3aBUCUMOCTH
OT KOHTeKcTa. MTak, B HacCTOSIIIEM HCCIIEOBAHUN TEPMUH «JIUCKYPCHBHBIN
MapKep» paccMaTpUBaeTCsl Kak S3BIKOBas €IWHMIA, YCTaHABJIMBAIOLIAS
OTHOLIEHHA MEXAy JAByMs (wim Oojee) dJIeMEHTaMH AHMCKypca,
obecrieunBaromas CBSI3HOCTh TEKCTa, oTpakaroIas polecc
B3aMMOJIEMCTBHS TOBOPSILIETO M CIIYIIAIOIIEro, BBIPAKAIONIAsl 3TUYECKUE
OIICHKH, MHEHHsI, COOTHOCAIIAsl, CPABHUBAIOIIASL U MPOTHUBOIOCTABIIIONIAS
pasHble YTBEP)KICHHs TOBOPSIIETO WM TOBOPAILIUX IPYT C JpyroM. Takum
00pa3oM, B CBSI3U C BBIIIEHU3JIOKEHHBIM MOXXHO BBIIEIUTh TPU OCHOBHBIC
(yHKIMH JUCKYPCHBHBIX MapKepoB: oOOecrieueHHe CBS3aHHOCTH TEKCTa,
BBIPAKEHUE OTHOUIEHMS aBTOPa K M3JI0)KEHHOMY TEKCTY M B3aUMOJICHCTBUE
aBTOpA U PELMITUCHTA.

[IpexcraBum mucKypcHBHBIE MapKepsl B Taduume [15]:

FUNCTION EXAMPLE

ADDITION Also first, second, etc. additionally besides
further equally important

moreover similarly furthermore in addition
last but not least next

not only... but also too

CAUSE-EFFECT Then therefore as a result for this reason
thus accordingly as a consequence
consequently hence
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COMPARISION

Also Like too As well as Both... and
compared to in the same way likewise
neither... nor by comparison in common
with similarly in like manner

CONTRAST

however instead nevertheless on the other
hand conversely in contrast to in opposition
to on the contrary otherwise still whereas

TIME

after a while after that afterward at the
same time concurrently previously also at
last currently earlier eventually finally
first, second,

etc.in the future in the past last next now
formerly immediately

in the meantime later simultaneously
subsequently

EXAMPLE

for example for instance in other words as
an example
as an illustration to exemplify

SUMMARY-CONCLUSION

Finally therefore after all all in all at last
briefly consequently last

on the whole thus accordingly as a
consequence in brief in closing

in conclusion in short in sum in summary to
conclude to summarize

CymecTByloT W JApyrue Kiaccupukauud (QyHKIMHA TUCKYPCHUBHBIX
MapkepoB, Hanpumep, JI. Jlx. bpunton (1990) [16]:

- to initiate discourse,

- to mark a boundary in discourse (shift/partial shift in topic),

- to preface a response or a reaction,

- to serve as a filler or delaying tactic,

- to aid the speaker in holding the floor,

- to effect an interaction or sharing between speaker and hearer,

- to bracket the discourse either cataphorically or anaphorically,

- to mark either foregrounded or backgrounded information."
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C. Mromtep B pabote “Discourse Markers in Native and Non-Native
English Discourse” aHanu3mupyeT poib AUCKYPCHBHBIX MapKepoB B YCTHOM
peUH, BBILACISIS CICIYIOMINE POIIH:

1) Numbering and Ordering Points: first, second, third, fourth, fifth, firstly,
secondly, thirdly, fourthly, fifthly, first of all, in the first place, then, next,
afterwards, finally, last, lastly, last of all.

We use these discourse markers to number and order the points that we want
to make in a text. They help us to understand the order of the information.

2) Adding something: also, moreover, furthermore, further, in addition,
additionally, also, too, what is more, besides, alternatively, instead, on top of
this/that.

We use these discourse markers to indicate that we are adding more
information.

* ‘besides’ usually introduces information which supports what has already
been said or written but is a different kind of point. We often use ‘besides’
when we are persuading, giving advice or arguing.

** We use ‘alternatively’ or ‘instead’ to mark that something is a different
possibility i.e. an alternative.

3) Linking Similar Things Together: similarly’ and ‘likewise’.

We use ‘similarly’ and ‘likewise’ to show that something is similar to
something else that has already been mentioned.

4) Introducing Contrasting Information: however, in fact, on the other hand,
in contrast, actually, nevertheless, still, on the contrary, though, as a matter
of fact, all the same, yet, nonetheless, anyway, at the same time.

We use discourse markers to introduce information or points of view which
contrast with what we have already said or written or what we would
normally expect. We use them to draw attention to (apparent) inconsistency.

5) Giving Causes and Results: so, then, therefore, hence, thus, consequently,
in that case, as a result.

We can use the following discourse markers to show that something is
caused by, or results from, something else.

6) Generalising: on the whole, in general, generally, by and large.

We use the following discourse markers to make it clear that something is
generally true and to point out that we are not being specific.

13



7) Giving Examples: notably for example or instance e.g. say such as
We can use the following discourse markers to introduce examples.
8) Re-stating/Saying again: in other words that is i.e. in a sense “I mean”.

We sometimes re-state, or re-write things to make them clearer. We use the
following discourse markers to show that the information is not new. These
phrases mean ‘I’m going to give the same information again in a different
way to help you understand what [ mean’.

9) Preparing for Bad News: “I’m afraid”, “I’'m sorry but”, “sorry”, “I’'m
sorry to say/tell you”, unfortunately, regrettably.

We can use these discourse markers to alert people that we are going to say
something that they may not like.

10) Introducing Strong Points of View (perhaps when you are angry!):
frankly, quite frankly, honestly.

We sometimes use these discourse markers to reinforce what we want to say.

11) Finishing and Concluding: in summary, to summarise, in conclusion, to
conclude, to sum up, finally.

We can use a variety of discourse markers to close a discussion, thesis, letter
or article [17].

P. TapnukoB mpemiaraer CIeAyIONIyI0 KIacCU(PHUKALMIO IS
HICEMEHHOH (opMs! muckypcea [18]:

1. When what you have presented leads up to, or supports, or makes a case
for what you are about to say:

Therefore

Thus

Hence

Consequently

We can see from the previous that

Because of the previous [sentence, paragraph, line of reasoning, three
points,....] we can see that [or, it is rational to believe that, or it is reasonable
to hold that]...

In light of this we can see that
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2. When you have given your conclusion first and want to then give your
evidence, support, justification for it:

The evidence for ... is

The reason(s) for ... is (are)

One can see this because

This can be seen because

This is supported by

3. To do these sorts of things in one sentence, you can use words such as:
Since [x is true], [y is true]

Since [X], ¥y ...

Because (of) X, y ...

Given that x, y ...

Factoring in that x, y...

Taking into account X, we can see that y...
As a consequence of x, y....

It follows from x, y

We can see from x, y

4. When you are going to "contradict" what has been said before [or
contradict what you are about to say]:

However,

But

Nevertheless

In spite of this [or, in spite of the fact that ...,]
Despite [the fact that ..., ]

Unfortunately that does not....
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Paradoxically

Contradicting that is

While it may seem that....

On the other hand

The apparent implication is that ... , but

While it may be that...,

The previous does not imply/demonstrate/show

We cannot reasonably deduce/infer/assume from this that...
Although x,y ....

While it is the case that..., still....

While it is the case that..., it is not the case that (or it is not true that, or it is
not to be inferred that, or it does not imply that....)

5. To link together similar things (whether ideas or reasons):
You can just number them

The following n things: [and then number them, or not number them --
whichever seems more appropriate]

Similarly

In the same vein
Along with
Accompanying that
Also

And

Additionally

In addition

Then too
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Besides

Moreover

Further

Furthermore

6. To say that something is true in "both directions"
Conversely

The converse(1) is also true

And vice versa

7. To say it is true in only one direction:
The converse is not true.

This only goes in one direction.

This is only true in this direction.

8. To explain something further:

For example

Examples of this are

To clarify, ...

To say this in another way,

In line with that, ...

9. To change topics:

Moving on to a different point
Considering something totally different now,
Let me digress for a moment...
Returning from the digression....
Returning to the above point about ....

Related to ....
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Common Discourse Markers in Speech [19]:

As I was saying... (to bring the conversation back to a former point)
Anyway... (to move on to another point or to close a conversation)
Here’s the thing/The thing is... (to raise an important issue)

I’'m glad you brought that up because... (to add onto a point just raised)
At the end of the day... (to conclude an argument)

Common Discourse Markers in Writing [19]:

On the other hand... (to move to an opposing viewpoint)

In the case of... (to introduce an example)

In addition to... (to raise a new point or example)

From another perspective... (to introduce an opposing or different
viewpoint)

In the final analysis.... (to conclude)
Discourse Markers and other expressions [20]:
Grab attention, hesitate, interject, affirm and more

In conversation, we often begin a sentence with a word that has nothing to do
with the main idea of the sentence. The word relates more to the social
conventions of speaking out in a group: claiming next turn, drawing
attention to what one is about to say, or hesitating to collect one's thoughts
before continuing.

GRABBING ATTENTION "MY TURN TO SPEAK"

So!  What you are saying is that we have to have everything ready by then.
(Listen. / Pay attention.)

So... what you are saying is that we have to have everything ready by then.
(Listen. / Ready to speak.)

HESITATING" LET ME THINK"

So... what needs to be done before that time? (um...)
Well...let's think this over first.

INTERJECTING "LISTEN TO THIS!"
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OK! Let's do it! (support)
Wow! So soon? (surprise)
Well! good luck. (surprise, wishing well when faced with a challenge)

Whoa! Have you thought that out carefully? (dismay — slow down,
unexpected)

AFFIRMING

Yes! We can do that.

Got it! We'll be ready.

No! That is not possible.

CONCEDING

As you wish. We'll try to get it launched.
I hear you. We'll do what we can.
NEGATING / DENYING / EXCEPTING
No! It's impossible.

Unlikely! It's not possible.

Hah! It could be done next Thursday at best. (informal, possibly rude)
OTHER EXPRESSIONS

In other cases, we transition to a new sentence with a word or phrase that
expresses opinion, or attitude regarding the information in the sentence. The
examples below primarily occur in conversation, but may also occur in
written transcripts or dialogue. Many are informal (inf.). Punctuation and
dialectal usage may vary.

INFERRING "SINCE THAT IS TRUE"

So you are saying we have to have everything ready by Wednesday
midnight.

Then we have to have everything ready by Wednesday midnight.
SUMMING "IN SUMMARY"

So we need to get the testing, advertising and database done. (inf.)
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Okay, then you want all the details settled by Wednesday midnight. (inf.)
INTERRUPTING

Don't forget, we also have to... Inserting a another thought...

Excuse me, but we also have to...

Pardon me, I'd just like to say that...

So, I'd just like to say that...

What about marketing? Shouldn't we...

AFFIRMING / ADDING

Excellent! We'd better get moving. get moving — take action, act

Of course! We'd better get moving. "Yes, we already expected this."
All right. We'd better get moving. "I agree, I understand."

Also, we need to optimize the site's speed. "And..."

Let me add, we also have to... "Adding to that thought..."

No problem. It will be difficult, but we'll try. "It's difficult, but I agree to..."
CONCEDING /ACCEPTING RELUCTANTLY

Admittedly, he thinks it's better to be ready before the weekend. "I concede
this point."

Believe it or not, it's a good idea. "I unexpectedly accept this. "
I guess you're right. We'd better get moving.

It's true that we need to launch , but we also need to have everything in
place. in place — ready

So, I guess we'd better get moving. (inf.) "And so, "

Anyhow, I guess we'd better get moving. (inf.) "And so,"

OK, I'll do the database, but you have get the advertising in place.

OK. So that's that. (inf.) "I give up. I understand that it is already decided."
Well, let's get moving. "I'm concerned, but I agree to... (depends on

intonation)

20



NEGATING / DENYING / EXCEPTING

Wait! So what YOU'RE saying is that WE have to have everything ready by
then? (inf.) "I disagree."

Really? /Forreal? (inf.) "I am doubtful"

O...K... How are we supposed to have everything ready by then? (inf.) "I
am doubtful / disagree."

Like how are we supposed to do that? (very informal — youth expression)

Whatever (very informal or impolite) — used after a series of contrary
statements to which there is no possible agreement (WEV in text
messaging).

LINKING WORDS AND TEXT ORGANIZERS

1. Underline the most suitable word or phrase in each sentence.

1. Many people feel nervous about flying, and worry about the possibility of
an accident. Furthermore / However, according to statistics, flying is actually
safer than walking down the street.

2. Our local supermarket no longer opens every day, as / on account of very
few people live in our village.

3. There are a number of objections to the planned motorway. 4s well as this
/ First of all, the new road will destroy valuable farming land. In contrast / In
addition to this, it will bring thousands of vehicles and tourists. 4As a result /
For example, our peaceful way of life will be destroyed forever.

4. We conducted a survey of accommodation in the town, and came up with
some interesting results. The hotels we saw were rather expensive, and
consequently / moreover the actual facilities on offer were not always
impressive. Besides this /In contrast, there were many guest houses, offering
just bed and breakfast, which were not only good value but also had much
better rooms than the hotels did. Finally / Personally, 1 would recommend
The Oaks, a particularly impressive guest house in Long Harbour Road.

5. Owing to / Since the increased demand for parking spaces, the company
has decided to enlarge the car park. Consequently / Nevertheless the exit road
on the west side of the car park will be closed from Monday to allow
building work to begin [21].
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2. Put one suitable word in each space.

| D conclusion, I would like to thank you all for your help.

2. it’s too late to finish the work today, we’ll come back tomorrow.
3. The flight was delayed.................. a result of the high winds.

4. This radio is expensive, but................. the other hand it has very good
reception.

5. First............. all, I would like to welcome you to our annual dinner.
6. John is a hard worker. As................ as this, he is completely reliable.

7. Science has not entirely changed the way we think................. instance, we
still speak of the ‘sunrise’ although we know it is the Earth that is moving.

8. Although this building project seems attractive, in my............. it would be
a mistake to spend so much money on it [21].

3. Decide which answer (A, B, C or D) best fits each space.
Owning a car

Owning a car has several advantages. (1) ........ you can go wherever you
want, whenever you want. You don’t have to depend on public transport and
() R you feel more independent. (3)........ you. are able to give lifts
to friends, or carry heavy loads of shopping. (4)............... , there can be
problems, especially if you live in a city. Running a car can be expensive,
and you have to spend money on items (5)........ petrol, servicing the car, and
repairs. You might also have problems with parking, as everywhere is
becoming more and more crowded with cars. (6)........ , most people feel that
the advantages of owning a car outweigh the disadvantages.
() IO most young people of my age start driving as soon as they can.
(&) , | think that cars nowadays have become essential, but I also feel
that they cause a lot of problems, (9)............... they are noisy and dirty.
10).cciiiinne , the large numbers of cars on the road means that most
towns and cities are organized for the convenience of cars, and the needs of
pedestrians are ignored.

1. A First of all B As a result C Personally D Besides this
2. A however B personally C since D as a result
3. A In contrast B In my view C Besides this D However

4. A On the other hand B To sum up C Thus D For example
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5. A as B such as C owing to D then

6. A Finally B Secondly C However D As

7. A For B Next C As well as this D Consequently

8. A For example B Personally C Nevertheless D However

9. A for example B however C thus D since

10. A As a result B Moreover C Personally D For example [21].

4. Complete the following sentences using an appropriate discourse
marker.

Lo nurses are overworked and underpaid.

a) In particular

b) Broadly speaking

¢) For instance

d) Except for

2.1 don’t believe in ghosts. ............ccoeuennnnee I haven’t seen one yet.
a) I think

b) At least

¢) In other words

d) That is to say

3. I think he should be acquitted. ........................ he is too young to
know the difference between right and wrong.

a) After all
b) Well

c) Honestly
d) I suppose

4. The man was sleeping soundly on the river bank. ........................ a
crocodile was creeping closer.

a) Despite this

23



b) As a result

¢) Meanwhile

d) By contrast

5. The child didn’t get any medical attention. —— -, she died soon after.
a) Despite this

b) As a result

¢) In this case

d) In spite of this

6. He has been warned before. ................ , he shouldn’t have repeated this.
a) in this case

b) instead

¢) despite this [22].

5. Choose a discourse marker and complete the sentences:

moreover besides firstly actually though whereas then on the other hand
at least however

1. I had a terrible day at work and lost my umbrella too. ....... I spoke to that
nice guy who works in the coffee shop at last!

2. Television turns people into lazy couch potatoes. .......... there are some
educational programmes on.

3 I would like to welcome you all to the conference today.

4. i the film was a little boring, we still had a nice evening out.

5. I've always known Caroline as a mean person. .......... , she lent me $10

yesterday without me having to ask twice!

6. 1 got up at 9 o'clock yesterday and had a cold shower. ........ I had
breakfast and left for work.

7. My brother works in a large office .......... I work on my own at home.




8. Why do you think I don't want to go out tonight. , I would be delighted to
get out of the house.

9. You should go to university as it gives you a chance to meet so many new
people. ...... , it gives you the chance to get important qualifications and
get a better job.

10. I don't want to go to the football game. Football bores me and I don't
want to pay $40 for a ticket.

............. , look at the weather! All that rain! [23].
6. Add discourse markers to complete conversations.
1. Hello. I'd like a basket of food delivered to my house.
Hello.  is that for today?
ADD A TRANSITION: Inference
2. Yes, today.
__. What would you like in the basket?
ADD A TRANSITION: affirmation
3. _an assortment of cheese, crackers, fresh fruit and some little pickles.
ADD A TRANSITION: hesitation
4.  do you mean dill pickles or French-style cornichons?
ADD A TRANSITION: inference
5. I mean dill pickles. My wife is expecting, and she loves little pickles.
___best wishes to you both.
ADD A TRANSITION: surprise
6. what time do you want this delivered?
ADD A TRANSITION: summation
7. immediately if possible.
ADD A TRANSITION: hesitation
8. it will be difficult, but we'll try.
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ADD A TRANSITION concession

9. _ what's your address?

ADD A TRANSITION: summation or addition

10. _ it's 155 South 2nd Street, apartment 2.

ADD A TRANSITION: hesitation

11. . We'll get your basket of food to you and your wife as soon as we can.
ADD A TRANSITION: affirmation

12.  !Thanks alot. You are good! (providing good service)

ADD A TRANSITION: surprise [24].

7. Rewrite the sentences using the connectors in parenthesis. Make the
necessary changes:

1. Isabel apologized several times. Paul wouldn’t speak to her. (but)
2. We decided to walk even though it was raining. (in spite of)

3. Roger works very hard to help his parents. He’s also a good student. (In
addition)

4. Ilove Ice cream. In addition, I love chocolate. (as well as)
5. I’d love to come. I really haven’t got the time. (However)

6. Rome is a great place to visit, but it has got terrible traffic problems.
(despite)

7. Miguel was very busy yesterday. He helped me. (Even though)

8. Sinem exercises vigorously. She can’t lose weight. (However)

9. Visitors are not allowed to park here. It is a private parking area. (since)
10. Jack can’t lift the box. He is very strong. (But)

11. Joanne booked a babysitter because she wanted to go out for the
evening.(in order to)

12. Brenda does a lot of exercise. She is fit. (therefore)

13. Mark heard the news on the radio. He was driving home. (while)
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14. Despite its popularity, the group hasn’t reached any gold record yet. (In
spite of)

15. John bought a couple of exercise-books. He wanted to catch up with the
rest of the class. (so as to)

16. My brother doesn’t earn a good wage. My sister-in-law doesn’t earn a
good wage. (neither...nor)

17. The accident was very serious but nobody was badly injured. (Even
though) [25].

8. Fill in the gaps:

1. I getup late at weekends, during cold weather.
e including
e particularly
o similarly

2. She rarely drinks, , not during the week.
e particularly
¢ in other words
e or at any rate

3. The study also mentions two other cities that are comparable to Hong
Kong, Singapore and Shanghai.

e namely

e in other words

e to be accurate

4. Her manner was rather offhand, rude.
e at least
e particularly
e not to say
5. The tomato is not, , a vegetable even though it is commonly

thought of as one — it is a fruit.
e by contrast
e strictly speaking

o likewise
6. Many cities, Hong Kong , have extensive underground
railway systems for commuters.

e not to say

¢ including
o for example

27



7. Prices at the mall were exorbitant, , considerably higher
than at other shopping centres in the city.

e or at least

¢ in other words

e not to say

8. A number of countries, the USA and the UK, have banned
smoking in restaurants and pubs.

¢ including

e namely

® viz.

9. Everyone knows that cigarettes cause disease. Why, , do so many
people still smoke?

o for example

® so

e then

10. He needs to go on a diet, , cut down on sweets and cakes.
o that is to say
e or at any rate

o likewise
11. Her report highlighted what we all know, that there have been
serious problems with distribution.

® viz

o for example
e in particular

12. Many think English is the world's most commonly spoken language
although , this is not true as Chinese and Spanish both have
more native speakers.

o at least

¢ in other words

o strictly speaking

13. The project would not have been possible without the help of local staff,
David Evans, Jackie Robbins and Mike Smith.
o that is to say
e namely
o for instance

14. This chapter focuses on three elements that are essential for a successful
product, good design, quality materials and effective marketing.

e namely

o for example
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e in addition

15. The Thai language has five tones. Cantonese, , uses
tone to convey meaning.

e by contrast

o for example

o similarly [26].

9. a) Read the text

Why do students who are in their first year of college gain on average five
pounds? Recent studies have followed freshman students through their first
year in college. In these studies, health professionals measured students' food
intake, analyzed their diet, and tracked their physical activity.

A number of things seem to affect student weight gain such as — college
meal plans, buffet-style dining, unbalanced food choices, irregular eating
habits, increased alcohol consumption, stress, and less exercise. Health
professionals are doing their best to educate students to make better choices
and to start healthful habits.

b) Select the connector that best completes the sentence.

| P students were gaining weight in their first year of college,
health professionals decided to study the problem of the "Freshman Five",
also called the "Freshman Fifteen"!

2. First, they saw that students had easy access to food ............ college
meal plans.

3. The cafeterias usually offer buffet style food with a wide variety of food,
including junk food. ........... students may make less healthful choices.

4. . students are used to eating balanced meals prepared by their
parents, they don't know how to balance meals by themselves when they go
away to college.

5. An irregular schedule will often cause a student to skip a meal. Then, the
student will binge ........... to satisfy his or her hunger.

6. Increased alcohol consumption is another problem. .......... there are a lot
of calories in a small drink, students don't realize how many calories they are
drinking.

7. Often students feel ........... they eat a lot of snack food.
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8. Finally, ......... students get less exercise, they don't burn enough
calories.

9. Students eat more and exercise less during their first year in college
............ they gain an average of 3.5 — 4 pounds (1.6 — 1.8 k) of weight.

10. Health professionals at colleges and universities are helping to educate
incoming students........ they will avoid the "freshman five " [26].

10. Select your response—correct or incorrect. Explain your response.

1. For one month, February to March 2004, Morgan decided to eat a
junk-food diet in order he find out what it would do to his body and mind.

2. Morgan ate three meals and 5,000 calories per day at McD's
restaurant, so he could find out the effects.

3. Morgan resulted by gaining twenty-four pounds.
4. The affect on his mental state was moodiness and irritability.
5. His liver was unhealthy due to collecting fat.

6. In fact, Morgan gained so much weight that it took him fourteen
months for lose the weight and get back to normal.

7. Later, Morgan made a documentary movie called, Super Size Me,
because he showed the truth about junk food.

8. The reason for his movie was the increasing rise in obesity in the U.S.,
so he made the movie.
obesity (N) — people who are very much overweight

9. Due to the increasing problem of obesity in the U.S, the government
began to require fast food restaurants to use healthier ingredients (food) in
their menus.

10. As a consequence, Morgan's experiment, people now have healthier
choices on menus of fast-food restaurants [25].

11. Read for Errors

McD's toys

McDonald's announced that it will discontinue including toys in its Happy
Meals because it wants to focus on its food and not its toys. Because
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multiple law suits, McDonald's came to this conclusion. Happy Meals were
making parents unhappy on account of they are high in fat, calories, salt and
sugar. As a result, kids were more attracted to the toys than the food. A
group called "Corporate Accountability" also wants McDonald's to retire its
clown due to it is directed at getting children to bring their parents into the
restaurant and not vice versa.

The group was complaining as a result of McDonald's use of clowns and
toys to sell unhealthful food to impressionable children. McDonald's
responded saying that its marketing practices are responsible, and that its
food is high quality. This is a big issue for lower-income and communities of
color for the reason of they "often have limited access to grocery stores and
increased access to fast food stores," says the group's spokesperson
(speaker). For now, everyone is happy since parents can focus on helping
their children make healthful food choices, and because McDonald's can
focus on their food rather than law suits [25].

12. Read the text. Add a connector to the sentences.

Vaka Canoe of Ancestors

Six "vaka moana" canoes arrived in San Francisco this morning time-related
connector sailing across the Pacific from New Zealand to the Hawaiian
Islands and to mainland U.S. contrary cause-effect connector the 15,00 mile
ocean journey, the canoes arrived safely.

They are participating in the voyage "Te Mana o Te Moana" which translates
to "The Spirit of the Sea". This voyage was made reason connector they
wanted to raise awareness about the state of the ocean and to share the
wisdom of the Polynesian ancestors who loved and respected the sea. "We
are all in one canoe," they said.

The canoes, each about 70 feet long, carry a crew of 16 sailors from paired
addition connector Tonga the Cook Islands, Kiribati and Vanuatu.
More than 150 crew members are participating in the voyage, which began
in April in Auckland, New Zealand.

Contrary cause-effect connector the canoes were built as the traditional vaka
moana canoes used by the Pacific Islander ancestors, these have some
modern changes. Contrast connector the hulls (canoe bottoms) used to be
made of wood, these are made of fiberglass. Additional conclusive fact, they
have solar panels to power equipment on board.
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Contrast connector the ancient Polynesians navigated by the stars, these
modern sailors have Internet, Facebook and Twitter as well. They even have
a website where you can track their progress.

The six-canoe flotilla came in through the Golden Gate a week ago and were
surprised reason phrase the strong winds and fog in the bay. Fortunately,
the fog lifted and the winds calmed down purpose subordinator the sailors
could hold an open house and give rides to visitors.

"The Pacific is our home, our breath, our future. We can only survive
conditional connector we come together as cultures, as crew-mates, to
preserve the health of our ocean planet — Our Blue Canoe."

The flotilla will continue to Monterey, Los Angeles, and San Diego. In
January of 2012, the journey will continue to the Galapagos Islands,
Marquesas paired addition Tahiti .

Vaka Moana canoe — a traditional (old-style) Polynesian boat [26].

13. Add connective (linking, conjunctive) adverbs.

Organic food is one of the fastest-growing categories in the food industry,
despite the fact that it can cost more than double the price of conventional
foods. 1) is it worth spending more when it comes to buying organic? And
what does "organic" really mean? 2) is the "organic" label what we think it
is.

1- connects a contrast; 2- connects an additional fact to support an
argument.

Most consumers bought some type of organic food or beverage last year.
And they probably spent a lot more for it— about 50 percent to 100 percent
more. The U.S. Department of Agriculture found that certain fruits and
vegetables, 3) apples, berries, grapes, spinach, and potatoes, contain high
levels of pesticide residue even after you wash them. 4) bananas, mangoes,
or corn do not. 5) some organic food is worth buying, while other food is
not.

3- connects an example; 4- connects a second element to contrast; 5-
summarizes

An item labeled "organic" must meet several requirements. 6) animals have
not been treated with antibiotics, growth hormones, or feed made from
animal by-products. 7) animals must have been fed organic feed for at least a
year. 8)  animals must have access to the outdoors. 9) food hasn't been
genetically modified or irradiated. 10)  fertilizer does not contain sewage
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sludge or synthetic ingredients. 11) the produce hasn't been contaminated
with synthetic chemicals used as pesticides [26].

14. Complete the paragraph with connectors (connectives): still, on the
contrary, as a result of , because of, due to, the main reason; why,
consequently, so, still, even so, as a result, as a consequence, cause,
whereas, but, due to the fact that, since, for this reason, if not, or else, an
additional reason, in fact, consequently, a great deal of, a lot of, that, as a
result of these causes

I. Two 12-year-old girls are standing outside a mini-mart. They are wearing
matching tube tops and short skirts like Britney Spears clones. One holds a
cigarette, like an adult, where everyone can see her. She looks around to
make sure other girls are noticing her. When asked why she dresses the way
she does, she says that she likes it. 1) it seems that the reason for her
behavior is more complex. More specifically, it has more to do with her
ambiguous role as a pee-teen in society. A young girl's wanna-be look is 2)
personal insecurity and peer pressure.

wanna-be (slang n.) — dressing and acting like a famous person, a pop idol:
"want-to-be"; plural wanna-bes

II. 3) for mimicking teen-idols is personal insecurity. Pre-teens are in
between child and adult stages. They are no longer children, 4) the ways
they behaved in the past are no longer appropriate. 5) they are not yet adults;
6) they do not know the ways of the adult world. This conflict can 7)
feelings of insecurity. 8) when they were younger, they could whine and cry
to get attention from their parents and other children. 9) that kind of
behavior would be "uncool" around their teenage peers. Often 10), the
preteen does not know how to act his or her age. 11) preteens do no know
what to do, they often turn to copy-cat behavior as a way to fit in and be
more secure.

II1. A second cause is that preteens feel they need to be popular 12) be more
secure within their own age group. 13), they turn toward models of
popularity — teen idols — and start dressing like them. Unfortunately,
many of their idols dress and behave in ways that are not age-appropriate.
Teens need better role models than Hollywood currently has to offer.
14) they interpret "dressing up" as wearing provocative, sexy clothing, rather
than clothing that makes them look good and feel comfortable and secure.
15) of their need to be popular, young girls start dressing and acting as if
they were much older than they really are.
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IV. 16) for young girls mimicking teen idols is peer pressure. They often see
the adults closest to them, their parents and teachers, as "uncool", 17) as
enemies. 18) they turn to peers who pressure each other to look, act, and
dress exactly alike. This peer group can exert 19) pressure 20) often
preteens do things as a group that they would not normally do. One of these
things is spending ridiculous amounts of money on idol clothing-lines.
That's right! Young Hollywood celebrities are making money off their
twelve-year old "peers" who give in to peer pressure. The peer pressure here
is 21) great 22) most normal girls will succumb. 23) we can see that
personal insecurity, desire to be popular and peer pressure can cause a young
girl to look like a little "tart" standing outside of a mini-mart [26].

15. Read the essay and, for each blank, decide which two of the three
given answers are right and which wrong.

“Who learns faster — children or adults?”

Small children seem to learn very quickly, (1) adults
sometimes appear to lose the ability to pick up new subjects such as
languages, music, games, or computer programs. In this essay, I will discuss
(2) children or adults make the best learners. It is
(3) that children seem to learn very quickly. In just a few
years, they can learn how to play a musical instrument, speak one or even
two new languages, and deal with many subjects at school. They
(4) have time for sports and hobbies, and become experts
in their favorite pastimes. (5), how much of this is social
pressure and how much is genetic? I am convinced that while children's
brains have a natural ability to absorb new information as part of their
developmental growth, much of their achievement is because of social
pressure. Schools force them to take many subjects.

Parents force them to practice new sports or to learn music. Even their
playmates force them to become better at computer games or to read Harry
Potter novels faster. (6), children may enjoy learning, but
their environment also is a big motivating factor.

Adults (7) are supposed to be poor learners.
(8), I disagree with people who say that adults cannot
learn quickly. Adults have many skills that compensate for the decline in the
ability of the brain to grasp and remember new material. They can organize
their learning by setting times for reading or practice. They can build on
skills and experiences they know already. Adults usually cannot learn to do
ballet or to play the violin, but (9) these physical
challenges, their motivation can often be higher than a child's.
(10), society does not encourage many adults to learn.
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People are busy with families and work, and some adults may feel that
further learning is pointless, (11) they have already
achieved many goals at work or in their personal life.
(12), I feel that we cannot generalize about children or adults being better
learners. It depends on the situation and the motivation of the person, and the
level of enthusiasm he or she has for learning.

1. while whereas since

2. if whereas whether

3. obvious undoubtedly true completely truth
4. even even though also

5. Despite nevertheless however

6. as regards in summary to sum up

7. on the contrary opposite on the other hand
8. however although nevertheless

9. even in spite of even though even despite
10. unfortunately unluckily unlikely

11. furthermore since due to the fact that

12. in summary to cut a long story short in conclusion [27].

16. Rewrite the following short sentences by linking the two sentences
with transition words.

The IT technician told us the computer was mended. It still did not work.
The evidence is not conclusive. The research must continue.

The mice who received the medication responded well. The mice in the
control group did not respond.

Most children can write their name by the age of seven. In one school, 98%
of seven—year-old children could write their name.
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HOMMWUHANU3ALUA / Nominalization

[lon HoOMHMHanM3anMedl JUHTBUCTHI TOHUMAIOT «OMpPEAMEYMBAHUE
JIEICTBUM M IPOLIECCOB, T. €. BbIPAXKEHHE HX MOCPEICTBOM OTIJIArOJbHBIX
CYLIECTBUTENBHBIX». [IprMepaMu TaKMX OTIJIAroJbHBIX CYIIECTBUTEIBHBIX
MOTYT  OBITB:  «BBIIOJIHEHHE»,  «OMYOIMKOBAaHHE»,  «IOBBIIMICHUEY,
TIOHIDKECHHEY, «3aKITIOUCHUCY, «IIOAMUCaHue» u T. 1. [1].

Homunanuzanuio HCMONB3YIOT KaK OJHO U3 JIEKCMKO-CEMaHTHUECKHUX
cpeAcTB ans obOe3nuuuBaHMsA JACHCTBHA. CEMaHTHYECKUM HTOTOM TaKOM
3aMeHbl JIMYHBIX (OPM TJarojoB NPOM3BOAHBIMH CYHIECTBUTEIHHBIMH
ABNISIETCS  MCUE3HOBEHHE CyOBEeKTa, HCIONHAIOIEro JeiictBue. 2ITo
0000mIeHHOe 0003Ha4YeHHE, CBOOOJHOE OT KOHKPETHOI'O COJep KaHusl.
Hanpumep, moxHO ckazaTh: «Bbl moiimete..» Wmm: «Bbl obperere
noHuManue» [2]. Bo Bropom ciydae Bbl UMEETE JEJI0 C HOMHHATU3aLUEH.
HomMuHanuzanust 3By9UT OCMBICICHHO, HO (DAKTHYECKH HHYETO HE 3HAYMT.
OpHako, eciad Bbl XOTHTE, YTOOBl YbE-TO MOJICO3HAHUE BBIIOIHUIIO TO WM
nHOE  JelicTBUe,  ucnoib3yre ee.  HomuHanmzaums  momoraer
BO3/ICIICTBOBATh Ha IOACO3HAHUE PELUNHNEHTa, 3aCTaBJisAs €ro HaroJHSITh
CKazaHHYI0 BaMH (pa3y CBOMM CMBICIOM, He TpeOys JOTOITHUTEIBHBIX
apryMeHToB U nosicienuii [4]. CpaBHute, HanpuMmep:

The establishment of a different approach on the part of the committee has
become a necessity. The committee must approach it differently.

Wtak, HomMuHanmu3auus (OT JaT. nominatio — (Ha)UMEHOBaHUE) —
TE€PMUH, UCIONB3YIOLIMKCSA B JBYX 3HA4YeHUAX: 1) O3HaYMBaHUE OOBEKTa
JIEHCTBUTENILHOCTH, T. €. BepOayiu3anus 00bekTa B JIt000i 3HaKoBOU (opme
— B (hopMe cIlOBa, CIOBOCOYETaHHMSA, MPEIIOKEHHS, TUCKYpCca MM TeKCTa
Kakoro yromgHo oObema. [J1aBHBIM  CYIIECTBEHHBIM  HPU3HAKOM
HOMUHAIU3AIMKA B 3TOM 3HAUEHHUHU SBISETCS MPEIUKAINS; 2) CBEpTHIBAHHE
(Tpanchopmans W CONpsDKEHHE) TEMAaTHYeCKOH U peMaTH4ecKoiu
MHPOPMALIMN peaTU30BaHHON YacTH TEKCTa U €€ MEepeBo] B HOMHUHATHBHOE
€IMHCTBO, BBIMONHSIOIIEE B MOCIEAYIOUIed YacTH TeKkcTa (B O4YepeHOM
OpeVIOKEHHH  TeKcTa) (QyHKOMIO TeMbl. Bo  BTOpOM  3HaueHHH
CYyIIECTBEHHBIM IIPU3HAKOM HOMMHALIUU SIBJIsIETCS KoMIpeccus [5].

. B. TloaysH TpakTyeT HOMHUHAJIN3ALNIO Kak [peBpallcHue
3aKOHYEHHOT'O WJIM YaCTUYHOTO BBICKA3bIBaHMS C TIJIArOJIOM B IIOHSATHE,
KOTOpoe B peud OyaeT urpaTh (YHKUHIO MOMJIEKAIIECTO MM JIONOIHEHUS.
OTO MOHATHE MOXET BKIIOYATh B ce0sl OTIIIarojbHOE CYILIECTBUTENBHOE HIIH
npuiarateibHoe + CYIIeCTBUTEIbHOE, WM MpHYacTue + CyLIeCTBUTENbHOE,
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WIA CYyIIECTBUTENbHOE + mpeanor. JlaHHBI IpueM  IO3BOJAET
MHOTOCIIO’)KHOE TIPEUIOKCHHUE WM BBICKAa3bIBAHHE CBECTH K IBYM-TPEM
cioBaM. B pabore mpuBemeHBHI TNpHMEpPHl HAa  «CBEPTHIBAHHE» U
«pa3BEPTHIBAHKME» HOMUHAIM3ALMH, KOTOPBIE TIOKA3BIBAIOT, HACKOJIBKO 3TOT
OpueM MOXeT OBITh BOCTpPeOOBaH KaK B NUCHMEHHOM, TaK U B YCTHOM

IepeBojle, TaK Kak OH JeJlaeT
«3KOHOMHYHBIM». Hanpumep,

B mupe npouszsooumcs uz6eimok Hegpmu

Habniooaemcs ouenv 6vicmpwiii pocm
Hacenenus

Habnwooaemces cnao oenosoti akmuenocmu
Hacenenue onacaemcs nacunus

Topooa be3zydepoicno pacmym

Jleucamens eviuten uz cmpost

Humepecwvr Anenuu u Apeenmunsi npuiiu
8 npomugopeyue

Ioumoswvie pabomuuku 06va6UIU
3a6acmosky

Hpome()mue nsamo nem ObliU OMMeYeHbl

ObICIPBIM POCIOM NPOMBIULIEHHO20
npouU3800Ccmed

L]envl Ha Heghmb HenpepbisHO pacmym

U 6 ycrosusx snepeemuuecko2o Kpuzuca
npupooHvle pecypcobl ObiCMpo
ucmowaomest

Kypc donnapa cmpemumenvho naoaem
L]envl na negpmo ysenuuunucs 6 4 paza

IIpasumenscmeo nonvimanocsy
ocywecmaums pegopmvl

Bpauu u nencuonepol gvlcmynaiom npomue
2moti mepwvi

IIpeonpunumamenu ypesanu 3apabommuyio
naamy paboqux
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Oil glut
Population spurt

Economic downturn/slump
Fears of violence

Urban sprawl

Engine failure
British-Argentine clash

Postal strike

Five years of steady
industrial growth

Althe steady rise in oil prices

Crisis-driven rapid depletion
of natural resources

The diving dollar
Quadrupling oil prices

Attempted reforms by the
government

Opposition from doctors and
retirees

Wage cuts



Y1006CTBO 3TOrO mMpHeMa B TOM, YTO MHOTOCIOXHOE BBICKa3bIBAHUEC
MOXET HE 00s3aTeNbHO OBITh OTACHBHBIM TMpeIokeHneM. OHO MOXKET
BXOJIUTh B COCTaB PACIPOCTPAHEHHOTO MPEIUIOKEHUS, U TOTAa MOA0OHBIE
«CBEPTHIBAHUA» TMPOCTO HEOOXOAUMBI. [lepeBOJYUKY TOJBKO OCTACTCs
HAYYUTHCS (IIPEOIOJICBATh MPUTDHKCHUE CIIOBa» U YXOIWTh OT OyKBaIM3Ma.
D70 JenaeTcs MyTeM BHUMATENHHOIO YTCHUS aHTJIOS3BIYHOW MEPUOAUKU U
HETIPEPHIBHON MEepeBOAYECKON MPAKTUKH. MeTOA0M NPOod 1 OMIMOOK B UTOTE
MOJTyYUTCS «aJI€KBaTHO U AKBUBAJICHTHO [6].

Paznuuaror crenyromme THIB HOMUHAIM3AUMWA: 1) HOMUHAIW3ALWA
[JIATOJIBHOTO ~ CKAa3yeMoro, 2) HOMHHAIM3AUUs  ONPEICTCHUs  IpU
MOJJICKAIEM, €CIIH OHO BBIPAXKECHO IMPHIATATEIFHBIM B CPAaBHUTEIHHOMN
CTCIICHH WM MPUYACTHEM, 3) BOCCTAHOBICHHE CYIICCTBHUTEIBHOTO MPU
OOJJICKAIEM WM JONONHEHWH, 4) HOMHHAIU3ANUs OOCTOATEIbCTBA.
[MpommtrocTpupyeM Kaxawlid ciydail npumepamu: 1) This course aims at
mastering translating skills. — Ienvto 3moeo xypca aeisemcsa osnadeHue
Hagvikamu nepesoda. Should the parties fail to reach an agreement a case
shall be submitted, without recourse to courts of law, to the Arbitration
Court. — B cnyuae, ecau cmopoHbl He NpUOym K CONAULEHUIO, MO 0e10
noonedcum, ¢ UCKIOYEHUeM ROOCYOHOCHU 0OwuM Cyoam, nepeoaue Ha
peuieHue apbumpagicHozo cyoa. 2) Better working conditions and higher
wages — yayuuwienue yciosutl mpyoa u nogviuienue sapniamol. 3) The talks
are still doubtful. — IIpoeedenue smux nepezo8opos 00 cux nop HAXO0OUMcs
noo eonpocom. All disputes and differences which may arise form the present
contract or in the connection with the same contract — Bce cnopul u
pasnoznacus, Komopvle MO2YM — BO3HUKHYMb 6 X00e  GblNOJHEHUs
Hacmoawezo Konumpaxma unu 6 c8A3u ¢ @bINOIHEHUEM HACMOAWE20
Koumpaxma. 4) To improve my knowledge of English I read books every
day. — /Ins yayuwenus 3Hanusi aHeIUUCKO2O S3bIKA 51 €XHCEOHEGHO HUMAIO
auenutickue xkuueu. The Seller and the Buyer will take all necessary measures
to settle amicably all disputes and differences which may arise out of or in
connection with the present Contract. — IIpoodasey u Iloxynamens npumym
6ce Mepbl K PA3peuienulo 8cex Cnopog U pasHo2acutl, KOmopbvle Mo2ym
603HUKHYMb U3 Hacmoawezo Komwmpaxma unu 6 céa3u ¢ HUM,
OpYIHCeCMEEHHbIM TYMEM.

POJIb HOMUHAJIM3AIINU B S3BIKE

Ponpr HOMHMHanmu3anuM B S3BIKE CBOJUTCS B OCHOBHOM K ABYM
MOMCHTaM:

1) HWMCHHBIC TIPOU3BOJAHBIC CJIOBOCOYCTAHHA SBJISIFOTCA CPEACTBOM
peam3anuu KOMIIpECCHUU B CHHTaKCHCE, qTO BCACT K
OKOHOMHUYHOMY IIOCTPOCHUIO IPEIJIOKCHUS, KOHCTPYKTHBHOﬁ
TUOKOCTH MNpEeIOKEHUA U 060F3.H.[6HI/IIO CHHOHHMHYCCKOT'O
NOTCHUHAJIa B CHHTAKCHUCC MPEIJIOKCHU .
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2) Homwunanmuzamusi sBISETCS CPEICTBOM OOOTAIlICHUs CJIOBaps.
Hpe)IMCTI)I n SABJICHHUA HCﬁCTBHTGJ’ILHOCTI/I B KOJIMYCCTBCHHOM
OTHOLICHHUHA 60.]'[])]]_[6, YeM JICKCUYCCKHUX CIOUHUI] B S3BIKC. JT10T
KOJMYECTBEHHBIH  pa3pblB, KOTOPHI  HENb3s  BOCIHOJHUTH
pasaciIbHbIMHA \OTI[GJILHLIMI/I\ HaAaMMCHOBAHUSIMH, BOCIIOJIHACTCA 3a
CYeT HOMHMHAJIM3AIMK — a sweet smile, a clever student [7].

HOMUHAJIM3ALVA ITPU TIEPEBO/IE
I"'pammaTiaeckue TpaHcopManuy mpy MepeBoe

I'pammarudeckue TpaHchopMaluMu —3aKIIOYAIOTCA B MPeoOpa3oBaHUU
CTPYKTYpbI MpPEJIOKEHUSI B COOTBETCTBUM C HOPMaMH si3blKa nepeBojia. B
3aBHCHMOCTH OT TOT'O, U3MEHSIETCS JIU CTPYKTYpa MPeIokKEHHs! TOTHOCTHIO
WIN YaCTHYHO, FpaMMaThdeckas TpaHchopMaiust MOKeT ObITh MOTHON MiIH
yacTU4YHOW. Ha mnpuMeHeHHWe rpaMMaTHYeCKHX TpaHCPOPMALUi MOTYT
OKa3aTh BIHSHHE ClEAyIOmue (aKTOpel: CHHTaKcH4eckas (QyHKIUS
IPEJIOKEHNS, €r0 JIEKCUYECKOE HAIlOJHEHUE, €r0 CMBICIOBas CTPYKTypa,
KOHTEKCT MPEIOKEHUs] U ero SKCHPECCHBHO-CTHIIMCTHYECKAA (DYHKLUS.
Cpenu rpamMMaTHUeCKuX TpaHchopMauuii HamOoJee YacThIMU SBISIOTCS:
JOCJIOBHBIN MEPEBOJI, WICHEHUE TPEATIOKECHUH, 00beIMHEHUE IPEATI0KESHUI
U TpaMMaTHUYECKHE 3aMeHBI. PaccMoTpuM Gosee moapoOHO rpaMMaTHIECKUe
3aMeHBl. ['paMMaTHUecKkue 3aMEHBI — MEepeBOUCeCKas TpaHCHOPMAIHS, IPU
KOTOPOIl TpaMMaTHYECKUe AWHUIIBI B OPUTHHAJIE Peodpa3yroTcs B APyrUe
€IMHUIIBl C MHBIMH TPaMMAaTHUYECKUMH 3HAYEHUSMH, YTO IMOApa3yMeBaeT
OTKa3 OT HUCHOJIB30BaHMs B MEPEBOJIE aHAJIOTHYHBIX TPaMMaTHYECKHX (HOpM.
3aMeHsl — Hauboliee pacIpOCTPaHEHHBII W  MHOTOOOpa3HBIH  BUJ
NMEepPeBOUYECKUX  TpaHchopMaiuii.  3aMeHe  MOXET  IMOJBEpraThCs
rpaMMaTudecKasi KaTeropus, YaCTh pPedH, YWICH NMPEATI0KEHUs, TPEUI0KEHNE
ompeneneHHoro tuma. PaccMoTpuMm monpoOHee 3aMeHy YacTH pedd. JTo
pacnpocTpaHEeHHBIN BUJA IpaMMaTHYECKOM 3aMeHBbI IpU nepeBoje. B aHrio-
pPYCCKMX IepeBoAax Haubojiee XapaKTepPHbl 3aMEHbl CYIIECTBUTEIHHOTO
[JIaTOJIOM U TPWIAraTelbHOTO CYHIECTBUTENbHBIM. TpaHcopmanus 1o
3aMEeHe yacTel pedn HOCUT Ha3BaHUE KOHBepcus [8].

JIMHTBUCTBI OTMEYalOT, YTO B AHIVIMHCKOM S3bIKE, KaK MpPaBUIIO,
npeoOiagaeT TIAroJbHBIA cnoco0 BBIPAKEHUS MHOTHX NPEAMKATUBHBIX
OTHOIIEHHUH, TOTJA KaK PYCCKHH S3BIK TIATOTEET K HMMEHHOMY CIIOCOOY.
[losToMy mpu mepeBole C PYCCKOrO Ha AHIJIMHUCKUN SI3BIK camoe
XapakTepHOe Mpeodpa3oBaHUE — 3TO KOHBEPCHs OTIJIATOJIBHOTO MMEHHU B
TJIaroJIbHY10 (OpMy — U, HA00OPOT, PH MEPEBOJIE C aHTIMICKOTO sA3bIKa Ha
pYCCKUii, TIaroapHble GOPMBI YacTo TPeOYIOT MIMEHHOTo npeodpa3oBanus. B
y4eOHHMKAaX IO  CTWIMCTUKE  AaHIVIMHCKOTO  f3bIKa TOBOPUTCS O
HEXKENAaTeJIbHOCTH WCIONb30BaHUs aOCTPaKTHBIX CYIIECTBUTEIBHBIX B
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kadecTBe cyObekrta. [Ipu mepeBoie Ha3BaHHBIX BHICKa3bIBAHHIA HEOOXOAMMO
CMEHUTh CYOBEKT, 3aMEHHMB OTIJIArOJBHOE CYIICCTBUTEIBHOE B TO3UIUH
MOJUICKANEr0 Ha KOHKPETHOE HWMS WJIM Ha Tiarol (MMEHHOW WM
OTTJIaroJIbHBINA MIPEeINKar).

Paccmotpum  dparmenT mokymeHTa moj Ha3BaHHeM «Ctpaterus
KOHTPAKTHOH JI€ATENBHOCTID TpoeKTa peKoHCTpyKiuu TOL] [9]:

Ilpozpamma npexpawjeHuss npousgOOCMEd OpPYIUCEUHO20 NIYMOHUA 8 2.
Aouepam paspabomana c yenvio yckopeHus pabom no NPeKpaujeHuIo
APOU3800CBA OPYAHCEUHO20 NIYMOHUS HA Meppumopuu Dguonuu.

[epeBoTYMKOM MPEIIOKEH CISTYIOIINI BapHAHT:

The Adigrat Plutonium Production Elimination Program was initiated to
accelerate the elimination of weapons-grade plutonium production in
Ethiopia.

C mnoMompl0 KOHBEPCHH, OTIJIAroJibHOE CYIIECTBUTEIHHOE YCKOpPEHUE
3aMeHseTcs Ha MHOUHHTUB o accelerate. Enie oJHa WILTFOCTpAIIUs:

Tocne 3asepuienusn pexoncmpyxkyuu u mooepHusayuu Aouepamckon TOL
npeononazaemcs 861600 U3 IKCNIyamayuu 08yx peakmopos AJ[D.

AHTTIMICKHUI TIEPEBO/] BBITIISIIUT CIIEIYIOMMM 00pa3oM:

After the Adigrat TETs is refurbished and upgraded the two ADE reactors
will be shut down.

B nepeBose OTIJIarOJIbHOE CYIIECTBUTEIHHOE 3aBepIICHIE
TpaHc(OPMHUPOBAHO B THAron is refurbished, cTosuUil B TaCCUBHOM 3aJI0Te,
a OTITAroJIbHOE CYIIECTBUTEIBHOE MOJEPHU3AIMSA TPAaHC(HOPMHUPOBAHO B
TJIarod is upgraded, CTOSIIIEE TAKXKE B IIACCHBE.

OtaensHO cienyeT OTMETUTh TaKOM THUIl KOHBEPCUH, KaK 3aMEHa MpeauKaTa
COCTOSTHUS TIPEAUKATOM JACHCTBUS:

He was late. — On onoszoan.

He became the ally of a boy named Andrew. — On nodpyscuics ¢ MarbyuKom
no umenu IHopio.

He is a very good tennis player. — On ouenv xopouwio uepaem 6 meHHuc.

I'pammaruueckue TpaHCPOpPMALMM 3aMEHBl HEPEAKO TpeOyroT
BHECEHHUS JIOTIOJHUTENbHBIX CJIOB WM, HA00OPOT, OMYLICHUS KaKUX-THOO
3eMeHTOB. VHBIMH CIIOBaMH, MEPEeBOIYMK KOMOMHHMPYET IpaMMaTHYECKue
3aMeHbl (Yalle BCEro 3aMeHy 4YacTh pe4yd) C MpUeMaMH OIyIEHHS
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(cokparteHus, KOMIIPECCUH, CTSDKEHHS) M pa3BEpThIBAHUS (PACIIMPEHHSA).
[Tpuembl onmymieHHsl M Pa3BepTHIBAHUS XapaKTEPHBI MPH MEPEBOJE KaK
OTJICNIFHBIX €IWHUII B TEKCTE Ha MOPQOIorndeckoM ypoBHe ((hopMm cioBa,
CIIOBOCOYETaHWH), TaK M Ha YPOBHE MPEUIOKEHUH (CHHTaKCHYECKHUMA
ypoBenb). [lpuem pacmmpenuss (pa3BepTHIBAaHMs) 3aKIIOYACTCS B
BBIHY)KJICHHOM YBEJIMYCHHUH YHWCJIa KOMIIOHEHTOB B CIIOBOCOYECTAHUH
MePEeBOSIIETO s3bIKa [8].

I[Ipuembl onyleHuss M Ppa3BepThIBaHUS Ha MOP(OJIOTHYECKOM H
CHHTAKCHYEeCKOM YPOBHSX

[Ipuem  pacmmpenus (pa3BepThbIBaHUs)  3aKIIOYAacTCi B
BBIHYKJCHHOM YBEJIMYEHHM 4YHCIa KOMIIOHEHTOB B CIIOBOCOYETAaHUH
HEPEeBOJAIIEIO sA3bIKa. PaccMOTpUM IpylIly CIOBOCOUYETAHUH, OJHUM U3
3JIEMEHTOB KOTOPBIX SIBISETCS MH(HHUTHB C CYy(QPHUKCOM — ize, TOBOJIBHO
NPOAYKTUBHBIM B aMEPHUKAaHCKOM BapuUaHTE aHTIWICKoro s3bika. [lpu
MepEeBOJIE UX Ha PYCCKUHM A3BIK MBI MCIIOJIb3YEM pacIIUpeHue: fo prioritize
activities — ycmanasiueams odepeoHocms pabom to televize interviews —
NOKA3bl8aMb NO MeNeBUOeHUI0 UHMePEbIo to sanitize buildings — ynyuwamo
canumapHvie ycaosus 6 30anusx. Tak, IpU MepeBoie aHTIUICKUX PPa30oBBIX
TJIaTOJIOB, B KOTOPHIX OCOOYIO pONb WUIparT rpamMMmaTthieckue (OpMbl,
NPEACTaBJISIOIINE COOOM HEeuTo cpelHee MeXAy HapeuueM U Mpeasiorom,
JIOBOJILHO YacTO MPUMEHSETCS ITpreM pacimupenns. Hanpumep:

Construction companies deceived the investor into heated debates about
installation cost.

Csoum obmarom cmpoumelbHble KOMNAHUU 6061€KIU UHBEeCnopa 6 JicapKue
CHopbl O CMOUMOCMU MOHMANCHbIX pa6om.

Emte oxna wmroctpanus:
Antony’s friends backed him up and he completed his job on time.

Ceoeil n000epockoll Opy3bst HOMO2IU DHMOHU BbINOIHUMbL pabomy 60
8pemsL.

Opazosbiii rnaron backed him up mepeBeneH ¢ MOMOILBIO OTIIATOIBHOTO
CYIIECTBUTENBHOTO MOANEPKKON U MECTOMMEHHEM CBOA.

[Ipuewm, MIPOTUBONOIOXKHBIN Pa3BEPTHIBAHHUIO, Ha3bIBACTCS
CTSI’KEHHEM, WM KOMIIpeccuel rpaMmaTiaeckoi ¢popmel [8].

IIpu mepeBoje C pPyCCKOro s3bIKa Ha aHMVIMHCKUHA TPYOHOCTH MOTYT
NPEACTaBIATh  CYyOCTaHTHBHBIE  CJIOBOCOYETaHHMA C  OJHOOOPa3HBIM
ynpasnenuem. Hanpumep:
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Llenvio Oannozo npoexma Aeusiemcs co30aHue YCi08ull 0N NOJTHO20
npexpawenus nPouU3Bo0CMEa OPYHCeHo20 NIYMOHUA HA 08X PeaKmopax,
PACROJIOJCEHHBIX 6 2. Aduepam.

JlocnoBHBIN INEepeBOA ATOM KOHCTPYKLUU BENET K €€ 3HAYUTEIbHOMY
YTSKEJIEHUIO:

The objective of the Project is the creation of conditions for complete
cessation of weapons-grade plutonium production at two reactors in the city
of Adigrat.

B momoOHBIX citydasix cieayeT NpOaHAIM3HPOBaTh CEMaHTHUYECKHE
OTHOIIICHUS MEXIy 3JIEMEHTAMH BBICKA3bIBAHUS M BBIWICHUTH B 3TOH
JUTMHHOM IIEMOYKe pa3IMYHble CUHTAKCHYECKHE THUIIBI CIOBOcodeTaHuil. B
JIAaHHOM  CHUTyallid Tpeajaraercs CICAyIOUIMi BapuaHT IEepeBOja
CyOCTaHTHBHBIX CIIOBOCOUYCTAHHIA:

The objective of the Project is to facilitate the complete cessation of
weapons-grade plutonium in the city of Adigrat.

I HOMMHCZJZI/BCZL;M}Z 2/1A20/IbHO20 CcKAa3yemoco

OcymiecTBiieHHE 3TOr0 NpeoOpa3oBaHHMA 3aBUCHUT OT Xapakrepa
riaroja W TIpaMMaTH4YeCKOW CTPYKTYpbl BbICKaszbiBaHUsS. IIpexkne Bcero
HEO0X0IMMO YOeIUThCs B TOM, YTO KOHTEKCT MO3BOJISIET IPOU3BECTH 3aMEHY
rJIarojia CyIIECTBHTENBbHBIM. BBIOOp Mociemyromeil cTpaTerud nepeBoja
omnpenenseTcs TeM, KaKOU 3TO Iaroj — NEPEeXOAHbIA WIN HENEPEXOIHBIN.

I'maron  mepexogHoro  BHMAa  mpeoOpasyeTcs B OTIJIArOJIBHOE
CYLIECTBUTENBHOE, KOTOPOE  CTAaHOBUTCA  IOJUIEXKALIUM  PYCCKOIO
BBICKA3bIBaHMs, a AHIVIMICKOE IOJJIEXKallee — B UMs IIPU OTIJIArOJIBHOM
CYIIECTBUTEIHHOM B (pyHKIMH CyOBeKkTa. [losICHIM CKa3aHHOE Ha IIpUMepe:

Such a policy may ruin the company.

TooobHas pearkyus modicem npusecmu K pazopeHuio KOMRAHUU.

If these documents were published, it would have caused a lot of noise.
Onyonuxosarue dsmux OOKYMeHmo8 8bi36410 Obl OONLULYVIO ULYMUX).

AHrIMACKOe CKazyeMoe, BBIPAKECHHOE T[JIArOJOM [ruin, I[EepPeBeACHO
CYIIECTBUTECIBHBIM pa3opeHue. Bo BTOpoM mpuMmepe CcKazyemMoe B
naccuBHOM 3ayiore were published mnpu nepeBoge mnpeoOpasyercs B
noJyiexaiee OmyOJMKOBaHHE, a aHrJuiickoe moanexamee documents
CTAHOBHUTCS OOIIOJTHCHUECM.
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E1ie ofHa WUTIOCTpALIKSI ATOTO EPEBOIYECKOTO MprUeMa;

The Rothschilds entered the scene of big business during the last years of
Napoleonic wars.

Hosenenue Pomwunvoos na cyerne bonvuwio2o OusHeca Co6nano ¢
sasepuarouium 3manom HanojleoOHO6CKUX BOLIH.

3nech aHramiickoe ckasyemoe entered mpeoOpasyeTcss B IMOJJIEKAICe
MosIBJIEHNE, a aHTIHicKoe moexaiiee the Rothschilds cranosurcs umenem
PormmnbeioB B GyHKIMU CyOBEKTa NMPH OTIIArojJbHOM CYIICCTBHTEIBHOM
nosienieHne. [lepeBoj BBICKa3bIBaHUM C TJArojioM MEPEeXOJHOTO BHIA
HANIOMHMHAET MEPEBOJI BBICKA3bIBaHUI ¢ (popManbHBIM moyIexkanym. U Tam
W 3JIeCh MOJJIeXKAIee OIyCKaeTCs. B aHaIM3MPyeMbIX MPEIJIOKESHUIX
rJ1aroji mpeoOpa3syercs B MOAJISKAIIEE, aHTJTUHCKOE TOTIOTHEHUE CTAHOBUTCS
MMEHEM TIpU OTIJIArOJIbHOM CYIIECTBUTEIBHOM B (PYHKIMH OOBEKTa, M
COXpaHseTCs MPSIMOU TIOPSIIOK CIIOB:

Their contribution is great and those who underestimate it make a bad
mistake.

Dmom 6Kkna0 6enuK, U HeOOOUEHKA €20 3HAYCHUS S6NAEMCs Cepbe3HOl
OuUOKOU.

[onmnexamee those omyckaercs, riaron underestimate B TO3ULUU
CKa3yeMoro Mpeodpa3yercst B MOJISKaIee “He00ICHKa”, a TOMOIHEeHUE it
3

CTAaHOBUTCS HWMEHeM “‘ero 3HaueHus B (QyHKOuH o0OBEKTa IpH
OTIJIATOJIBHOM CYILECTBUTENBHOM HEIOOLEHKA.

Paznune Mexay BBICKA3bIBaHUSAMH C (DOpPMANbHBIM TMOMJISKAIIAM U
aHAM3UPYEMBIMU BBICKA3bIBAHUSIMH TIPOSIBIISIETCS €IIe ¥ B TOM, YTO B HUX
aHTJIMHCKOE TOJUIekKAIIEe MHOTIA COXpaHsIeTcs, Mpeo0pa3ysach B OJUH W3
BTOPOCTEIICHHBIX YIECHOB TMPE/JIOKEHUS, Yalle BCEro B KOCBEHHOE WU
MPENIOKHOE TOTIOJTHEHHE:

The current session of the UN General Assembly has come out in favor of a
peace settlement in the Middle East.

O0obpenue npoyecca muproz2o ypezyauposanus na bnuocnem Bocmoxe
SAGAAEMCS 2NAGHOU YepmOoll OessmelbHOCmU HblHewHel ceccuu I enepanbrotl
Accambneit OOH.

Honnexawee current session of the UN General Assembly coxpansercs,
npeoOpas3ysich B KOCBEHHOE IOMOJHEHUE HuvlHewiHell ceccuu I enepanvHou
Accambreu OOH.
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['maron B aHTIIMHCKUX BBICKA3bIBAHUSAX MOXKET OBITH TECHO CBS3aH C
JOTIOJTHEHNEM, 00pa3ysi ¢ HUM €MHOE CMBICIOBOE IieToe. B Takux cirydasx
HOJISKAIM PYCCKOM (ppa3sl CTAHOBUTCS HE CaM IJIaroj, a HaxXoJsIieecs
MIPU HEM JIOTIOJTHEHUE:

France has always been concerned about her relations with Germany.

Jlna ©@panyuu e3aumoomuowenus ¢ Ilepmanueii gceeda Oviau 0cmpou
npoobremoi.

B mepeBeneHHOM NpeUIOKEHNH TOIEKAIINM CTAHOBUTCS CJIOBO relations
(B3aMMOOTHOIIICHNS), BHITOJIHSBIICE B AHIVIMICKOM (hpase poib IOMONHEHHS

[2].
II. Homunanuzayus onpedenenus

Ecnu B aHTIIMIICKOM SI3BIKE OMpEACIEHHUE IIPH TOIEKAIIEM BBIPAXKEHO
IpuaraTelbHbIM B CPaBHUTEJIBHOM CTENEHH, a Taroke npuuactueM I umm 11
(doing/ done) m o06oO3HAauaeT mepexo] B HOBOE KOJIMYECTBEHHOE WU
KAaueCTBEHHOE COCTOSIHAE CO 3HAUCHHEM YBEIWYEHHS WIN yMEHBIICHUS
o0beMa, pa3Mepa WIH CTENEHH, TO MpU IEPEBOAE HA PYCCKHI S3BIK OHO
(onpenenenue) cyOcTaHTUBUPYETCS, U Ha0OopoT. Hampumep,

better working conditions — ynyuwenue ycnosuti mpyoa;
higher wages — nosviuienue sapniamol;

shorter working hours — coxpawenue paboyezo Ous,
growing indignation — pocm He20008aHUsL;

longer term — npoonenue cpoxa,

postponed talks — nepenoc nepecosopos;

resumed talks — 60300H061eHUE NEPE208OPO8;

The stoppage which is in support of higher pay and shorter working hours,
began on Monday —3abacmosxa 6 noodepicky mpeboganuil 0 nOGbIUEHUU
3apabomHol nAAMbl U COKpaujeHuy paboue2o OHs HAYALACH 8 NOHEOeTbHUK.

IIpu nepeBoje Ha aHMIIMMCKUIM OTIVIArOJIBHOE CYIIECTBUTEIBHOE CTAHOBUTCS
n100 TpUIaraTelibHbIM B CPaBHHUTENBHOW CTENEHH, MO0 NeHCTBUTEIBHBIM
WM CTPaJlaTeNIbHBIM ITPUYACTHEM.

Kpome Toro, HeoOXOIUMO YYHUTHIBATh, YTO PYCCKUE aTpUOYyTHBHBIC
CJIOBOCOYCTAHUA, Kak I1paBHJIo, COOTBETCTBYIOT Cy6CTaHTI/IBHI>IM B
AHTJIMICKOM SI3BIKE — M HA00OPOT:
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obedennoe gpems — lunch time

CcMemHas CmouMocmy — cost estimate

npoexmuas ooxymenmayusi — design documentation

NIAH CIMPOUMETbHO-MOHMANCHBIX pabom — construction and installation plan
amuueckue Hopmul — code of ethics.

Annmiickue IpUJIaraTesbHbIE, 3aMeHsEMBbIE pycckumu
CYILECTBUTEIFHBIMH, YaCTO 00Pa30BaHBI OT reorpadMuecKuX Ha3BaHUI:

Australian prosperity was followed by a slump. — 3a npoysemanuem
Aecmpanuu nocrnedosan cnao [2].

IIl.  Boccmarognenue — cyuwjeCmeumenvHo20 Hpu  nooiexcawjem — uiu
OonoJHenuu

Cpean OTIIIAarojbHBIX CYIIECTBUTEIBHBIX PA3IMYaAIOTCS CJIOBA C
CaMOCTOATENIBHBIM CMBICIIOM THIIA YTE€HHUE, IIEHHE, TOBOPEHUE, PA3MBIILICHHE,
IIPOLIBETAHUE U CJIOBA, JIMLIICHHBIE  CAMOCTOSATEIBHOIO  CMBICIA
(meceMaHTU3UPOBAHHBIC), THIIA MPOBEICHHUE, peau3allys, OCYIIeCTBICHNUE,
OKa3aHWe, CO3[JaHuE U T. .

CnoBa BTOpPOro THUINIA HA AHIIMMCKUN S3bIK, Kak MpaBWIO, HE
MEPEeBOJATCS: B AHIVIMMCKOM BBICKA3bIBAHWM B KauyeCTBE MOJJIEKAIIETO
OOBIYHO BBICTYyMaeT He HMs JeicTBHsA, a ero oObekr. VHaue roBops,
AHTJIMICKUN ATH CIIOBa MOJApa3syMeBacT. B pycckoM e S3bIKE MPUCYTCTBUE
CYIIECTBUTENBHBIX JAHHOTO THUMA OOBSICHACTCS TEM, YTO OHH BBIOJIHSIOT
poib hopMabHOTO 3NIEMEHTa — YKa3bIBAIOT Ha HAJIMUME UM OTCYTCTBHE HA
JIAaHHBI MOMEHT TOTO WJIM MHOTO MPEMETa, COOBITUS HITH SBICHHUS [2].

Hampuwmep,
A treaty will promote closer cooperation.

3axniouenue/noonucanue co2naueHus b6yoem cnocobcmeosams
VKPEnAeHUio COmpyoOHu4ecnsd.

The referendum will be the first step on the way to reconciliation.

ITlposeodenue/cosvie pegependyma seumcs (cmamem) NEPEbIM UWALOM HA
nymu K APUMUPEHUI0 KOHGIUKMYIOWUX CMopoH. (30ect nomMumo npoyezo
ucnoav3yem npuem 000asneHus).

The talks are still doubtful.
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IIposederue smux nepe2o6opos 00 Cux Nop HAXOOUMCs HOO 80RPOCOM.
The humanitarian aid was stopped.
Okasanue eyMaHumapHoti noMowu ObLIO NPUOCMAHOBTIEHO.

B pycckom si3bike cpein KOHCTPYKLIMH ¢ UMEHEM MpPU OTTIIarojlbHOM
CyLIeCTBUTENFHOM B (YHKIMH OOBEKTa THUNA "YTEHHWE KHHUTH' HMEIOTCA
CIIOBOCOYETAHUS, B KOTOPBIX OTIJIArOJbHOE CYIIECTBUTEIBHOE SBIISETCS
MPOM3BOHBIM OT IJIAr0JOB, HE UMEIOIIUX KOHKPETHOTO CMbICTa 0e3 CBOMX
00bekTOB. B oTiamume 0T TpUBENEHHOrO B KadecTBE MpHMeEpa
CIIOBOCOYCTAHUs '"UYTEHHWE KHHUTH'", TJ€ HMCXOJIHBIA TJIaroj 4YMTaTh HUMEET
CaMOCTOSITENILHOE 3HAYCHUE U 0e3 Ha3BaHHOIo 00bekTa KHura (cp.: "UreHue
— OyTh K 3HaHWIO"), B HUX OTIJIATOJIBHOE  CYIIECTBUTEIHLHOE
CaMOCTOSITENIFHO ymoTpeOnaTecss He MoxkeT. OHO o0pasyer ¢ ApyruM
uMeHeM (hpa3eoIoTHIEeCKU CBA3aHHOE CIIOBOCOUETAHUE, KOHKPETHBIA CMBICI
KOTOPOTO 3aKI04YeH B 00bekTe. [IpumMepoM cirykaT CIIOBOCOYETAHUS, TUIA:
"okazanue momomnu", "omepkaHue mnoOeAbI", "HaHEeCEHHE TMOpaKeHus'",
"oka3zaHue BIMAHUSA  (ycOyrdw, JaBieHus)", "COBEpLICHHE  Kpaxu
(mpectymnenus, youiicta)". OTrIaroibHOE CYLIECTBUTEIBLHOE MOXKET OBITH
TaK)Ke TPOU3BOIHBIM OT TJIATOJIOB ¢ OOIIMM 3HA4YeHHEM "JeHCTBUS" TUNa
"mpou3BeneHue oObIcka (aHanm3a)", "opraHuzalus SKCKypcuid (JIeKuuid,
MepOonpHUiITU)", "HOCTHKEHHE HE3aBUCUMOCTH (pe3ynbTaToB)", "CO3bIB
KoH(pepeHnuu (coBemranus)", "peanu3anus miaHoB (IporpaMM, IPOEKTOB)",
"3aKIr04YeHNE Jorosopa","ipesocTaBieHne 3aiima (xpenura,
HE3aBHUCUMOCTH)", "BO3HUKHOBEHHE OMACHOCTH (BOWHKI)", "co3maHue 0a3
(30H)". B JNHMHrBHCTHKE CYIIECTBYeT TOYKa 3pEHHs, YTO NOAOOHBIC
CIIOBOCOYETaHUSI O0O3HAYalOT ACUCTBUS, OTHOcALIMecs K Oyaymemy. Mx
CMBICJI COCTOUT B TOM, YTOOBI JaTh MOHSAThH, YTO IpeaMeTa, 0003HAYSHHOTO
BTOPBIM CYIIECTBUTEIBHBIM, HA HAHHBIH MOMEHT B HaJWM4YUH HET. Tak, BO
(paze "3aximoueHue qoroBopa OyJeT crocoOCTBOBATH HATAXHUBAHUIO OoJiee
TECHOTO COTpyIHHYecTBA" He "3aKi0YeHHe JoroBopa’ Kak AeHcTBUs OyneT
CIOCOOCTBOBaTh ~ PACHIMPEHHIO COTPYAHHYECTBA, a caM  JOrOBOp.
OTrnarojpHOE CYHIECTBUTEIBHOE 37ECh BBINONHSAET POJIb (POPMATBHOTO
JJIeMeHTa — OTpPHUIAaeT HaJU4Yhe Ha JAHHBI MOMEHT TOTO, YTO BBIPAXKECHO
CYLIECTBUTEIBHBIM JOTOBOP. DTOT MPHU3HAK MPEAMETHON CHTyallud TpHU €e
OMKCAaHUM B AHTJIMHCKOM s3bIKe ()OPMAJILHOTO BBIpaXEHHs He uUMeeT. B
COOTBETCTBYIOLIEM AHTJIMICKOM BBICKa3bIBAHUM B KAueCTBE MOJJIEKALIETO
BBICTYIaeT HEe UMS ACUCTBHS, a ero 00bekT [2]. CpaBHUTE yKa3aHHYIO BBILIE
(hpasy u ee aHTTTMHCKUIA SKBUBAJICHT:

3aknrouenue 0ozo06opa 6yoem cnocobcmeogamv HANAHCUBAHUIO 6OJiee
MecHo20 compyoOHUYecmad.

A treaty will promote closer cooperation.
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IIpu mnepeBojge TakuMX BBICKA3bIBAHMM HA PYCCKUM S3bIK BO3HUKAET
HEOOXOIMMOCTh BOCCTAHOBIICHHMSI MpPU CYHIECTBUTEILHOM B TIO3UIHH
MOJUIEXKAIIEr0 OJTHOI'O U3 Ha3BAHHBIX OTIJIArOJIbHBIX CYILECTBUTENIbHBIX:

A peace treaty between the warring sides will help relax tensions in the
Middle East.

3akarouenue MmMupHoeo 002080pa MedxHcOy BOHWUMU CHOPOHAMU OyOem
cnocobecmeosams ociabaenuio HanpadicenHocmu Ha buusicnem Bocmoke.

B pycckom Tekcte moOaBiseTcs CIIOBO 3aKIIOYEHHE U, KaK CIEACTBUE,
IIPOMCXOJUT CMEHA OTIPAaBHOW TOUKU NPHM ONUCAHUU JAHHOW NpPEIMETHOU
CUTYalUH.

PaccmoTtpenne  mpeoOpazoBaHHMi,  CONPOBOXKIAEMBIX  3aMEHOU
MOJUIeKAIIET0, 3aBEPIIUM TpaHCPOpMaIUeld, MpU KOTOPOH MPOUCXOTUT
OTZAEJEeHNE IPU3HAKA OT €r0 HOCUTEIIS.

B aHrnumiickoM M pycckoM sI3bIKax IPH ONMCAHWU OKPY’KAIOILIEro MHUpa
IIMPOKO HCIOJB3YyeTCsl TpPHEM METOHMMMHU, WIH OIpeNeieHus 1o
CMeXHOCTH NOHATUH. CyTh €ro COCTOMT B TOM, YTO NMPEAMET OMHCHIBAETCS
OTIOCPEJIOBAaHHO, Yepe3 JAPYyrod MpeaMeT, HaxOAAIIUWCS C HHM B
OTHONICHUAX YacTH U IIEJIOT0, BUA AEATEIHHOCTH U JIesTeNs, MECTa U TOTO,
KTO B 3TOM MeCTe€ HaxoauTcs. YacTHBIM TpOSBIEHHWEM 3TOTO0 IIpaBuia
SBIIIOTCA T€ CIIydad, KOT/ia JUlsl ONMCaHUs YeJIOBEKa MCIIONb3YETCsl OAUH U3
ero npusHakos, Hanpumep: "Bnepean men kpacHblil nupxak”. 31ech 0JuH
U3 TPU3HAKOB YeNIOBEKa, YacTh €ro OJCKABI, KaK Obl OTAEISIETCS OT CBOETO
HOCHUTEJSI U CTAaHOBUTCSI €ro 3aMeHuTeneM. [ aHriauiickoro si3plka 3TOT
MIPUEM HACTOJIBKO XapaKTEpPEeH, YTO OTAEISATHCS MOTYT HE TOJIBKO T€ WIH
WHbIE (PU3NYECKUE U MOPATIbHBIE Ka4eCTBa, HO TAK)KE COLUANIBHBIC U APYTHE
XapaKTepUCTUKU YeoBeKa. B pycckoM si3bike Takoro pazHoobpasus Het. U
KOIZla B QHIVIMHCKOM BBICKA3bIBAHUHM ONMCAaHUE IPEAMETHOM CHUTyaluu
Ha4yMHAaeTCs ¢ "OTAENeHHOro" CBOMCTBA YEIOBEKA, PYCCKUMN A3BIK B KAUECTBE
HCXOJHOTO yHKTa OOBIYHO BEIOMpAET HEMOCPEACTBCHHO YCIIOBEKA!

His inner mind had heard the faintest whisper.

Ceoum 6HympeHHUM CIyXoM oH yaaenuean maretiwiui wenom [10].

BOMPOCHI AN14 NOBTOPEHUA

1. Yro taxkoe "HoMuHanmm3anus'"?

2. B xakoM s13bIKe, pyCCKOM WJIM aHTJIMICKOM, TeHIEHIIUS K HOMUHAIN3AI[UN
MPOSIBIIAETCS 00JIee OTYCTIUBO?
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3. B KaKMX BBICKA3bIBAHUAX TJ1ArOJIBHOC CKa3yeMOC MOXKECT GLITL
npeoOpa3oBaHo B MoyIeKamee?

4. Kakue ecTb pa3HOBUJHOCTH y TaKUX BbICKa3bIBaHUN?

5. Uro noHuMaercs ToJ "HOMHHAIM3ALMEH  OMNpEIENICHUS MpU
CYIIECTBUTEIIFHOM B ITO3UITUH TIOJIEXAIIEero"?

6. Kakue BubI onpeeneHnii Mo ABepraioTcsi HOMUHAIH3AIIH?

7. Uro 3HauuT Qpasa "BoccTaHoBIEHHE WMEHH NPH CYIIECTBHTEIHHOM B
[MO3ULIMHU HoJIexamero'?

8. Ilpu mepeBojile KaKMX AHTJIMMCKUX BBICKA3bIBAHUU HCIIOJIB3YETCS STO
npeobpa3oBanue?

9. Kakoii CMBICH BKJIaJIbIBAE€TCS B IOHATHE METOHHUMUM ?

10. B uem nposiBisieTCsl pa3Iuuue MEXIY PYCCKUM M aHTJIMHCKUM SI3bIKaMHU
MIPY OMMCAHNUY YEJIOBEKa Yepe3 OJUH U3 €T0 MPU3HAKOB?

Definition

Nominalization is a type of word formation in which a verb or an
adjective (or other part of speech) is used as (or transformed into) a noun.
Verb: nominalize. Also called nouning [11].

In transformational grammar, nominalization refers to the derivation of
a noun phrase from an underlying clause. In this sense, an "example of
nominalization is the the destruction of the city, where the noun destruction
corresponds to the main verb of a clause and the city to its object" [12].

Examples and Observations

"English is truly impressive . . . in the way it lets you construct nouns
from verbs, adjectives, and other nouns; blogger and blogosphere are
examples. All you have to do is add one of an assortment of suffixes: -acy
(democracy), -age (patronage), -al (refusal), -ama (panorama), -ana
(Americana), -ance (variance), -ant (deodorant), -dom (freedom), -edge
(knowledge), -ee (lessee), -eer (engineer), -er (painter), -ery (slavery), -ese
(Lebanese), -ess (laundress), -ette (launderette), -fest (lovefest), -ful
(basketful), -hood (motherhood), -iac (maniac), -ian (Italian), -ie or -y
(foodie, smoothy), -ion (tension, operation), -ism (progressivism), -ist
(idealist), -ite (Israelite), -itude (decripitude), -ity (stupidity), -ium (tedium),
-let (leaflet), -ling (earthling), -man or -woman (Frenchman), -mania
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(Beatlemania), -ment (government), -ness (happiness), -0 (weirdo), -or
(vendor), -ship (stewardship), -th (length), and -tude (gratitude). . . .

"At the present moment, everybody seems to be going a bit nuts with noun
creation. Journalists and bloggers seem to believe that a sign of being ironic
and hip is to coin nouns with such suffixes as -fest (Google 'baconfest' and
behold what you find), -athon, -head (Deadhead, Parrothead, gearhead), -oid,
-orama, and -palooza" [13].

Nominalization in Scientific and Technical Writing

"The forces which operate to encourage nominalization are
understandable. Dealing continually in concepts, scientific and technical
writers tend to isolate activities such as 'experimenting,’ 'measuring,’ and
'analysing' as abstract conceptual units in their minds. They are also pushed
towards passive constructions, both by tradition and by their own desire to
step aside and allow their work to speak for itself. These forces produce
characteristic constructions such as:

A similar experiment was carried out using the material . . .
'Sigma' preparation was carried out as described . . .

So common has 'carried out' become as a general purpose verb that it is a
recognized marker of 'scientific' reporting, and television news bulletins
commonly adopt the construction when reporting scientific work. . . .

"Once recognized, nominalization is easy to correct. Whenever you see
general-purpose verbs such as 'carry out,' 'perform,' 'undertake,' or 'conduct’
look for the word which names the action. Turning the name of the activity
back into a verb (preferably active) will undo the nominalization, and make
the sentence more direct and easier to read" [14].

Read the following text:

Reproduction with variation is a major characteristic of life. Without
reproduction, life would quickly come to an end. The earliest single-celled
organisms reproduced by duplicating their genetic material and then dividing
in two. The two resulting daughter cells were identical to each other and to
the parent cell, except for mutations that occurred during the process of gene
duplication. Such errors, although rare, provided the raw material for
biological evolution. The combination of reproduction and errors in the
duplication of genetic material results in biological evolution, a change in the
genetic composition of a population of organisms over time and compare it to:
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All organisms reproduce and sometimes when they reproduce, the children
vary. This is an important characteristic of life. If organisms did nor
reproduce, life would quickly come to an end. How did the earliest single-
celled organisms reproduce? They duplicated their genetic material and then
they divided in two. Two daughter cells resulted from this process; they were
identical to each other and to the parent cell. But sometimes as the genes
duplicated, they changed or mutated. These errors are not very common but
they provide the basic material for life to evolve. So when the genetic
material duplicates, they reproduce and they make errors. As a result, there is
a change in what the genes are composed of. When these processes combine,
life evolve.

The first text is more academic. The second text is longer. It has shorter
sentences. It asks question and answers them. All these features are typical
of spoken language.

Compare these sentences:
Organisms reproduce. This is a major characteristic of life.
Reproduction is a major characteristic of life.

In general they mean the same, but sentence 2 is expressed more concisely. It
uses the word “reproduction”, whereas sentence 1 uses the word
“reproduce". Here the word “reproduce” is a verb. It would change to
“reproduces” if “organisms” changed to “an organism”. “Reproduction” is a
noun made from the verb “reproduce”; we call this process nominalization
[15].

Consider the following sentence:
(a) A comparison was made of the effects of pH vs temperature.

Note how the most important action, to compare, is frozen in the abstract
noun comparison. Such nouns are called nominalizations, and excessive
nominalization typifies academic and bureaucratic writing. To tell a simpler
and clearer story, one that is less abstract, we would use the most important
action in the sentence as the verb. In transitive active voice, the sentence
would become

(b) We compared the effects of pH vs temperature.
And in transitive passive voice, the sentence would be

(c) The effects of pH and temperature were compared.
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You might select (a) if you were trying to impress the reader (to a
reader who did not know better, a comparison was made might sound more
important than we compared) or if you wanted to increase the length of your
paper but lacked additional information or ideas (students learn and love the
academic style because it helps them inflate three pages of ideas into a five-
page essay). Regarding the latter point, note that sentence (a) uses 11 words
while sentences (b) and (c) use only 8. Also note that (b) and (c) but
especially (b) tell a simple story that is easy to understand and that anyone
who would write (a) would probably also use the other characteristics of the
academic style. Also note that while (b) and (c) use the same number of
words, the actor is described in (b) but not in (¢) [16].

To write clearly, scientists should avoid needless nominalizations. In
other words, scientists should not be needlessly abstract and should usually
express the important action in the verb.

But some nominalizations are necessary or useful. Consider the
following sentence: Fragmentation, grazing, forestry, and nutrient deposition
are decreasing the biological diversity of many of the earth's remaining semi-
natural ecosystems. Of the four subjects, fragmentation and nutrient
deposition are the most obvious examples of nominalizations. But converting
these abstract ideas into verbs while maintaining this sentence would be very
difficult. Moreover, the main action in the sentence is not really
fragmentation and deposition but decreasing. Finally, most readers of this
paper would be familiar with the terms fragmentation, grazing, forestry, and
nutrient deposition and would understand that the writer is using these
abstractions as characters in a story. Some characters are reducing
biodiversity. Which characters? Fragmentation, grazing, forestry, and
nutrient deposition. In this example, the abstractions (the nominalizations)
enable the writer to tell a story that would be much too long and complex if
he or she expanded the nominalizations into verbs and clauses. So, use
nominalizations sparingly. Do not use a nominalization until you have
determined that expressing the nominalization as a verb will not improve the
sentence [16].

Therefore, regardless of the controversy surrounding nominalization
and complex sentences in academic writing, there’s no arguing the fact that
they’re imperative to master if you want to be taken seriously within your
field. Learn to identify nominalized expressions in writing. There are a few
tricks (that are not foolproof), such as looking for “of” between two nouns or
noun phrases.

Match verbs to nouns and nouns to verbs. For example, “collide” =
“collision.” Pay attention to the ends of words (suffixes) and you may find
some patterns. For example, verbs ending in “d” are usually replaced with
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the suffix “sion” when being changed into a noun. Use these little “rules” to
help with spelling in all word forms.

Create your own complex noun phrases. Start by producing a simple N V N
(Noun Verb Noun) structure. For example, the phrase “Study deserves
success” can be built upon by using adjectives: “Diligent study deserves
anticipated success.” Or use a quantifier: “Diligent study deserves much
anticipated success.” Finally, add a post-modifier: “The diligent study of
English deserves much anticipated success.”

Use the above noun phrase and process of nominalization to create a rich
sentence packed with information. For example, you could write,
“Researchers’ deductions regarding the anticipated success of the diligent
study of English inspired a fresh intake of new students to the university.”

Ultimately, English text, academic or otherwise, is about
communication, and a good text is not one that necessarily uses big words
but rather is able to convey a complex idea clearly, such that the average
person can understand and absorb it [17, 18].

The Dark Side of Nominalization

"It’s not just that nominalization can sap the vitality of one’s speech or
prose; it can also eliminate context and mask any sense of agency.
Furthermore, it can make something that is nebulous or fuzzy seem stable,
mechanical and precisely defined.

"Nominalizations give priority to actions rather than to the people
responsible for them. Sometimes this is apt, perhaps because we don’t know
who is responsible or because responsibility isn’t relevant. But often they
conceal power relationships and reduce our sense of what’s truly involved in
a transaction. As such, they are an instrument of manipulation, in politics and
in business. They emphasize products and results, rather than the processes
by which products and results are achieved" [20].

Types of Nominalization

"Nominalization types differ according to the level of organization at
which the nominalization takes place (see also Langacker 1991). . . . Three
types of nominalizations can be distinguished: nominalizations at the level of
the word (e.g. teacher, Sam's washing of the windows), nominalizations
which nominalize a structure that lies in between a verb and a full clause
(e.g. Sam's washing the windows) and, finally, nominalizations consisting of
full clauses (e.g. that Sam washed the windows). The latter two types deviate
from the 'mormal' rank scale of units in that they represent nominals or
phrases which consist of clausal or clause-like structures. They have
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therefore been regarded as problematic, and it has even be claimed that that-
structures are not nominalizations (e.g., Dik 1997; McGregor 1997)" [21].

"Nominalizations properly refer to third-order entities, e.g. 'Cooking
involves irreversible chemical changes,' in which cooking refers to the
process as a generic type, 'abstracted' from a particular token instance at a
specific time. A second kind of nominalization involves reference to second-
order entities. Here reference is to particular countable tokens of processes,
e.g. 'The cooking took five hours.' The third kind of nominalization has been
called improper (Vendler 1968). This refers to first-order entities, things with
physical substance and often extended in space, e.g. 'l like John's cooking,'
which refers to the food which results from the cooking, (the RESULT OF
ACTION AS ACTION metonymy)" [24].

Nominalizations: A sentence may seem unclear to a reader because verbs
and adjectives (words that describe nouns) are turned into nouns.

USEFUL NOMINALIZATIONS

1. The nominalization may be a subject that refers to a previous sentence.
2. The nominalization names what would be the object of its verb.

I do not understand either her meaning or his intention.

I do not understand either what she means or what he intends.

3. A succinct nominalization can replace the fact that.

The fact that I denied what he accused me of impressed the jury.

My denial of his accusations impressed the jury.

When I denied his accusations, I impressed the jury.

4. Some nominalizations refer to often repeated concepts. Some
nominalizations name ideas we can express only in nominalizations:
abortion, taxation, amendment, election, revolution, freedom, death, love,
hope, life.

SPOTTING AND REVISING NOMINALIZATIONS

1. When the nominalization follows an empty verb, change the
nominalization to a verb that can replace the empty verb.

The police conducted an investigation of the matter.

The police investigated the matter.
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2. When a nominalization follows a there is or there are, change the
nominalization into a verb and find the subject.

There was considerable erosion of the land from the floods.
The floods considerably eroded the land.

3. When the nominalization is the subject of an empty verb, change the
nominalization to a verb and find a new subject.

Our intention is to audit the records of the program.
We intend to audit the records of the program.

4. When you find two nominalizations in a row, make at least the first into a
verb. Then either leave the second as it is or turn it into a verb in a clause
beginning with how or why.

There was first a review of the evolution of the dorsal fin.
First, she reviewed the evolution of the dorsal fin.
First, she reviewed how the dorsal fin evolved.

5. We have to revise most extensively when a nominalization in a subject is
linked to another nominalization in the predicate.

Subject: Their cessation of hostilities

Logical Connection: was because of

Object: personnel losses.

Follow these steps to revise such sentences:

1. Change abstractions to verbs: cessation -> cease, loss -> lose
2. Find new subjects for those verbs: they ceased, they lost

3. Link the new clauses with a word that expresses their logical connection.
To express cause: because, when

To express condition: if, provided that

To express reservation: though, although

Their cessation of hostilities -> They ceased hostilities

was because of -> because
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their personnel losses. -> they lost personnel [23].
Avoid Making Nouns from Verbs
Take a look at the sentences below.

(a) A re-examination of the evidence led prosecutors to a reconsideration of
the defendant’s guilt.

(b) Prosecutors re-examined the evidence and reconsidered the defendant’s
guilt.

Most readers would say that sentence (b) is clearer than (a). The words re-
examination and reconsideration are nouns. Generally, words that end in -
tion are nouns. In Williams’s terminology, these words are nominalizations.
The verb forms, re-examined and reconsidered, seem clearer to most readers.
The following table lists just a very few nominalizations and their
corresponding verb forms.

In general, choose the verb form over the nominalization. But be careful.
Some nominalizations are useful and necessary. Use them prudently [24].

Avoid Making Nouns from Adjectives

The same principle applies with adjectives. Avoid turning an adjective,
such as careless, into its corresponding nominalization, carelessness.

Avoid: His carelessness in driving caused a multi-car accident.
Prefer: His careless driving caused a multi-car accident [25].

Nominalizations are useful for all kinds of reasons: (1) It makes you
leave out the participation mentioned in a special event such as to hide their
identities. (2) It makes you stand out the relations between the events as
opposed to the events themselves. (3) It permits the close mention of the
event which is already known by the reader. (4) It shows a lot of information
compactly [26]. Halliday (2000) considered that nominalizations play very
important roles in scientific and technical registers, because nominalization
makes scientific and technical registers possible to construct technical terms’
hierarchies and develop an argument little by little. In general, it is
considered that nominalizations pack information, which is why they are
particularly useful in formal text writing.

Academic writing frequently uses nominalisations; that is, the noun
forms of verbs.

Some more examples of nominalisation are provided below:
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Crime was increasing rapidly and the police were becoming concerned.
The rapid increase in crime was causing concern among the police.

Germany invaded Poland in 1939. This was the immediate cause of the
Second World War breaking out.

Germany's invasion of Poland in 1939 was the immediate cause of the
outbreak of the Second World War [27].

Here is an extract from a biology report. Nominalisation has been used
frequently in this passage, creating a more academic, abstract tone.

Many Australian plant species produce seeds with fleshy appendages
called elaiosomes. It was hypothesised that elaiosomes are involved in the
dispersal of seeds by ants. To test this hypothesis, the removal of seeds with
elaiosomes was compared to seeds from which the elaiosome had been
removed and observations were made to confirm that the agents of seed
removal were indeed ants. It was found that the removal of seeds with
elaiosomes was significantly greater than those without elaiosomes.
Observations of the seed removal process confirmed that ants were the only
agents of seed removal. The frequent use of nominalisation was one factor
responsible for the difference in formality between the model texts.

Formal Text Informal Text

The inequity in the distribution of wealth in Australia is yet another
indicator of Australia's lack of egalitarianism. In1985, 20% of the Australian
population owned 72.2% of the wealth with the top 50% owning 92.1%
(Raskall, 1988: 287). Such a significant skew in the distribution of wealth
indicates that, at least in terms of economics, there is an established class
system in Australia. McGregor (1988) argues that Australian society can be
categorised into three levels: the Upper; Middle and Working classes. In
addition, it has been shown that most Australians continue to remain in the
class into which they were born (McGregor,1988: 156) despite arguments
about the ease of social mobility in Australian society (Fitzpatrick, 1994).
The issue of class and its inherent inequity, however, is further compounded
by factors such as race and gender within and across these class divisions.

The relative disadvantage of women with regard to their earnings and
levels of asset ownership indicates that within classes there is further
economic inequity based on gender.......Because only a few people have most
of the money and power in Australia, I conclude that it is not an equal
society. Society has an Upper, Middle and Lower class and I think that most
people when they are born into one class, end up staying in that class for
their whole lives. When all three classes are looked at more closely, other
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things such as the differences between the sexes and people's racial
backgrounds also add to the unequal nature of Australian society [27].

Noun forms of verbs to create focus

In formal writing, especially academic writing, we can use a noun form
of a verb as a subject. By doing this, extra focus is given to the end of the
clause. Noun phrase subjects (topics) are in bold type below; the focus of
each sentence is underlined:

The discovery of oil brought immense wealth to the country. (Compare: Oil
was discovered and this brought immense wealth to the country.)

His emergence as a leader came about after the strikes of the 1980s.
(Compare: He emerged as a leader (and this came about) after the strikes of
the 1980s.)

1. Translate the following sentences using the following substitutions:
Nominalization of the verbal predicate:

1. The boys talked him away and he forgot about his fears for a while.

2. Julia was paying no attention to what they said.

Nominalization of the attribute modifying the noun in subject position.

1. The solved problem had a very great influence:

2. Growing ecological movement is a sign of the time.

3. Incremental demand for energy comes predominantly from Asia.

4. Growing ecological movement is a sign of the time.

5. Continued laser weapon tests run counter to the SALT agreements.

6. The shrinking work force in the old industries indirectly increases the
overall number of skilled workers in the economy as a whole.

4. Increased taxes, soaring prices, reduced production and delayed wages
considerably lowered people's living standards.

Nominalization of the adverbial modifier of purpose:
1. To perform this work one must have all the necessary equipment.

2. To demonstrate this effect Table 1 is given.
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Nominalization of the noun modifying the noun in subject or object position
1. Excursions to plants and farms will add up to the students’ know-how.

2. These decisions would help promote the country’s political and economic
independence.

3. Negotiations on these issues are not only desirable but absolutely
nec-essary.

4. Nuclear tests on Christmas Island would have greatly affected New
Zealand.

4. A federation of Arab states is aimed at consolidating Pan Arab unity.

5. New technology substantially changes the whole system of work
organization at the plant.

6. National security became a key issue in French domestic policies.

7. A well thought out program for video business would serve as a lesson to
other cultural spheres of activity.

Nominalization of the feature:

1. The glance in which their eyes met in the looking glass made it clear that
they understood each other.

2. Her own career has been singularly lacking in hardship.
3. The blush came and went.
4. His control of the party was almost complete.

5. Their great advantage was that they lived in Frankfurt, one of the great
urban centers.

6. The establishment of his five sons in the financial capitals of Europe was
his way out of the economic difficulties.

7. The two nations fell apart in thought and action, and British sympathy and
even admiration for Germany found powerful expression.

8. In a decade or less the annual flood of German youth reaching the military
age must be double that of France.

9. Wise policy would have crowned and fortified the Weimar Republic with
a constitutional sovereign.
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10. For some time, Western strategic thinking on the area has involved the
notion that if Mr. Milocevic could be ousted, other problems would fall
away.

Change the predicate of state into the predicate of action:

1. Billy had smiles for them all.

2. Censorship was a formative influence for this liberal school.

3. The amount of information the archives fail to give us is truly amazing.

4. He was at a banquet in honor of the Little League team of which his son
was a member.

5. They were able to talk to Billy by means of a computer.

6. All the others were highly critical of the proposed agreement.
7. This is humiliating for artistic intellectuals and their work.

8. Why is this social disease getting worse?

8. Today we are witnessing the emergence of a new literature which B
opposed to the old one chiefly by its readiness to communicate with any
culture.

9. The stratification and decay of Official literature actually had little
relevance to the future of literature.

10. This discussion, written much later, was different in tone since it dealt
with contemporary events and had become obsolete in many details.

11. Much more documentary material had become available in libraries and
archives when the second edition appeared in 1958.

12. All these eight years, from 1945 to 1953, don't add new elements to what
had been manifest since the middle thirties [1].

2. Translate the following sentences using the following substitutions:
Nominalization of the verbal predicate expressed by intransitive verbs:

1. Our union is constantly working towards overcoming the split in the
national movement of coal miners' unions.

2. Democracy in the country is expanding through the growing authority of
elected government bodies.
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3. Officially Eden went to Poland to exchange views.
4. Democracy aims to treat all people equally.

5. The Rothschilds started as court financial counselors in the first half of the
eighteen century.

6. They entered upon their spectacular career as financial counselors of the
Kurfurst of Hessen.

7. Under the genial influence of American and British loans Germany was
reviving rapidly.

8. India was in ruin and convulsion, transformed beyond all semblance of the
past.

9. At the same time there is a growing number of highly skilled specialists.
Without them today's economy would simply be incapable of developing.

10. The dispute between Slavophiles and pro-Westerners emerged because
of the very position of Russia.

Nominalization of the verbal predicate expressed by transitive verbs:

1. Between last January and April the country lost 9,5 mln mandays due to
ethnic clashes and strikes.

2. The government introduced elements of a market economy without
accompanying them with adequate mechanisms for state regulation.

3. People want energy because energy means liberty, mobility, growth and
the chance to improve living standards.

4. He shows concern for high ideals only when it concerns himself.

5. From the very first days the Nazi rulers were out to build up Germany's
armed forces.

6. If such documents were ever to be published they would be a bomb-shell.

7. Ministries were strengthened and this led to the emergence of even bigger
monopolies that could be supported only by upping prices.

8. This department was to a great extent staffed by ex-flying officers without
knowledge of commercial aviation.

9. It is a prodigious task to make an army embodying the whole manhood of
a mighty nation.
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10. For equivalent electricity output gas generates less than half the
emissions produced by coal [1].

3. Rewrite each sentence. Turn any unnecessary nominalization into its
corresponding verb or adjective.

1. The steering committee raised an objection to the proposed parking garage
north of the stadium.

2. When the faculty senate has made a determination about the desirability of
a lecture series, a proposal will be presented to the chancellor. (Hint. Perhaps
we have ONE useful nominalization.)

3. Negligence on the part of hospital workers was the reason for the failure
of the kidney machine.

4. Mercy Hospital made a decision to expand its geriatric facilities.

5. It was the intention of the screening committee to interview all candidates
face to face.

6. The investor made an incorrect assumption about the volatility of Brazil’s
emerging economy. (Some information might be missing in the original
sentence. Did the investor think that the volatility of Brazil’s emerging
economy was high or low? How can the meaning be made clearer?)

7. The parole board did not give an explanation for the early release of such
a dangerous inmate.

8. It is my hope that you apply this material.

[24, 25].
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4. Rewrite each sentence, turning unnecessary nominalizations into their
corresponding verbs or adjectives.

1. Marie resented that her husband always took control of their children’s
extracurricular activities.

2. The guidance counselor made a suggestion that graduating seniors should
submit early applications to the colleges of their choice.

3. It is the judge’s recommendation that the children live with their maternal
grandparents.

4. When he plays soccer, Osman makes an effort to pass the ball to an open
player.

5. As soon as she picked us up from school, Aunt Jessie made a decision to
take us to Disney World.

6. It is the expectation of the judicial review board that the candidate answer
all questions truthfully.

7. The film director’s house has the appearance of a Hollywood movie set.

8. Although she never carried it out, Frances made a promise to her mother
that she would call every week.

9. The critic E.M. Forster makes a distinction between round characters and
flat characters.
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10. Teenagers sometimes feel that their parents cause them embarrassment.

11. On his deathbed, the gangster made a confession about his theft of the
Hope Diamond.

12. It was Mayor Richards’s understanding that the bicycle path would be
built with funding from the federal government.

13. The scholar Jackson Rowley was of the opinion that excessive in-
breeding of cats led to some strains having six toes.

14. Because of the singer’s persistent denials of his drug addiction, a
cancellation of the tour ensued.

15. When Vincent made a declaration to me that he had a preference for
comedy over drama, I laughed and expressed agreement with him.

16. It is my suggestion that you engage in the application of these principles.

[24, 25].
5. Identify Nominalisation

Before you begin to create nominalised sentences of your own, it is
important that you are able to a) identify the nominalised part of a sentence
and b) see the value of using nominalisation

Instruction

Read the sentences below and identify which one contains a nominalised
expression.

For example:
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1) Student numbers are increasing rapidly from year to year and the
University is becoming concerned that they may need to build more
accommodation in order to house everyone.

2) The rapid increase in student numbers is causing concern at the
University. More accommodation may have to be built in order to house
everyone.

1. The temperature of the planet is rising as a result of global warming.
2. The rise of the planet's temperature is a result of global warming.

3. The indication of the business report that sales figures are down 10% on
last month is worrying.

4. The business report indicates that sales figures are down 10% on last
month, which is worrying.

5. A team of scientists analysed the data in the lab before they wrote their
report.

6. The analysis of data by a team of scientists in the lab was undertaken
before writing a report.

7. The production of a mathematical formula by mathematics and physics
experts has explained the modern phenomena of network science.

8. Mathematics and physcis experts have produced a mathematical formula
which explains the modern phenomena of network science.

6. De-nominalise the sentences
Instruction

Using the sentences from activity 3, change the nominalisations back into
verbs.

For example: The nominalised sentence

The failure of local economies to sustain and stimulate economic growth
resulted in foreign intervention.

becomes

Local economic strategies failed to stimulate and sustain economic growth,
which resulted in foreign intervention.

1. The government ... the student intake to ascertain a realistic picture of
which countries the international students have come from.
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2.The report ... that business has been extremely profitable since the end of the
quarter, particularly since the important sale and that expansion seems inevitable.

3.Transport for London will ... £350 million next year on refurbishment of
several tube stations

4.The UK Border Agency ... entry to the UK for non EU or EEA citizens.

5.Individuals ... in this urban migration because they want to generate
income through non-traditional means.

7. Nominalization Cloze
analysis  indication investment Participation restrictions

1.The government ... of the student intake helped to ascertain a realistic
picture of which countries the international students have come from.

2. The ... by the report that business has been profitable since the end of the
quarter seems to suggest inevitable expansion.

3. Next year’s ... of £350 million by TFL next will refurbish several tube
stations.

4. The UK Border Agency’s entry ... apply to non EU and EEA citizens.

5. ... in this urban migration is a way for individuals to generate income
through non-traditional means [24, 25].

8. Create nominalised sentences
Instruction

Look at the sentences below. Change the word in bold type into a noun, thus
creating a nominalised expression. If there are two sentences in the
verbalised form, join them together to create one sentence.

1.The police provided the press with details of the case, which implicated
Giovanni Lo Cascio of the Corleonesi clan to such an extent, that he was
forced into hiding.

2.Blended learning divides students. Some accept the newer style of
teaching, while others reject it.

3.Intercultural theory is very relevant to the business world. It's relevance is
illustrated in chapter 3 of this book.

4.Scientists deduced that the vaccine was also having a positive effect on
reducing the spread of HIV, which caused sales to rise.
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5. Fossil fuels are used to power industry. Heavy usage is difficult to sustain
because they cannot be replaced.

9. Complete the table below by finding nominalisations in the first text,
based on the verbs in the second text.

Text 1:

Reproduction with variation is a major characteristic of life. Without
reproduction, life would quickly come to an end. The earliest single-celled
organisms reproduced by duplicating their genetic material and then dividing
in two. The two resulting daughter cells were identical to each other and to
the parent cell, except for mutations that occurred during the process of gene
duplication. Such errors, although rare, provided the raw material for
biological evolution. The combination of reproduction and errors in the
duplication of genetic material results in biological evolution, a change in the
genetic composition of a population of organisms over time.

Text 2:

All organisms reproduce and sometimes when they reproduce, the children
vary. This is an important characteristic of life. If organisms did nor
reproduce, life would quickly come to an end. How did the earliest single-
celled organisms reproduce? They duplicated their genetic material and then
they divided in two. Two daughter cells resulted from this process; they were
identical to each other and to the parent cell. But sometimes as the genes
duplicated, they changed or mutated. These errors are not very common but
they provide the basic material for life to evolve. So when the genetic
material duplicates, they reproduce and they make errors. As a result, there is
a change in what the genes are composed of. When these processes combine,
life evolve [24, 25].

(W. K. Purves, D. Sadava, G. H. Orians & H. C. Heller, Life: The science of
biology, W. H. Freeman, 2004).
Verb Nominalisation
1.reproduce reproduction
2.vary
3.duplicate
4.divide
S.mutate
6.combine
[24, 25].
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10. Read the following text. Notice how the word "need" is used. Notice
how it is modified (premodified and postmodified) and how the nominal
group it is the head of functions in the clause.

The fundamental human need to belong comes from the desire to associate
with others, to cooperate, to accept group norms. However, the Stanford
Prison Experiment (SPE) shows that the need to belong can also be perverted
into excessive conformity, compliance, and in-group versus out-group
hostility. The need for autonomy and control, the central forces toward self-
direction and planning, can be perverted into an excessive exercise of power
to dominate others or into learned helplessness.

Consider three more such needs that can cut both ways. First, needs for
consistency and rationality give meaningful and wise direction to our lives.
Yet dissonant commitments force us to honor and rationalize wrong-
headed decisions, such as prisoners remaining when they should have quit
and guards justifying their abuse. Second, needs to know and to understand
our environment and our relationship to it lead to curiosity, scientific
discovery, philosophy, the humanities, and art. But a capricious, arbitrary
environment that does not make sense can pervert those basic needs and
lead to frustration and self-isolation (as it did in our prisoners). And
finally, our need for stimulation triggers explorations and adventurous risk
taking, but it can also make us vulnerable to boredom when we are placed
in a static setting. Boredom, in turn, can become a powerful motivator of
actions as we saw with the SPE night shift guards to have fun with their
"playthings."

(The Lucifer Effect, by Philip Zimbardo, 2007, Rider Books)

11. Gap-fill exercise. Fill in all the gaps with nominalisations.
a) Diversity of Life

The [?] of life has been driven in part by [?] in the physical environment. No
single kind of living thing can perform well in all environments. The
differences among living things that enable them to live in different kinds of
environments and adopt different lifestyles are called [?].

For a long period of time, there was no life on Earth. Then there was an
extended period of only uni-cellular life, followed by a [?] of multi-cellular
life. In other words, the nature and diversity of life has changed over time.
[?] of the processes that result in biological [?] was one of the great scientific
advances of the nineteenth century.
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b) Motivation

Workers in a wide [?] of jobs are rewarded for their effort based on observed
[?7] of [?]. The intuitive logic for performance-based [?] is to provide [?] to
individuals for an [?] in their efforts and the output of their labor.

12. In the following three examples, each sentence contains one or more
nominalizations that make its story unclear. As you read, identify: the
main verbs in each sentence, the nominalizations in each sentence.

A) The seizing of private property by the state should occur only after
extensive oversight by independent agencies.

B) The choice of Dick Cheney as Bush’s vice president was in many ways a
signal to the nation that it would go to war during Bush’s first term.

C) The securing of contracts can happen only after proper compliance has
been achieved after having met the FDA’s requirements of two rounds of
testing.

13. Underline the nominalization that hides this sentence’s main action
and rewrite the sentence.

1. A car crash occurred.

2. The 4th of July was the date of the signing of the Declaration of
Independence.

3. The Declaration of Independence was signed on the 4th of July.
4. Our investigation of these disparities in wealth will be conducted soon.

5. The protection of everyone’s basic human rights is a necessary action for
us to perform.

6. Auditing was conducted by the parent company before the deal was
approved.

14. Underline the word or words that best show who is performing this
action.

1.The decision to start his solo career was made by Lou Reed.

2. A holding of certain truths to be self-evident was done by our forefathers
in the Declaration of Independence.

3. The most downloading of applications on smart phones is usually done by
first-time users.
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4. Demonstrations of the drug’s effectiveness by the scientists have made the
FDA'’s approval almost inevitable.

5. Passage of the motion by the board must occur before line-item changes
can be adopted.

15. In these sentences, the main actions are nominalized. Change them
into verbs.

1. A decision was made by the general to launch the weapons.
What’s the nominalization in this sentence?

2. A decision was made by the general to launch the weapons.
Who’s performing the action of deciding?

3. Patients should depend on the visitation of doctors to maintain their
health.

What’s the nominalization in this sentence?

4. Patients should depend on the visitation of doctors to maintain their
health.

Who’s performing the action of visiting?

5. Convincing meat eaters that animals have feelings couldn’t be done by
animal rights activists.

What’s the nominalization in this sentence?

6. Convincing meat eaters that animals have feelings couldn’t be done by
animal rights activists.

Who’s performing the action of convincing? convincing

7. In America, innovation on the part of industrial companies is a crucial
component in their survivability.

What’s the nominalization in this sentence?

8. In America, innovation on the part of industrial companies is a crucial
component in their survivability.

Who’s performing the action of innovating?

This long sentence nominalizes two key actions:
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9. The decision of the General Assembly of the United Nations aims to
make its members effect a necessary deployment of peacekeeping troops to
troubled areas to protect human rights.

What’s the first nominalization in this sentence?
What’s the second nominalization in this sentence?

10. The decision of the General Assembly of the United Nations aims to
make its members effect a necessary deployment of peacekeeping troops to
troubled areas to protect human rights.

Who’s performing the action of deciding?
Who’s performing the action of deploying?

11. The decision of the General Assembly of the United Nations aims to
make its members effect a necessary deployment of peacekeeping troops to
troubled areas to protect human rights.

Who’s performing the action of deciding? decision
Who’s performing the action of deploying?  deployment
[24, 25].
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BBOAHDbIE THERE U IT/ Introductory there and it

Jlis M3M0XKEHUsT HOBOM WMH(OPMAamMH 4YacTO HCIIONB3yeTcs 000pOT
there be. B ykazanHoM oOopoTe cioBo there meceMaHTH3UPOBAHO, HO
UCTIOJHSET TPaMMaTHIECKYI0 (DYHKITHIO ITOJIJISKAIIETO B MPEIIOKSHHN.

There are sure to be casualties.

Omno BBOJUT MNPEAIOKECHUA CO 3HAUCHUEM CYHICCTBOBAHUA, B KOTOPOM
CKazyeMoe MIpeAIIecTBYeT MojajekameMy. Takue ObITHHHBIC MPeIOKEHHS
0o0BIYHO ~comepxkarT oOcToATensCcTBO Mecta. [losTomy there Moxker
INOABIATECA WM B KOHIC O60pOTOB, HO YX€ B CBOEM opsiMOM Hap€YHOM
3HAYCHHH.

There is a timetable on the wall — Ha cmene sucum pacnucanue
There is some milk in the glass — B cmaxane HeMHO20 MONIOKA
There are flowers in the vase — B saze cmosim ygemoi

There are many chairs in the room — B xomname MHo20 cmynveg

BreiTuiinble TIpENIOKEHHS MOTYT TaKKe COJEp)KaTh TJaroiibl exist,
live, occur, remain.

There exist many wonderful folk dances in the world — B mupe mmnoeco
VOUBUMENbHBIX HAPOOHBIX MAHYEE

There remained some milk in the jar — B kyswune ocmaeanoco nemHoz2o
MON0Ka

There remain several important issues to be discussed — Ocmaémces
06CyOuUmb HeCKOIbLKO 80NPOCO8

There is/are 00bIYHO CpAIIMBAIOTCS, Aa)K€ MPH HATUYUU OTPULATEIbHON
YaCTHIIBI NOtL.

There’s not a single cloud in the sky — Ha nebe nu obnauka
there + muunas popma to be + nothing like + gononHeHue
There’s nothing like fresh air — Hem nuuezo nyuuie ceestce2o 8030yxa

B oTcyrcTBHE NEWCTBYIONIETO HCIIONHHUTEINS MOJICKAIMM TAKKE MOXKET
CTaHOBUTHCSA U BBOAHOE (introductory) MecTOMMEHHe it.
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it + muHas Gpopma to be

BesnuuHoE MeCTOMMEHHME it OMMUCHIBAET BPEMsI, [TOTOY U OICHKY.
1t is midnight — I[onnouw

1t is snowing — Hoem cHee

It's getting dark — Cmanosumcs memHo

It is cold — Xonoomno

1t was very hot yesterday — Buepa 6vL10 ouenwv scapko [1].
CaoxHble 000poThI ¢ BBOAHbIMU there u it

It u there MoryT BBOAWTH MPHIATOYHOE IOMOJHHUTENHLHOE MpEATIOKEHHUE,
Ha4YHWHAIOUICCCs I/IH(bI/IHI/ITI/IBOM, TePpYHAUEM, U ITPUAATOYHOC OTHOCUTECIIBHOC
(that-clause, wh-clause):

1t’s easy to do this work — Omo néexas paboma
It was nice to see you again — IIpusamuo 6b110 CHO8A C 8aMU BCIMPEMUMbCS

1t’s dangerous crossing the street with red lights on — OnacHo nepexooumu
VAUYY HA KPACHBIL céem

1t’s surprising that he didn’t take your advice — Yousumenvno, umo oH He
NPUHAT MBOIL Co8em

VYkazaHHble ~ O0OOpPOTBI  3aMEHAIOT  NPUAATOYHOE  JIOMOJHUTEIbHOE
npeiokeHre B (QYHKUUM mojyuiexamiero. CpaBHUTE MPHUMEPHl C TOYKH
3PEHUS CTHIIS:

1t is amazing what you learn from hanging about bars (neutral).

What you learn from hanging about bars is amazing (formal).

1t frightens me that there are so many unknown people around (neutral).
That there are so many unknown people around frightens me (formal).

Cnemyer OTMETHTh, 4YTO BBOJHOE MECTOMMEHHE it IIHPOKO
HCIIONIB3YETCSL B CTPAJATENIbHBIX KOHCTPYKLMAX, KOTOPBIE MEPEBOAATCS Ha
PYCCKHI1 SI3BIK HEONPEAEICHHO-TUUHBIMH UM JIMYHBIMU MPEJIOKEHUSIMHU C
BBOJIHBIMU CJIIOBAMH.

It is said that . . . Tosopsam, umo .. . It is thought that . . . Cuumaiom
(nonaeaiom), umo . . . It is expected that . . Oowcudarom (odicudaemcs), ymo. . .
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It is thought that many people have been injured.

[ToMrMO MacCHBHBIX KOHCTPYKILUH, MpeaBapsroliee it coueTaercs C
[J1aroJlaMy B aKTUBHOM 3aJ10T€:

It seemed useless to go on. Kazanocs, npodonxcams Ovino b6ecnonesHo.
It seems a pity not to use it. JKanb, umo Henwb3s 9MO UCHOIL306AMD.

1t seemed (to me) a bold plan to advance against such strong opposition.
3amvicen 0sucamvcs neped, HeCMOMpPs HA MAKOE CUTbHOE CONPOMUBLEHUe,
Kasancs (MHe) 0ueHb 0ep3KUM.

It doesn't seem much good going on. IlIpodondcams, no-euoumomy,
becnonesHo.

It appears unlikely that we shall arrive in time. Kaowcemcs, mol 6pso u
npubyoem 808peMsi.

It doesn't seem much use for us to try to catch the two o'clock train. Ilo-
BUOUMOMY, HAM DECHONE3HO NLIMAMbCS YCHRemb Ha 08YyX4aco8oli noeso [2].

[IpenBapsromiee it BBIIOTHSAET B MPEUIOKEHHH HE TOJBKO (DYHKIIHIO
noJyIexamero (CM. IPUBEICHHBIE BEIIIIE PUMEPHI), HO M JOTTOJTHECHUS:

I found it easy to understand the speaker. Mue 6Ovli0 neecko nowumamo
00KNIA0HUKA.

Ecmu BBOmHOE it BhICTYmaer B (YHKIMH JOMOJHEHHS, TO, Kak
MPaBUIIO, HCIONB3YETCA CIEAyrollas KOHCTPYKIMs: Tiaron + it +
CyIIeCTBUTENbHOS/iprTarareibioe. Hanbojiee YacTOTHBIMH JUIsI TaKHX
KOHCTPYKIMH sBisitoTcsl Tiarosibl believe, consider, feel, imagine, think,
suppose, judge, count, reckon, guess.

OTMeTHM cieayIomue KOHCTPYKINH, KOTOpBIe UMEIOT B cocTase there u it:

1) it + nouunas ¢dopma to be + oueHowyHoe mpuiararenbHoe + of +
nojyIexaiiee + to-nHGUHUTHB

It was so polite of her to offer this. — bviio mak 6exciuso ¢ eé cmopomuwvi
npeoaoAHCUms SMo.

2) it+ muuHas Gopma to be + worth/useless/pointless + repyHauii
Was it worth seeing? — Kax ¢unom?

3) there + nmuunas ¢popma to be + no need + to-uHGUHUTUB
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There’s no need to tell him this. — He naoo emy amo coodbwame.
4) there + nuunas gopma to be + no point + (in) +repynanit

There was no point in waiting any longer, so we went. — JKoams danvute ne
UMEILO CMbICIA, U Mbl YULTU.

5)  it/there + nuunas Gopma to be + no use/sense/good + (in) +repyHauii (
It u there B3anMo3aMeHsIeMBI B OTPHIIATEIBHBIX 000pPOTaX).

There’s no sense going there — Kakoii cmvicn myoa xooums? [3].
3armoMHUTE KaK KIIHIIE:

There is no point in worrying.

It is no use crying over spilt milk.

1t is no good having regrets now.

There is nothing to be gained by feeling sorry for yourself.

It occurs to me/ It strikes me that they are here.

1t has just dawned on me what he meant.

Introductory "There"

An English sentence such as "A discrepancy was in the experimental
results." is possible but unusual. The conventional academic way of putting
it is to begin the sentence with "there" and postpone the indefinite subject. In
this way you can focus on the existence or occurrence of something.
Although simple sentences are possible — "There are, however, some
discrepancies." — it is more usual to expand the nominal group by post-
modification or an adverbial group [4].

"There was a discrepancy in the experimental results”.
Here are several common patterns:
There were several people in favour of the proposal.

There is no single issue in contemporary human affairs that is of greater
importance.

In the late thirteenth century, there were repeated efforts to drive back the
counter-offensive.

There was a large amount of work for the team to carry out.
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But in the Zaire basin there are only 38 million people occupying an area of
3 million km2.

There are no constraints placed upon the timing of the volunteer's activities.
There were many citizens who believed that ...

These can be seen to be derived from simpler sentences:

Several people were in favour of the proposal.

No single issue in contemporary human affairs is of greater importance.

In the late thirteenth century, repeated efforts existed to drive back the
counter-offensive.

A large amount of work existed for the team to carry out.
No constraints are placed upon the timing of the volunteer's activities [4].
Many citizens believed that...

They can be desribed as follows:

There + be + NomGrp + complement

There + be + NomGrp that clause

There + be + NonGRp + to-infinitive clause

There + be + NonGRp + for someone to-infinitive clause
There + be + NomGrp + ing participle

There + be + NomGrp + en participle

There + be + NomGrp + who clause

There are other possiblities, including variations on "be" — "used to

be" "may be" "seems to be", "seems to have been", "is supposed to be", "is
said to be", etc.

Introductory "there" is usually used in academic writing to introduce
the existence or occurrence of something. This can be then taken up as the
theme of the next sentence (See: Writing Paragraphs Flow).

For example:

More has been written on the party history of the period. There is Robert
Skidelsky's history of the second Labour government and Stuart Ball's
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excellent account of the Conservative party in opposition, a book which casts
an enormous amount of light on the inner life of the party. There is no
equivalent history of the Liberal party during this period. The three main
works — by Trevor Wilson, Roy Douglas, and Chris Cook — are all rather
slight when they come to tackle the complexities of the Liberal attitude
during the crisis. There is however, an excellent Cambridge Ph.D. thesis by
Philip Williamson [5].

There to create focus

We can use there at the start of a clause as a type of indefinite subject.
This means that we can put the actual subject at the end of the clause and so
give it emphasis or focus:

There was a strange smell coming from the room. (Compare: A strange
smell was coming from the room.)

There are many people willing to travel to the concert. (Compare: Many
people are willing to travel to the concert.)

Introductory “It”

We begin a sentence with it when the real subject is an infinitive
phrase. So instead of saying, ‘To accept your advice is difficult’, we say, ‘It
is difficult to accept your advice’.

Structure: It + verb + subject complement + infinitive phrase (real subject)
1t is easy to learn English. (= To learn English is easy.)

1t is easy to find fault with others. (= To find fault with others is easy.)

1t is difficult to know his motive. (= To know his motive is difficult.)

1t is difficult to find a good job during these troubled times.

1t is dangerous to play with fire.

1t could be dangerous to drive so fast.

Note that when we wish to emphasize the infinitive phrase, it may be
put at the beginning, especially when it is short.

To err is human. (OR It is human to err.)

To become a well known writer was his life-long ambition. (OR It was his
lifelong ambition to become a well known writer.)
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To invest all your money in shares is foolish. (OR It is foolish to invest all
your money in shares.)

When the real subject is a phrase that includes a gerund, it is used as a
provisional subject to begin the sentence. So instead of saying ‘Your trying
to fool us is no good’, we say, ‘It is no good your trying to fool us.’

It won'’t be any good complaining to the manager. (Complaining to the
manager won't be any good.)

1t is silly throwing away this opportunity. (Throwing away this opportunity is
silly.)

Will it be any good my talking to him about it? (Will my talking to him about
it be any good?)

1t is no fun having so many children to look after. (Having so many children
to look after is no fun.)

Note that it is possible to change the gerund into an infinitive.

It won'’t be any good for me to complain to the manager.

1t is silly (for you) to throw away this opportunity.

Will it be any good for me to talk to him about it?

Many of these sentences can also be re-written as exclamatory sentences.

How silly of you to throw away this opportunity! [6].

1. Identify the Nominal Group which is functioning as the
postponed subject and its gxggngign (There is no single issue in
contemporary human affairs that is of greater importance.)

1. There are many students in financial trouble.

2. He was still convinced that there was something wrong.

3. There were no endowments to finance the upkeep of the
building and the work inside it.

4. They do not for the most part take a position like that of Boas
which rejects the very notion that there are general laws
governing human history.

5. There is an odd ambivalence directed to matters sexual in what
is recognized as a staunchly Roman Catholic country.

6. In addition, there are a few patients who have survived after
inflicting deep cuts, usually of the throat and neck.
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10.

There were deliberate attempts for the government to develop
elements of both high and popular culture in music, poetry,
dance, and games.

There is a network of clinics throughout Italy — all towns with
more than 50 000 inhabitants having one.

There is a lot of evidence that such internal restrictions occur in
all the accounts of descent groups amassed by anthropologists.
There are experiments using the condition suppression
procedure that have succeeded in showing a loss of the CR with
a change of context.

Rewrite the highlighted section of the following sentences,
starting with "There".

1.
2.

3.

10.

Quite a few animal species are in danger of extinction.

A person stays indoors because he was misled into believing
that poisonous fumes are outside.

Before continuing with our main theme a few points may need
clarifying.

An exception arises only where concomitant changes confer an
advantage on the rarer types.

Deliberate attempts were made to develop elements of both high
and popular culture in music, poetry, dance, and games.

Before the Act there a grey area of uncertainty surrounding
these problems existed.

No evidence bears on this suggestion and the matter must
remain unresolved for the time being.

This is because, as [ said earlier, so many different
constituencies are involved in the process.

Very few people are at present at their full potential for good
health and good looks.

Four types of social organization exist: isolated animals with
mother, monogamous pairs, groups or bands with their parents,
and colonial animals living in burrow systems [5].

Find the subject and verb in these sentences.

NhLD =

There may not be time for an encore.

In the mail box, there was no mail.
There has been no letter today.

There weren't many men at the meeting.
In the snow there were many tracks [7].
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4. Replace ? with the correct verb structure with there. Answer
with used to, present perfect or will for future (in affirmative or
negative forms according to the grammar and context of the
sentence). You can use the contracted (I'm) form or the
complete (I am) form of the verb.

Example:
There ? a little village here. Now it's disappeared.

Answer:
used to be

1.
2
3
4
5.
6.
7
8
9.
1

0.

There ? some good films on television this week.

There ? better weather tomorrow.

There ? more bicycles in my town when I was a little girl.
There ? a number three bus yet.

There ? electricity in my house when I was young.

There ? a problem with this car since I bought it.

There ? any newspapers tomorrow due to the strike.

There ? a water mill here years ago.

There ? a lot storms this year. There is flooding everywhere.
There ? less pollution here when they pull down that factory [8].

5. Completes the sentences.

1.

2.
3

Each year, there ... 150 million computers that end up in our
garbage.

There... no way to upgrade some of the early models.

For many computers, there... service centers which will
upgrade the memory or hard disk capacity.

However, there really... no upgrade solution that is cost-
effective.

Each year, there... a number of new models that make us want
to upgrade our equipment.

Each year, there... better technology which produces smaller
computers.

Each year, there... more to learn.

There... a new device that is replacing the telephone, computer
and navigational system.

It is an iPad. There... thousands of applications.

. Among the apps, there... navigation systems, translators,

calculators, shopping helpers, games and much more.

. Among my phone apps, there... a map, an address book, a

camera, an image editing program, GPS navigation, and
gazillion games [9].
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gazillion /gal1z[l yon/ — an informal and funny expression that
means "a lot of" (with emphasis).

6. Identify the hedging expressions in the following sentences.

1.

There is no difficulty in explaining how a structure such as an eye or a
feather contributes to survival and reproduction; the difficulty is in
thinking of a series of steps by which it could have arisen.

For example, it is possible to see that in January this person weighed
60.8 kg for eight days.

For example, it may be necessary for the spider to leave the branch on
which it is standing, climb up the stem, and walk out along another
branch.

Escherichia coli, when found in conjunction with urethritis, often
indicate infection higher in the urogenital tract.

There is experimental work to show that a week or ten days may not be
long enough and a fortnight to three weeks is probably the best
theoretical period.

onceivably, different forms, changing at different rates and showing
contrasting combinations of characteristics, were present in different
areas.

One possibility is that generalized latent inhibition is likely to be weaker
than that produced by pre-exposure to the CS itself and thus is more
likely to be susceptible to the effect of the long interval.

For our present purpose, it is useful to distinguish two kinds of chemical
reaction, according to whether the reaction releases energy or requires it.
It appears to establish three categories: the first contains wordings
generally agreed to be acceptable, the second wordings which appear to
have been at some time problematic but are now acceptable, and the
third wordings which remain inadmissible.

7. Suggest improvements to the following sentences.

1. You can apply the same theory of learning to small children.

2. You can only do this after the initial preparation has been conducted.

3. The figures are accurate to within 1%, but you should note that local
variations may apply.
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4. In the second section of the report, we will consider the environmental
consequences.

8. Suggest alternatives to the following.

1. In this essay I will discuss the main differences between the English
and Scottish legal systems.

2. I have divided my report into five sections.

3. I will conclude by proposing that all drugs should be legalized.

4. The opinion of the present author in this essay is that the importance
of the monarchy should be reduced.

5. In the third part of the essay, we will look at the reasons for public
hysteria over the SARS virus.

It as introductory / preparatory subject

When a noun clause is the subject, we often prefer not to put this at the
beginning. This is especially true when we want to give emphasis to an
adjective. Noun clauses include:

to-infinitive clauses: It's important to hear all sides of the argument.
that-clauses: It's likely that he'll be late.

wh-clauses: It annoys me when he behaves like that.

-ing clauses: It's pointless denying it. I saw you do it!

Notice how introductory it is used in those sentences. The real subject is
underlined.

9. Rewrite these sentences so that they start with It ... as in the examples
above. Use contractions where possible.

1. To tell me so quickly was good of you.

2. To put me up for the night is very kind of her.
3. To visit New York has always been my dream.
4. To become a top athlete was clearly her destiny.
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That our team will lose again is only too likely.

That Mike will get the job is a foregone conclusion.
That you do so little work worries me.

What you think is neither here nor there.

When you lose your wallet is always really annoying.
10 How much money I manage to spend always amazes me.
11.Working with you has been really great.

12.Trying to wriggle your way out of it is no use.

00 N

10. Where possible, rewrite the sentence using there. Otherwise leave it
unchanged.

For this exercise, don't use contractions

Remember about tense

Remember to use final punctuation

A woman is waiting to see you.

The new computer is on the desk in the study.
Nobody was in the room.

Something strange was crawling up his leg.

My glasses are in the other room.

Nothing was in the room except for a simple bed.
Is any information on the sign about opening times?
Steve's car is in his garage.

A bowl of fruit is on the table.

10.Your supper is on the table.

11. Have any thunderstorms been recently?

12. A lot of people were at the bus stop.

XN kW~

11. Fill the gaps with it, there, it's, there's or there are, as appropriate.
Remember to use a capital letter if the gap is at the beginning of the
sentence.

used to be a cinema here but ... got turned into a bingo hall.
used to be much quieter here. ... a lot more cars nowadays.
looks busy, but ... no harm in asking if they've got a table free.
no point in crying over spilt milk. ... just a waste of time.
a good chance it might rain, ... dark clouds on the horizon.
. just a shame that you won't be here to see your cousin.
several reasons why ... important to look after your health.
no good asking him; ... no way he'll know the answer.
... notalot more I can say. ... all depends on your point of view.
0. ... more things to life than earning lots of money.

e e AR o
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12. Read the text, then fill each gap with one word.

It is said ... (1) the only mammal naturally capable of true and
sustained flight is the bat. Other mammals said ... (2) fly, such as flying
squirrels and gliding possums glide rather than fly, and can only glide
for short distances.

Bats ... (3) thought to represent about 20% of all classified mammal
species worldwide and ... (4)  are calculated to be about 1,240 bat
species in the world. There ... (5) sometimes thought to have been one
single common bat ancestor, from which all bat species have evolved.

It ... (6) believed that about 70% of bats are insectivores, with most of
the rest thought... (7) be fruit eaters and a very few carnivores. There ...
(8) thought to be bats in almost every habitat available on Earth, with the
exception of the two polar regions. In many places they ... (9)
considered to play a vital role in pollinating seeds and controlling the
numbers of insects pests.

It has... (10) contended that Kitty’s hog-nosed bat is the smallest extant
species of mammal, although claims have also been made for the
Etruscan shrew.

.... (11) is generally agreed that the largest species of bat is the giant
golden-crowned flying fox, which ... (12) said to have a wingspan of
1.5 m.

13. Some verbs are often followed by it + adjective / noun complement +
to-infinitive / other type of clause. Fill the gaps with adjectives and noun
complements from the box.

an honour - best - fascinating - hard - our duty - rude - strange - wise

Some experts believe it ... not to plant tomatoes too early.
People often consider it ... not to answer emails quickly.
I'd count it ... to be your best man.

We feel it ... to keep the countryside tidy.

You may find it ... to believe, but

I've found it absolutely ... talking to you, Professor.

In the circumstances, he judged it... not to say anything.

I thought it a bit ... that he hadn't told anyone else [12].

PNIN AP~
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14. Rewrite parts of the following sentences in one alternative passive
form, beginning your sentences with "it".

1. We understood that Mr Smith was willing to meet the British Prime
Minister.

2. People consider that this surgeon is a brilliant practitioner.

3. When Chain came in on Sunday morning and saw the result, people
say that he danced.

4. Somebody claims that the drug produced no undesirable side
effects.

5. People expect that the electricity supply industry will be running
into surplus capacity by next year.

6. Most people now think that only a small fraction of the nitrous
oxide emitted to the atmosphere each year comes from fossil-fuel
use, primarily coal.

7. At the present time, researchers believe that the only problem with
daytime sleep is that it is too short.

8. Although the government expects the patient to pay for his
treatment, he will be reimbursed via the state medical insurance
scheme.

9. If one person chooses to cause serious injury to another, we should
presume that he or she realises that there is always a risk of death.

10. Someone also alleged that he amassed wealth by exploiting his high
credit with the Palmyra court [13].

15. a) Which of the following verbs can be used in this structure:
Itcanbe  ---- that ----?
From all these recent studies it can ~ be ---- that the peer group
pressure is avery important factor in adolescent drug taking.
See, learn, find, know, discover, argue, believe, suggest, conclude,
decide

b) Now rewrite the following sentence.
If we can examine these statistics, we can learn that the number of
young female smokers is increasing.

16. How would you muse it is/seems (-ed)... that in the following:

1. I'm sure that this kind of methodology caused the uneven results.
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2. 1 guess that aboriginal design will be incorporated into mainstream
Australian art in the near  future.

17. Rewrite the following text using an impersonal style.
I want to argue that all children in ~ Australia have the right to be
educated in their mother tongue. I expect that many children in the past
spent many months or years in school but did not understand
their lessons. I am convinced that many migrant children are failing in
our education system because we do not have bilingual education
programs. If we look at the U.N. report on language and education we
can discover that children who become literate in their own language
have the greatest chance of educational success. People have been
discussing the latest figures on university entrance recently and you can
tell that migrant children do less well than 'Anglo’ children at present. I
suspect that this is because they have difficulty with English and I
would claim that that the government has done little to  help
these children. Surely the best way to achieve this in Australia
is for the State governments to set up bilingual education programs
for all migrant children. I ~ would suggest this is the number one
important issue for multicultural Australia [14].

JINTEPATYPA:

1. O6opor there + to be [DnexTpon. pecypc] / O6opot there + to be. —
Pesxxum moctyma: http://en-grammar.ru/oborot-there-to-be.html

2. Xopuabu A.C. Koncrpyknnu 1 060poTs! aHrmumiickoro si3eika/Ilep. ¢ anr.
A. C. UrnateeBa. [Tekcr]: /A.C. Xopabu. — M.: AO “bykmer”, 1992. —
336.c.

3. BBomHBIE 000POTHI B aHIIIMHACKOM $sI3bIKe [DNeKTpoH. pecypc]| / BBoaHble
000pOTHI B AHTTIUHCKOM SI3BIKE. - Pexum JoCTyna:
http://www.lovelylanguage.ru/grammar/rules/670-introductory-turnovers-in-
english

4. Biber D., Conrad S., Leech G. Longman Student Grammar of Spoken and
Written English. [Onektpon. pecypc] /D. Biber. — Pexum poctyna:
http://www.twirpx.com/file/253496/

5. Grammar in EAP Introductory "There" [OnektpoH. pecypc] / Grammar in
EAP Introductory "There". — Pexum pgoctyma: http://www.uefap.net/
grammar/grammar-in-eap-cohesion/grammar-in-eap-intro-there
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6. Introductory It [Dnektpon. pecypc] / Introductory It. — Pexxum moctymna:
http://www.englishpractice.com/improve/introductory-
2/#d5EpuWOARI3OIVIL.99

7. Daily Grammar — Lesson 96 — Parts of the Sentence — Subject/Verb
[DnexTpoH. pecypc] / Daily Grammar — Lesson 96 — Parts of the Sentence
— Subject/Verb. — Pexum nocryna: http://www.dailygrammar.com/Lesson-
96-Subject-Verb.htm

8. There is- there are — exercise 3 | English grammar exercises [DnekTpoH.
pecypc] / There is- there are — exercise 3 | English grammar exercises. —
Pexum goctynma: http://www.englishspanishlink.com/en/english-grammar-
exercises/there-is_3.htm

9. There is — there are — exercises — grammar [OnekTpoH. pecypc] / There
is — there are — exercises — grammar. — Pexum jgocrymna:
http://www.agendaweb.org/grammar/there-is-there-are-exercises.html

10. Features of academic writing [QnektpoH. pecypc] / Features of academic
writing. — Pexum  goctyma:  http://www.uefap.com/writing/feature/
featfram.htm

11. Avoiding personal language [DnektpoH. pecypc] / Avoiding personal
language. - Pexum JIOCTyTIA! http://library.bcu.ac.uk/learner/
writingguides/1.21.htm

12. Random Idea English [Dnextpon. pecypc] / Random Idea English . —
Pexum noctyma: http:/random-idea-english.blogspot.com/2012/04/read-all-
about-it.html

13. Academic writing style [OnektpoH. pecypc] / Academic writing style. —
Pesxxum moctyma: http://www.uefap.com/writing/feature/intro.htm

14. Writing in an Academic Style Module: Introduction [OnekTpoH. pecypc]|
/ Writing in an Academic Style Module: Introduction. — Pexxum ngoctyna:
http://sydney.edu.au/stuserv/documents/learning_centre/AS1.pdf
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PACLLEENNEHHDLIE NPEANNOXEHUA / Cleft sentences

B Hacrosmee Bpems TakoW TIpaMMaTHYecKHH (eHOMEH, Kak
9KCIPECCHBHBIE CHHTAKCHYECKHE KOHCTPYKIUH, MPENCTAaBIsAET OOJBIION
WHTEpeC VIS JIMHTBUCTOB. DTO 0OYCIOBICHO TEM, YTO B COBPEMEHHOM HayKe
NPUOPUTETHHIM  HANPABICHUEM SBISACTCS U3yYeHHE JICKCUYECKUX H
rpaMMaTUYECKUX SI3BIKOBBIX CPEJCTB B TECHOW CBA3H C KOMMYHHUKaTHBHOMN
CUTyallMeH, KOHTEKCTOM, pEUYEBBIMH  CTPAaTeTUSIMH W  TaKTHKaMH
TOBOPSIIIETO. WNupivMu CJIOBaMH, rpaMMaTH4ecKue SIBIICHHS
paccMaTpuBaIOTCA C TOYKU 3peHHA HUX (YHKUMOHUPOBAHUS B IHUCKYpCE.
IIpexxne ueM mepelTH K pPacCMOTPEHHUIO 3KCIPECCHUBHBIX CBOMCTB
pacIIeNmJeHHbIX MPEIJIOKEHUH, OCTAaHOBUMCS TOApOOHEe Ha MOHATUH
3KCIIPECCUBHOCTH.

B swmrtepatype HeT  OOLICIPHHATOTO  OMpEACICHHS  MOHITHUS
9KCIPECCHUBHOCTH, a CaM TEPMHH HMEET PAa3UYHbIe TPAKTOBKU.
OKCIIPECCUBHOCTD MOXKET MIOHUMAThCA KaK CTHIIUCTHYECKAS
BBIPa3UTEIbHOCTh, MHOT/A SKCIPECCUBHOCTH CB3BIBAETCS C KAaKUM-THOO
ACIIEKTOM BBIPa3UTEIbHOCTH, HAPUMEp, ¢ 00Pa3HOCTHIO. DKCIPECCUBHOCTD
TaKXKe CBA3BIBACTCS C (YHKUMEH IeeHanpaBleHHOTO BO3IACUCTBHUS Ha
ajZipecaTa ¥ yCUJIEHHEM KOMMYHHKATHBHOTO HaMepeHus rosopsmero [1; 2,
63-64]. MHorma SKCHpEeCCHMBHOCTh MOHUMACTCS KaK KOHHOTAIUSA, KOTOpas
HaCllauBaeTCs Ha OCHOBHOE 3HAUEHHE S3bIKOBOM €IMHMILBI U MPUIAeT PeUH
APKOCTh M OMOLMOHAIBHOCTb. I[IpM 3TOM 3KCIPECCUBHOCTH MOXKET
MPOSIBIIATHCS HA JIFOOOM YPOBHE S3BIKOBOH cucTeMsl [3, 83].

B mnacrosmeir paboTe OKCHPECCHMBHOCTh CBs3aHAa C (yHKUUEH
BO3JCUCTBMsSI Ha ajpecara W YCWICHHEM MparMaTHYecKux IeJiei
BbIcKa3zbiBaHus. Benmex 3a P. P. YailkoBCKuUM, 3KCIIPECCHUBHOCTh B
CHUHTaKcuce OyZeM TIOHUMAaTh KaK «CBOWCTBO CHHTaKCHUYECKHX (OpM
YBEJIMYMBATh MPAarMaTU4ecKUid IOTEHIMAl BBICKA3bIBAHUS CBEPX TOH
CTENEHU, KOTOpas JOCTHTHYTa JIEKCHUECKUMH 3HAYCHUSMH DJIEMEHTOB,
HATIOJIHSIONIUX ATH CUHTaKcu4eckue Gopmen [4, 196].

B cBs13u ¢ BeIIECKa3aHHBIM, NTpuBeaeM Touky 3perust E. C. backakoBoii.
I[lo ee MHEHWIO, CHHTaKCHYECKas OSKCIPECCHBHOCTh 3aKIIOYacTCid B
CIOCOOHOCTH KOHCTPYKLMH [€aBTOMAaTU3UPOBATh BOCIPHATUE YUTATENEH,
BBLIIEJIATHCS B peueBoi nemnu [5, 10].

[loguepkHeMm, 4YTO OSKCIPECCHBHbIE CHHTAKCHUECKHUE KOHCTPYKLIMU
paccMaTpUBarOTCsl B JaHHOW paboTe Ha (hoHE HEHTPaNIbHBIX CHHTAKCHYECKUX
KOHCTpYKUMil. Takum 00pa3oM, pacllervieHHbIE MPEAIoKeHUs IPEICTaBIsIOT
c000ii MOAM(UKAIMIO MPOCTOTO MPEIOKEHUS U, CIIeOBATENILHO, BBICTYAIOT
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KaK JKCIPECCHBHBIC CTPYKTYphl TO OTHOLICHHIO K HEWTpajabHOMY, Ooiee
NpOCTOMY IO  CTPYKType  mpemioxkeHnto. Ilom  AKCIIPEeCCHBHBIMU
CHHTAaKCMYECKHMH  KOHCTPYKIMSAMH ~ OyZeM  TMOHMMAarh  CTPYKTYpBHI,
NPENCTaBISAIONIME CO00M BAPUAHT HEWTpPAbHONW CHHTAKCHUYECKOH CTPYKTYPBHI,
BBIJICJIIOIIMECS] B JAUCKYPCUBHOM (D)parMEHTE M T€M CaMbiM YCHJIMBAIOLIUE
IparMaTU4Yeckoe BO3JEWCTBME Ha  ajpecata. HakoHern, paccMoTpum
KOTHUTHBHBI ~ MEXaHM3M  CO3/IaHMS  OKCIPECCUBHOCTH  TEKCTa  TPH
WCIIONIB30BAaHUM  pacUICIUIEHHbIX  mpeayioxkeHuil.  CorjgacHo — Teopuu
peneBanTHOCTH, pazpaboranHoii Jl. [nepoepom u . Yuicon [6], roBopsimmit
CTPOUT CBOE BBICKA3bIBAHHE TAaKMM OOpa3oM, YTOObI, C OJIHOH CTOPOHBI,
CITYIIAIOIIHIA 3aTPATUII MUHAMAJIbHBIE YCHJINS Ha €T0 KOTHUTHBHYIO 00paboTKy,
U, C JAPYrod CTOpPOHBI, BBICKAa3bIBAHWE OBUIO MAaKCHMAaJbHO PEJICBAaHTHHIM B
nanHoM koutekcte. J[. IInepbep u JI. YwicoH Takke MOMYEPKUBAIOT, YTO
aJipecat TPaTUT YCHJIHS Ha HHTEPIPETAINIO TOIBKO TOH MH(OPMAIIUH, KOTOpas,
C €ro TOYKH 3pEHHSs, 3aCITy)KHBACT BHUMAHHSI.

B cBa3u c BbIIeCKAa3aHHBIM, Y4Y€HbIE BBOIAT TMOHATHE TaKOTO
KOMMYHHUKATUBHOTO TOBENICHUs], TP KOTOPOM TOBOPSIIMI JeNaeT SIBHBIM U
OYEBUIHBIM U CIYIIAIOIIEr0 CBOE KOMMYHHMKAaTHBHOEe HamepeHue. [lo
HalleMy MHEHHWIO, TOBOPSIIMK, BBIOMpas Uil COOOIIEHUS KaKOH-1u0o
undopmaru Ooiee CIOXKHYIO PACIICIUICHHYIO CTPYKTYpY, TeM CaMbIM
MaHU(ECTUPYET CBOC KOMMYHHUKATUBHOEC HaMEpEeHHE, WHBIMH CIIOBAMU,
TOBODAIIMIA TpUBJIEKaeT BHUMaHUE aJpecaTa K PENeBaHTHOW HH(OPMALUH.
[Ipeanonoxum, roBOPSILIMI HaMEPEBAECTCA JOHECTH 10 CIYIIATENsl HEKOTOPYIO
uHpopMaIuoo, KOTopas MOXKET ObITh CQOPMYIHpPOBaHA  Ppa3THYHBIMU
criocobamu:

a) He has lost interest.

b) What has happened is that he has lost interest.

BrickaszbiBanue b TpeOyer Oombliie ycuinii Ha KOTHUTHBHYIO 00paboTKy, T.K.
OHO oOamaeT OoJee CIIOKHOM CHHTAKCHYECKOH CTPYKTypoil. Tem He MeHee,
COTJIACHO TEOPHU PEICBAHTHOCTH, TOBOPSINUIA BBHIOMpACT TaKyr (opMy
BBIPDAXKCHUS, KOTOpas TpeOyeT MHHHMAIBHBIX yCWIMH i 00paboTKu
BBICKA3BIBAaHHMSI M SIBIIICTCS MAKCHMAIBHO pENCBAHTHBIM B  JaHHOH
KOMMYHUKATUBHOM cuTyanmuu. Takum oOpa3oM, aapecaT 3aiep>KHBacT
BHIMAaHHE Ha JAHHOM BBICKa3bIBAHWHM, T.K. €My HEOOXOIMMO HE TOJBKO
HOHSTH COJep)KaHHME BBICKA3bIBAHUS, HO M MHTEPIPETUPOBATh UMIUIUKAIIHY,
JNOTOJIHUTENbHBIE ~ KOHHOTAlMM, KOTOPbIE  BO3HUKAIOT B  CIy4ae
yrmoTpeOyieHns1 0ojiee CIOXKHOW B CHHTAaKCHUECKOM IUIAaHE CTPYKTYphl. B
pe3yNbTaTe BHICKa3bIBAHUE OKA3bIBACTCS BHIICIICHHBIM B IAaHHOM (hparMeHTe
ICKypca, ¥ TOBBIIACTCS €r0 MparMaTHIeCKUil moTeHuai [7].

OOpaTHMCs K OTHOMY U3 SKCIPECCUBHBIX CPEICTB HA CHHTAKCHYECKOM
YPOBHE — pACHICIUICHHBIM IPEIOKCHUSIM. PacliernyieHHble IpeIoKeHUS
SIBJISTFOTCSI PACIPOCTPAHEHHBIM CPEICTBOM OOLICHUS B AHTJIHHCKOM SI3BIKE,
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TaK KaK OHH IMO3BOJIIIOT CTHUJIMCTHYSCKH AKICHTHPOBATh TOT WM WHOMN
9JIEMEHT, HECYIMH BECOMYH0 CEMaHTHYECKYH Harpysky. Pacuieruienue
OPE/ICTABSIET CEMAHTHUYECKHUI TPOIECC BBIABIKCHHSI HA CHHTAKCHYECKOM
YPOBHE, KOTOPBIH 3aKIOYacTCs B TOM, YTO BCIIEACTBHE HEOOXOIUMOCTHU
BBIJICTICHUSI HEKOTOPBIX DJICMEHTOB, MPEJIOKECHUE paCHICIUIICTCS Ha 2
OPEITIOKEHHS, KaXKI0€ 3 KOTOPBIX HMEET CMBICIOBOM Tiaroit. B pesynbrate
o0pasyercs CI0XKHOE MpeUIoKEHHE, cocTosee U3 2 JacTeil: KOMIIOHEHTa
pacIIeIUICHUS W 3aBUCHMOTO TPEJIOKCHUS] PACHICIUICHHS, CBA3aHHBIX
HOCPEJCTBOM IJjlarojia CBs3kM to be. HHTepecHOil 0COOEHHOCTBIO, MO
CPaBHEHHUIO CO CIOKHBIMH MPEIIOKCHUAMH, SIBISICTCS TO, YTO 3HAYCHUE
OPEATIOKEHHS TIPH ATOM TIePeaeTCs OCHOBHBIM MPOCTHIM MPEAT0KEHHEM.

B 3aBHCHMOCTH OT CHHTAKCHYECKOIO CTPOCHHMS W 3HAYCHWS,
paCIICIUICHHBIE ~ MPEAJIOKEHHS MOXHO OOBEIMHUTH B  CICAYIOIINE
CTPYKTYPHO-CEMAHTUYCCKHIE TUIIBI:

PacuieruienHble IPENIOKEHNS ¢ HAYAIBHBIM it: [t’s the economy that people
are going to be voting on, come November of next year

PacrienneHHbIe npeayioskeHus ¢ Ha4aIbHBIM BOIPOCHTEIBHBIM CIIOBOM (Wh);
Oo6o0maromnye pacuiersieHHbIe peanoxenus (all);

peBepCI/IBHHe PaCHICTUICHHBIC TPEIJIOKEHNS C BOIIPOCUTCIIBHBIM CJIOBOM;
peBepCI/IBHHe pacuICIUIEHHBIC TPEJIOKEHNSA C OITIOPHBIM CJIOBOM;
PeBepcuBHBIE 0000marOIIE PACHICTIIICHHBIC TIPEITIOKCHUS;
VKa3zaTeNlbHbIe PACIICIIIICHHBIC TPEAIOKEHHUS;

[epBas Tpymnma mpetoskeHH ¢ HayaIbHBIM it [8].

ITo cTpyKType NpeasoXeHus, BXOISIIME B 3Ty TPYIIy OJHOPOIHbI,
OJTHAKO, MCXO/AA M3 WH(POPMALMOHHOIO cTaTyca (paclpeneieHusl CTapou u
HOBOI1 MH(OPMaLINKM) MOXKHO BBIIEIHUTH 2 TPYIIIBL: B NIEPBOl IpyIIie HOBas
UH(pOpPMALUs HAXOAUTCS B KOMIIOHEHTE pacllellIeHHs, BO BTOPOH — B
3aBHCHMOM npejuioxkeHHd. Kak mpaBuio, B IepBOM cilydae HOBas
uH(pOpManus SBIIETCS SKCIIPECCHBHO OKpamIeHHOH. [Iprmep:

She is thinking of you.

[pu moMoIIK pacIISINICHUsT MBI MOXEM aKIEHTHPOBAaTh MECTOMMEHUS,
you wuiIn she, IIOMECTHUB J3THU OJEMCHTBI TMPCAJIOKCHHUA B KOMIIOHCHT
pacIerIeHusI.

1t is you she is thinking of.

1t is she who is thinking of you.
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Jns mepBoM TPYMNIbl paclIEIUICHHBIX TMPEUIOKEHUH XapaKTepHO
BBIJICICHUE MMEHHBIX (pa3 U UMEHHBIX ()pa3 C MPeIIOroM, MECTOMMEHUH,
UMEH COOCTBEHHBIX, CYOCTaHTHBHPOBAaHHBIX YacTed pedyH, OJHAKO
BO3MOXXHO BBIIEJIEHME M MHOTOCJIOBHBIX CJOBOCOYETaHMM M  Jlaxe
MOTYMHEHHBIX MPEII0KCHHIH.

1t is J.K.Rolling who wrote novels about Harry Potter.

Ocobo chemyeT OTMETHTh CIOydad, KOTJa KOHTEKCTyaJbHOE
UCTIONB30BAaHKUE JeNlaeT IPAaBOMEPHBIM  BBIACICHHE IPHUIAraTCIbHBIX,
UH()UHUTUBOB, T.€. TAKUX 3JIEMEHTOB, KOTOPbIe OOBIYHO HE MOMEIAIOTCS B
KOMIIOHEHT pacuierieHus. IIpm 3ToM [gaHHBIE >JEMEHTHI MPUOOPETAIOT
3HaYCHUE HCKIIOYUTEILHOCTH, OCOOCHHOCTH.

It was yellow that they painted the fence (not green).

Jns BTOpOH TpyNmBl XapakTepHO MOMEIIeHHe HOBOW HWHQPOpPMaluu B
3aBUCUMOM TpeajioxkeHud. [lpum >ToM aHadopuyeckuii KOMIIOHEHT
pacIIeIUICHNs] YKa3bIBaeT HAa COMAEPIKAIIYIOCS B HEM CTAapyI0 HH(OPMAIIHIO.
OyHKIMEH TaKuX NOPEATOKEHHH, Kak IMPaBUIIO, SBISETCS 0003HAuYeHHE
HEKOTOpOW WH(OPMAIUK KaK YCTaHOBICHHOTO (aKTa, YTO THIIMYHO IS
HUCTOPUYECKOIO OIHMCAHMsI, HAay4YHOM JMTEpaTrypbl, TJ€ HE BKIIOYAETCS
JIMYHOE MHEHHE aBTOpa.

It was 5 years ago this month that people voted for the President.

B ocHoBHOM cdepoli QyHKIMOHHpOBaHMS O0EWX TPYHII pacUICTUICHHBIX
IPEUIOKEHUN ¢ HayalbHBIM it SIBJISETCA HAyYHbIH CTUIIb U XyJOXKECTBEHHAS
JuTeparypa.

g ycTHOH pedyu XapakTepHBIM SBISETCS BbLAEICHUE HMEHHBIX (pa3s,
COCTOALIMX U3 OJHOIO, ABYX WJIM TPEX CJIOB, B OCOOCHHOCTH MECTOMMEHHUH,
OTHEJIBHBIX CYIIECTBUTEIBHBIX, TOT/Ia KaK B XyJOXECTBEHHOH M HaydHOH
JuTeparype, B Ta3erax MOIyT  HCIOJB30BaTbCsl ~ MHOI'OCJIOBHBIE
CJIOBOCOYETAHUS U NOJUUHEHHBIE IPEATIOKEHHUS.

Hanbomee  ymoTpeOWTENBPHBIMA B pasTOBOPHOH  peud  SBISIFOTCS
yKa3aTelbHbIE pacLIENJIEHHble IPEAJIOKEHUS, KOTOpblE CTPYKTYPHO
OTHOCATCSI K THUIIy PEBEPCUBHBIX pacLIEIICHHBIX INpelulokeHui. B Hauvane
IPEUIOKEHHS. HaXOAUTCS KOMIIOHEHT paclienyeHus, MecTouMenue that nim
this, KOTOpBIe, KaK INPaBWIO, YKa3bIBAIOT, IOATBEP)KIAIOT HH(GOPMAIIHIO,
IPUCYTCTBYIOLIYIO B TUCKYypCe

That+ to be + 3aBuCcHMOE MpeATIOKEHUE.

CUHTAKCHYECKOH M CEMaHTHYECKOM OCOOCHHOCTBIO ATHUX HpCIUIO)KCHI/Iﬁ
ABIIACTCA HCO6paTI/IMOCTL, YTO OTJIIMYACT UX OT APYrux l'[peI[J'IO)KeHPIﬁ.
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That how it is. That’s how it has always been.

B cBsa3u ¢ (yHKIMOHMPOBAHHEM MPEUMYLIECTBEHHO B YCTHOW peuu, AJs
yKa3aTeabHbIX PpacIIenIeHHBIX MIpeNIOKEHU N XapaKkTepHO 150.¢
HCIIOJIb30BAHUE JUISl TOATBEPAKIECHUS CBOEH TOUKH 3pEHHUSL.

That’s exactly what they do.
That’s where the money is.

,Z[aHHaH rpynmna O4Y€Hb MHOTOYMUCICHHAa W BKIIFOYACT B cebs He TOJBKO
npeuIoXKeHHs1 6e3 OMOPHBIX CJIOB, HO M MOTYT COJIepXaTh B ceOe OIMOpHbIe
cioBa obmero 3HaueHusi the way, the thing, the person, a Taxxe
MmecroumeHue all.

That’s all I want.

B CilIy4dae, Koraa I/IH(bOpMaL[I/I}I B 3aBUCHMOM TMPCAJIOKCHHUU SABJISACTCA
CTapOﬁ, JAAHHBIC TMPCAJIOKCHU. HpH OTOM OT 3aBHUCHMOI'O MNPCATIOKCHUSA
COXPpaHsCTCA TOJBKO BBOAHOEC CJIIOBO.

Why did you go there?-To meet with my friends, that’s why (I went there).

Ha pycckmii s3bIK Takue COKpAIEHHBbIC MPEIIOKCHUS TEePEBOISATCS
CJIOBOCOUYETAHUSIMHU: «BOT TIOYEMY», «BOT 3a4EM», «BOT KOTJ/Ia», «BOT YTO» H
SIBIIIIOTCS XapaKTEPHbIMU KOHCTPYKLUSMHU YCTHON peyH, MPEUMYIECTBEHHO
Pa3rOBOPHOM.

PCBCpCI/IBHLIC PpaClICIJICHHBIC NPCAJIOXKCHHA HEMHOI'OYHCIICHHBI. Hx
CTPYKTYPHBIM OTJIIMYUEM SABJIACTCA TO, YTO HX YaCTU pPaCHOJIararoTCsa B
O6paTHOM NOopAAKE, a MMCHHO KOMIIOHCHT PaCHICIUICHUS MNPEAIICCTBYCT
3aBUCUMOMY IPECIAJIOKCHUIO.

PacmenieHHple  NpeIOKEHNUST C HadajdbHBIM BONPOCHUTEIBEHBIM CIOBOM
what, why, where, how W &p. SBISIFOTCS APYTHMM THIIOM TPEIIOXKCHUH,
MIHPOKO YHOTPEOIsIEMBIX B pPAa3rOBOPHOH peun. Yame B 3aBHCHMOM
IpeII0KEHHN HAXOMIATCS TIIarolibl, TIIarojibHbIe (pa3sl M MpUIaraTelIbHbIE.
X 0COOEHHOCTBIO SIBIAETCS TO, UYTO BBIAEIsIeMas HWH(pOpMAaNus,
cojJiepKamasics B 3aBUCHMOM TIPEIJIOKCHUHU DACIICIUICHUS, MOXXET OBITh
JIUCKYPCHBHO CTapOi, U3BECTHOM, HO HE MOXKET OBITh JIUCKYPCHBHO HOBOW.
Tak, B pasroBopHOW peun HamboJjee YHOTPEOHTENBHOH SBISETCS TIpyIna
METaIMHTBUCTHUECKUX TPEIUIOKEHNH, KOTOPHIE BBIIONHIIOT pa3IHuHBIe
KOMMYHUKATUBHBIC 3agadd ¥ HamepeHus. OHH THUIHYHBI IJISI COBETOB,
peKOMeH}]aHI/Iﬁ TIpA UCIIOJIB30BAHNH B NPEIIIOKCHUAX MOJAJIbHBIX I'JIaroJIOB
should, need to, to be u ap.

What you should do is read much.
What you (really) need is a bit of rest.
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K ImparMaTHYCCKUM MPEMIOKECHUAM TAKXKE OTHOCATCA MPECATIOKCHUA, TAC
OPEBOCXUIIACTCS TOCICAYIOIIee COOBITHE. YKa3plBacTCs Ha MPOIECC
BOCHpI/ISITI/ISI, O6I[yMI)IBaHI/IH, 3aKJIFOYCHUs, T.C. MCHTaJ'II)HyI-O, yMCTBeHHyIO
JISATEIBHOCTh TOBOpAIIEro. J[ins TMOMOOHBIX MPEIOKEHUN XapaKTepHO
MCIIOIb30BaHKE B 3aBUCHMOM IPEIOKEHUH TaKUX TJIArojioB, Kak consider,
think, realize, say, mean, notice.

What I'm going to tell is mouth to mouth information.
What I mean is that we have to organize the meeting with the postgraduates.

Ocoboe BHIMaHHUE ClleLyeT 0OpaTUTh Ha MPEI0KEHNU, T yKa3pIBaeTCsA Ha
MBICITH, TIEPEXUBAaHUS TOBOPSIIETO, T.6. BKIIOYCHBl JIMYHOCTHBIC
SMOIMOHANBHBIE XapaKTEPUCTHUKH. DTO Tak Ha3piBaeMble think-clefts:

What really troubles me is that people don’t pay much attention to
environmental problems.

What hurts is that I know I used to be everything to you.

[Tpu momMomu paciieneHHbIX MPEeVIOKEHNH MOXKHO BBIpaKaTh JKeJaHUS,
npeamnouTeHus ¢ riaroiamu like, want, prefer resent.

What I want is the pleasure of shopping alone.
What she liked about me most was my family.
What I resent is this sort of behavior.

PacmienneHHble  MPEATOXKEHHS C  BOINPOCHTENBHBIM  CIIOBOM — 9acTO
UCHoJib3ytoTest co cioBamMu do u happen. Mns mnpemioxenuii ¢ do
XapaKTepHO HH(EPEHIMANGHOE OTHOIICHHE, IIOCKOJIBKY CaMO CIOBO
yKa3bIBacT Ha ACHCTBHUE, BEIPAXKCHHOE JPYTHM TJIATOJIOM. A TaKXKe OTHOCUT
K HEKOTOpOMYy coObITHIO, Ipoueccy. IIpeamoxenus ¢ happen Moryt ObITh
KaK MH(epeHInalbHbIMU, TaK U METAIMHIBUCTUIECKUMH, B 3aBUCUMOCTH OT
TOrO, OBUIO JIM YNOMUHAHUE HEKOTOPOTO NCHCTBHSA, MOCTYIKA, COOBITHS B
KOHTEKCTE, IIPU 3TOM IIPOUCXOJUT BBIJIEJIEHHUE LIEJIOr0 IpeuioxkeHus [1].

MeTaauHTBUCTHYECKOE 3HAUECHUE:

“You think you got here about five month ago, right? You probably did. It
was your jump. What usually happens is that you wake up and find yourself
in a place that looks vaguely familiar except that there’s hardly anybody
around.” (T. Palmer)

HudepennmansHOC 3HAUCHAE:
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There was a long traffic jam because of the accident last Friday. What
happened was that the car suddenly broke down on the bridge.

B mnauane 3aBucuMoOro NPEATIOKECHUA MOTYT HaXOAUTBCA W OPYTrue
BOIIpOCHTENBHEIE cnoBa who, why,how, where, HO OHH SBISIOTCS MeHee
ynotpeOasieMbIMU.

PacmieruieHHble MPeUIOKEHNSI C OMOPHBIMU CIIOBaMH, KOTOpBIE B Hadale
NPEUIOKEHHS COJIEpXKAT CJIOBa 000OMIANOIIETr0 3HAYeHUs, Takue Kak the
thing, the one? The way, the person, the time, the reason, the kind, the place,
o0Opa3yroniue eAMHCTBO C IMOCIEAYIONUM CPABHEHUEM C JPYTMMH BUJAMHU
pacHIeIJICHHBIX MPEJIOKEHU OHU HE CTOJIh MHOTOYHCIICHHBI.

The ting that he said made me upset.
The reason (that) you are not the member of our team is your age.

OCHOBHOW 0COOCHHOCTBIO TAKHUX NMPEIOKEHHUH SBISCTCS TO, YTO OHH MOTYT
ObITb COOTHECEHbI CEMAHTHYECKM C Wh-TIPeJIOKECHUSIMU, OJHAKO C
HEKOTOPBIM HM3MEHEHHUEM CMBbICIa, KOTOPOE 3aKIIOYaeTCsl B YTOYHEHMHU,
cnenu¢ukanuu. [Ipu 3amene the thing that va what? The reason (that) Ha
why IpUXOIUM K CIIETYIOIIAM MPEIIOKEHISIM:

What he said made me upset.
Why you are not the member of our team is your age.

O6oOmarone  paclIelyIeHHbIe MPEUIOKEHHs]  SBISIOTCS  CXOAHBIMH
CEMAaHTHUYECKH C PpaCIIETUICHHBIMH MPEUIOKEHUSIMA C BOIPOCHTEIbHBIM
cloBoM. BHauvajne Takux TpeanioXeHWd cTOUT MectonmMeHue all. JlaHHBIHA
TUT TPEASIOKEHUI XapaKTepeH AJs Pa3sTOBOPHOI pevH, a TaKxke, HalpuMmep,
JUIs TEKCTOB I1ECEH.

All she wants is another baby.
All you need is love.

O6o06maronye NpeanoKeHnss MOKHO UCIONb30BaTh TAKKE MPH BHIPAKEHUH
HEYIOBOJILCTBUS, PA3IPAIKEHHUS.

Ponb 0606ma}omnx npeﬂnomeﬂnﬁ 3aKJI04YacTCA B CHCLIH(I)I/IK&LII/II/I 3HA4YCHUA
BBIJICTICHHOI'O DJICMCHTA.

MeHee ynoTpeOHTEIbHBIMU SIBISIFOTCS PEBEPCHBHBIE NpeuioxeHus. Yaie
BCTPEYAIOTCS PacIleIUICHHbIE IIPEUIOKCHHS ¢ OIIOPHBIM cI0BOM the one:

I’m the one who is responsible for this.
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You are the one who'’s supposed to be the problem solver.

Jns  paclienyieHHBIX TIPEAJIOKCHHH TakkKe MOXHO BBLACTHUTH Pl
orpanuueHuil. Hampumep, B  HEKOTOpPBIX  TUNAX  HPOJOJLKEHUI
HCTIONB3YIOTCSA TOJNBKO JTUHAMHYECKHE INIarois! (BbIcKaspiBaHue Tuma What
she did was feel nervous sBiseTcss rpaMMaTHYeCKd HEKOPPEKTHBIM); B
PACIIEIUICHHBIX MPEATOXKEHUAX C BBOIIIIMM it B KadecTBe (DOKYCHOTO
3JIEMEHTa MOTYT HCIIOJB30BAThCS TOJIBKO OIPEICICHHBIE IPaMMATHUECKUE
CTPYKTYpbI (MMEHHBIE 1 MTPEUIOKHBIE CIOBOCOYETAHHSI, HAPEUHBIE TPYIIIIBI 1
00CTOSATELCTBCHHBIC TIPEINKATUBHBIC SIMHUIIBI) [9].

Kak moxa3eiBaeT aHanm3, pa3IUyYHbIE THUITBI MPEJIOKEHUNA OOBEIUHACT HX
JuckypcuBHas ¢yHkuus. C OIHOW CTOPOHBI, CHHTAKCHYECKOE BBIICICHUE
IOCPEICTBOM ~ PACHICIVICHHS  yKas3blBaeT HAa JIOKAJbHO  3HAYHMYIO
uH(poOpManuio, C APYrod — MpH AUCKYPCHBHOM HCCICIOBAHHM MOXKHO
BBICTUTh WX OCHOBHYIO  CBSI3BIBAIONIYI0  (DYHKIMIO  TIOCPEJICTBOM
pedepeHIMM ¥ CHOCOOOB TPHBICYEHUS BHUMAHUS CIYIIAIOMIEro, T. €.
0003HaueHHMS TT00ATEHO 3HAYNMOH HHPOPMAIIHH.

Takum 00pa3oMm, BKJIIOYEHHE pACIICIUICHHBIX MPEAJIOKEHUH B pedb
MO3BOJIMT CAENaTh €€ KOMMYHHKATHBHO HAIlPaBJICHHOW, JIOTMYECKH
MOCTPOCHHOM, a TaKkke 0oiee XKUBOH, YTO MPUOJIU3UT €€ K ayTeHTUYHOU
peuH, UTo, KaK CIEICTBHE, OyIeT CIIOCOOCTBOBATH YCIICIIHOCTH OOIICHUS.

EXPRESSIVE PROPERTIES OF CLEFT SENTENCES IN THE
MODERN ENGLISH LANGUAGE

General Information

Cleft means ‘divided’ and in a cleft sentence a single message is divided
across two clauses. We use cleft sentences, especially in speaking, to connect
what is already understood to what is new to the listener. By doing this we
can focus on the new information. This complex sentence is divided into a
main clause and a dependent clause. These two parts have their own verb.
Clefts are typically used to give extra emphasis to a part of the sentence.
They are mainly used in the written language because we cannot give an
extra emphasis to a part of the sentence through the intonation. Although
they are very common in spoken English as well. English is very rich in cleft
constructions. There are different types of cleft sentences:

1.It-clefts are relatively frequent in academic texts. In these sentences, the
focus is on the it-clause and this is where we put the new information. We
use that to connect another clause containing information which is already
understood by the listener:
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It was the lecturer who started the experiment.

2.Wh-cleft sentences are introduced by a wh-word, usually what. The old
information is in the wh-clause and the new information is at the end:

What I object to is violence on TV, are most common in conversation.

Cleft structures with what-clauses are also often used with does/do/did and
with the verb happen when we want to give emphasis to the whole sentence,
rather than a particular clause [9].

Compare the following:

The police interviewed all the witnesses to the accident first.

What the police did first was (to) interview all the witnesses to the accident.
You should invest all your money in telecoms companies.

What you should do is (to) invest all your money in telecoms companies.
What you should invest all your money in is telecoms companies.

She writes all her novels on a typewriter.

What she does is (to) write all her novels on a type writer.

Their car broke down on the motorway so they didn't get to Jo's wedding on
time.

What happened was that their car broke down on the motorway so they
didn't get to Jo's wedding on time.

For example:

The conservative government increased the taxes. (non-cleft)

It was the conservative government that increased the taxes. (it-cleft)
What the conservative government did was increase the taxes. (wh-cleft)
It-cleft sentences are common in academic writing. For example:

1t was this government which ruled Britain until May 1940, when yet another
coalition, governed Britain until 1945.

Both continued to develop, but it was the commemoration of the martyrs that
came to swamp the Christian calendar during the fourth century.

They are often used to link clauses:
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For centuries, London had been growing as a commercial port of world
importance. But it was in the north of England that industrial power brought
new prosperity to the country.

OR:

For centuries, London had been growing as a commercial port of world
importance. It was, however, in the north of England that industrial power
brought new prosperity to the country.

The purpose of the cleft is to focus on or draw attention to one part of the
clause, perhaps in contrast.

It was the conservative government that increased the taxes. (it-cleft)
What the conservative government did was increase the taxes. (wh-cleft)

It-cleft sentences consist of "it" as the subject of the clause, a form of the
verb "BE", the focused item, with a relative clause appearing at the end.

1t was this government which ruled Britain until May 1940, when yet another
coalition, governed Britain until 1945.

Both continued to develop, but it was the commemoration of the martyrs that
came to swamp the Christian calendar during the fourth century.

It is often the case that a number of different cleft sentences can be formed
from the same basic sentence, depending on your focus:

The government increased the taxes in the budget last week.

It was the government that increased the taxes.

It was the taxes that the government increased in the budget.

It was last week that the government increased the taxes.

It was in the budget that the government increased the taxes [10].

In the clauses that follow it + be + phrase, we can use the same relative
pronouns (who, whom, whose, which, that) and relative adverbs (where,
when, why) that we normally use in defining relative clauses.

However, if we bring a whole adverbial phrase into focus, we use that:
It was in 1864 that Dmitri Mendeleev invented the periodic table.

If we use a personal pronoun after it + be, it will be in the object form:
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It was him who invented the periodic table in 1864.

It is also possible to expand the phrase in focus with a non-defining relative
clause:

It was Dmitri Mendeleev, who was a Russian chemist, that invented the
periodic table in 1864.

It is possible to use the thing, the one thing, something in cleft sentences (It
was in June we got married.)

The thing

We can use the thing in front position plus a form of the verb be to bring
attention to an item in the clause. It means the same as what plus be, but it is
more informal (the focus in each sentence is underlined below):

The thing I like most about Italy is the food. (or What I like most about Italy
is the food.)

We can use a singular verb even if the item we focus on is plural:
The thing I like most about Scotland is the castles.
When we focus on a that-clause, we can omit that in informal situations:

The thing you need to remember is (that) all of the files from before 2008 are
stored in Shona’s office.

When we focus on an infinitive clause, we can omit to in informal situations:

The thing I didn’t want to do was (to) queue all day just for a ticket, so I
booked it online.

One thing, the one thing
We can emphasise thing with one. The one thing is even stronger:

You’ll meet a lot people when you 're travelling but one thing you must never
do is give your address to a complete stranger.

The one thing I should never have done was trust Marlene.
Something

We can use something in front position plus a form of the verb be to bring
attention to an item in the clause (underlined). It is less specific and less
direct than using the thing, and means ‘one thing among others’:
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Something I mustn’t forget is my umbrella. (or What I mustn’t forget is my
umbrella.)

Something you need to know is that Kate is not very well at the moment.

To create extra focus on time adjuncts (yesterday, in the morning, at 4 am),
we can front them using phrases such as it is/was not until, it is/was only
when. In the case of not until, the negative verb comes in the until-clause,
not the main clause:

It wasn’t until the bill came yesterday that we realised what an expensive
hotel it was. (Compare: Until the bill came yesterday, we didn’t realise what
an expensive hotel it was.)

1t was only when [ woke at 8 am, that I realised the alarm hadn’t gone off!
(Compare: When [ woke at 8 am, I realised the alarm hadn’t gone off.)
Somebody, someone

The headmaster believes strongly in discipline. (subject)

The headmaster is somebody who believes strongly in discipline.

1 trust her implicitly. (object)

She is someone (Who) I trust implicitly.

1 find it easy to talk to Pete. (prepositional object)

Pete is somebody (who) I find it eay to talk to.

All

1 want a new coat for Christmas (non-cleft)

All I want for Christmas is a new coat.

A new coat is all I want for Christmas.

1 touched the bedside light and it broke.

All I did was (to) touch the bedside light and it broke.

Finally, we can also use preparatory it in cleft sentences and join the words
that we want to focus onto the relative clause with that, who or when. In the
example which follows, note how this construction enables us to focus on
different aspects of the information, which may be important at the time:
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It is/was
They are formed with the following structure:
IT + TO BE + FOCUS
My brother bought his new car from our next-door neighbour last Saturday.
1t was my brother who bought his new car from our neighbour last Saturday.

It was last Saturday when my brother bough this new car from our
neighbour.

It was a new car that my brother bought from our neighbour last Saturday.

1t was our next-door neighbour that my brother bought his new car from last
Saturday.

Cleft structures include

the reason why

the thing that

the person/people who

the place where

the day when

I've come to discuss my future with you.

The reason why I've come is to discuss my future with you.
Your generosity impresses more than anything else.

The thing that impresses me more than anything else is your generosity.
The jewels are hidden under the floor at 23 Robin Hood Road, Epping.

The place where the jewels are hidden is under the floor at 23 Robin Hood
Road, Epping.

Under the floor at 23 Robin Hood Road is the place where the jewels are
hidden.

Mary works harder than anybody else in this organisation.

The person who works harder than anybody else in this organization is
Mary.
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Mary is the person in this organization who works harder than anybody else.
The Second World War ended on 7 May 1945 in Europe.
The day (when) the Second World War ended in Europe was 7 May 1945.

7 May 1945 was the day (when) the Second World War ended in Europe
[17].

Sometimes sentences with wh-words are called pseudo-cleft sentences.

Another common way to give prominence to one part of a sentence is to use
the structure What ...... is/was ..., often called a pseudo-cleft sentence. Like
cleft sentences, pseudo-clefts make explicit the separation between the new
and the given part of the message. The emphasized element is usually found
at the end of the sentence, though some emphasis is also put on the initial
clause. Typically, pseudo-clefts have the wh-element as subject, though this
is not necessarily so:

What I need now is a glass of wine.
A glass of wine is what you need now.
This structure is used to emphasize the subject or object of a sentence:
My left leg hurts. What hurts is my left leg
1 like her style. What I like is her style

In order to make a verb stand out the construction what ... do must be used;
different verb forms will be found, according to context. Infinitives with or
without to are possible. If the wh-clause contains a verb in the progressive
aspect the complement also has a verb in the —ing form:

What they do is dump their products
What I did was (to) call the police
What he was trying to do was just earning your trust

Where and when clauses can be used in a similar way to what clauses,
especially in informal English. This occurs much less frequently than for the
pseudo-cleft sentence “proper”, and mainly when the wh-clause is used as
subject complement:

Greece is where the Olympic Games took place in 2004

February is when most students get the flu
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Other wh-words are rarely employed in pseudo-cleft constructions (once
again, they are informal and tend to be avoided at the beginning of a
sentence). Different expressions are used in their stead, for example the
person who and the reason why in lieu of who and why respectively:

Lack of money is the reason why I decided to postpone my research trip to
the States

The person who accused him has now been arrested

Structures beginning with all (that) and expressions containing the word
“thing” can be used in a similar way to pseudo-cleft sentences:

All (that) I’'m asking for is group solidarity
The best thing you can do is apologize
Reversed pseudo clefts

Sometimes we might want to put the expression we are focusing on at the
beginning of the sentence, in which case we can use what is known by
linguists and grammarians as a reversed pseudo cleft.

Reversed pseudo clefts are not used as much as normal pseudo clefts, and
can sound rather formal, except perhaps for constructions with 'the person' or
something similar, which are quite common — see next section.

He wanted to buy a new computer game. (normal sentence)

What he wanted to buy was a new computer game. (pseudo cleft)

A new computer game is what he wanted to buy. (reversed pseudo cleft)
You need to see Diana about that. (normal sentence)

The person (who / that) you need to see about that is Diana. (pseudo cleft)

Diana is the person (who /that) you need to see about that. (reversed pseudo

cleft)
We're leaving early because of the traffic. (normal sentence)
The reason (why / that) we're leaving early is the traffic. (pseudo cleft)

The traffic is the reason (why / that) we're leaving early. (reversed pseudo

cleft) [15].

Emphasis in cleft sentences with it
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By using a cleft sentence with preparatory it, we can emphasise a noun, often
in contrast with what has just been said:

I like Paris a lot, but it's Marseilles that I like the best.
The basic structure is:
It is / was + emphasised noun phrase + who / that + rest of the sentence

We often use an it-cleft to correct wrong information. When speaking, we
stress the emphasised noun phrase. Note that we can stress different parts of
the sentence: the subject, the object, a prepositional phrase for example.

Jenny has bought a house in London

No, it's Sally who/that has bought a house in London.
(emphasises the subject)

No, it's a flat (that) Jenny bought in London.
(emphasises the object)

Jenny went to visit her sister on Wednesday.

No, it was on Thursday (that) she went to visit her sister.
(emphasises an adverbial of time)

No, it's in Brighton (that) Jenny has bought a new house.
(emphasises an adverbial of place)

Notice that the use of pronouns is similar to but not exactly the same as in
defining relative clauses:

who or that for people
that is usually used for things and after prepositional phrases

As in defining relative clauses, who and that can be left out when they refer
to the object or the object of a preposition.

By far the most common pronoun used to introduce the relative clause part is
that, and it is also possible to use who to refer to people. One grammar book
suggests that we tend to use that after proper nouns (names), and my own
feeling is that we tend to use who after pronouns:

It was Paul that gave the game away, wasn't it?
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It's you who should be apologising, not her.

You will occasionally see other wh-words in it-clefts, but they are rather
rare, and you are probably better avoiding them, especially in tests and in
writing:

which (for things)

It was his attitude which annoyed me.

more usual:

It was his attitude that annoyed me.

whose (for possession)

It wasn't David whose pen you borrowed, you borrowed mine.
more usual is to use a possessive and that or zero pronoun

It wasn't David's pen (that) you borrowed, it was mine.

whom (very formal, and seen by many as rather old-fashioned and stilted)
In the end it was Peter whom I asked to be my best man.

much more natural is to use who, that or perhaps best, nothing.
In the end it was Peter (that/who) I asked to be my best man.

when, where (sometimes used in an informal style, often without a
preposition)

It's Tuesday when they're coming, isn't it?

It was the Black Swan where I saw you last night, wasn't it?
When using that or nothing we may need to include a preposition
It's on Tuesday (that) they're coming, isn't it?

It was in the Black Swan (that) I saw you last night, wasn't it?

A bit more on it-clefts

In spoken English we often use tag questions after it-clefts:

1t was you who left the door open, wasn't it?

It's tomorrow we're having an extra class, isn't it?
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Sometimes we stress is/was rather than the emphasised word, when we want
to confirm something we already think is probably true:

It was you who left the door open, wasn't it?

1t is tomorrow we're having an extra class, isn't it?

We use a third person verb after who/that, agreeing with the subject:
1It's you who has just got into Oxford, isn't it? (one of you — singular)
1It's you children who have hidden my glasses, isn't it? (plural)

We can also use negative structures:

1t isn't Peter who you should be blaming, but George.

It wasn't in Bristol he made his fortune, although that's where he was born.
When the context is clear, we can miss out the relative clause part:

A: I wonder who wrote that on the board.

B: Well, it certainly wasn't me! (who wrote that on the board)

A:Do you know when the exhibition starts?

B: It's on Friday. (that the exhibition starts)

When we emphasise a subject pronoun, we usually use an object pronoun
after is/was. In a very formal style, a subject pronoun can be used. If you
want to avoid being too informal, you can use a structure with person/one:

It's me who does all the cooking. (informal)

1t is I who does all the cooking. (very formal)

I'm the person/one who does all the cooking. (neutral)
It wasn't her who told me. (informal)

[ was not she who told me. (very formal)

She's not the person/one who told me. (neutral)

When we use a simple wh-pronoun, we have a nominal relative clause. But
when we use a 'long expression', we have a defining relative clause.

What we need is a corkscrew. — nominal relative
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The thing (that) we need is a corkscrew. — defining relative
To-infinitives after do in pseudo clefts

Look at these example sentences from previous sections:
What Sally did was (to) dump me.

All Oliver Twist did was (to) ask for more.

The best thing (that) we can do is (to) forget about it.

When we have a to-infinitive after the verb do in a pseudo cleft sentence we
can leave out to. This is almost always done in North American English, and
is increasingly the case in British English as well, especially in spoken
language.

Questions with it-clefts

Look at these two questions and their answers:
Did you tell James, or did you forget?

It's OK, I told him.

Did you tell Peter, or was it somebody else?
No, it certainly wasn't me.

In the second example, where you is stressed, and where we mean 'was it
you or somebody else?', we often use an it-cleft question structure, stressing
the word(s) we want to emphasise:

Was it you who / that told Peter?
I don't know who it was, but it certainly wasn't me.

Notice that the part after who / that is in normal positive form (without
do/did in simple teneses) and in the third person.

Is it you who's just been promoted? (singular)

Is it you two who have been making so much noise? (plural)
The main difference between it-clefts and wh-clefts

Look at these sentences:

Cezanne's use of colour astonishes the viewer (normal sentence)
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It is Cezanne's use of colour that astonishes the viewer (it-cleft)
What astonishes the viewer is Cezanne's use of colour. (what-cleft)

In an it-cleft, the emphasis is near the beginning of the sentence. In a what-
cleft, it's the end of the sentence that takes the emphasis. This is where we
often prefer to put new information or a long subject.

A group of wild horses galloping through the clearing caught our attention.

What caught our attention was a group of wild horses galloping through the
clearing.

A what-cleft can also have an announcing function; it is like answering a
question we might expect our listener is wondering about. It's often used by a
speaker to introduce their talk or lecture.

Audience — I wonder what he's going to talk about.

Speaker — What I want to talk about today is the state of the economy.
This and that are often used in cleft sentences:

(On a bus) We get off here

This is where we get off. (OR Here's where we get off.)

(Pointing) The shop is over there.

That's where the shop is. (OR There's where the shop is.)

These are cleft sentences where this / that / these / those + verb be is
followed by a nominal relative clause. In these sentences, this, that etc refer
back to something that has just been said, or something that you are looking
or pointing at or is obvious at the time.

A: We really need to leave.

B: That's what I've been saying for the last half-hour!

(= I've been saying for the last half-hour that we need to leave.)

Some more examples:

A: Bla, bla, bla ... . B: That's what I've been saying all along.

Bla, bla, bla ... .This is why it's so important you're on time.

Bla, bla, bla ... .That's how we've been able to stay ahead of the competition.
Bla, bla, bla ... .This is when good timing is the key to success.

(looking at something) These are just what I was looking for [16].
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1. Identify the focused element in these sentences:

1.

10.

For it was the general election of 1931 which so drastically altered
the balance of parties in the House of Commons.

It was on the King's suggestion that the Cabinet considered
including a plea to unite.

It was generally believed that they were proposing to seek an
electoral pact with the Conservatives.

It was for this reason that he felt compelled to offer the Liberals the
alternative vote.

It was recognized by all concerned that it would take at least three
for any of the Brabazon types to come into production.

It was not until 1838 that there was general acceptance that the two
diseases were distinct.

But, though it was Euclid's method that first inspired him, the
subject-matter of geometry also caught his interest and was
something he worked on throughout his life.

There is, however, one way in which A's intentions can be given
validity at least in part, and it was this route which was followed:
the senate ruled that a provision of this sort could be interpreted as a
trust on B to make over A's estate to C.

It was in part to answer these questions that the California State
Legislature in the Autumn of 1976 passed a law called the Natural
Death Act.

It was by stressing the chance element in destiny that he was led to
the hedonistic philosophy of "eat, drink and be merry for tomorrow
we die!" [10].

2. Read the reworded paragraph for errors.

Reworded (with errors)

How the J Street Band got together is an interesting story. It was lead singer
Jeremy put the band together. What he did was held a blind audition for
interested musicians. It surprising who he chose. The guitarist who he
selected was 70-years old. It made no difference he was older—the guy

rocked!

111



It hard to say what makes a band successful. What matters most is that the
fans like the band's songs and style. What is required are both talent and hard
work. What most people don't realize is how long musicians work in the
shadows before achieving recognition.

achieve (V) — reach (a goal)
in the shadows (expression) — not in the spotlight of fame
recognition (N) — having others note the accomplishments of someone

talent (N) — skill, experience, natural and practiced ability

3. Is the sentence grammatically correct or incorrect?
1. How the J Street Band got together is an interesting story.
It was lead singer Jeremy put the band together.
What he did was held a blind audition for interested musicians.
It surprising who he chose.
The guitarist who he picked was 70-years old.
It made no difference he was older—the guy rocked!
It hard to say what makes a band successful.

What matters most is that the fans like the band's songs and style.

e e D U R e

What is required are both talent and hard work.

—_
=]

. What most people don't realize is how long musicians work in the
shadows before achieving recognition.

4. Select the response from the list that best completes the sentence.

1. That they play or What they play is mostly their own songs.

2. What is unique or What unique is their style of music.

3. Eric is who or is the person who or is the person that has written the lyrics.
4. What they want or What is it that they want is a number one hit.

5. The year that or When or The year in which they had a number one hit
was 2013.
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6. Their ability to appeal to mixed audiences is what makes them different
or is it makes them different.

7. It is encouraging or What is encouraging that cheering fans greet them
everywhere.

8. What is appreciated is or It is appreciated is that fans are buying their
recordings.

9. San Jose where or is the place where or is it where they will start their
national tour this year.

10. Why they go on tour or The reason they go on tour or What they go on
tour is because they love what they do.

5. Rewrite the sentence to a sentence beginning with the given word.
1. What surprised the band was fans jumping on the stage.
USE: that

What it was that

2. Fans jumping on the stage was surprising to the band.
USE: what (the action which)

Fans jumping on the stage was what

3. Fans jumping on the stage was surprising.

USE: where

On the stage was where

4. Fans jumping on the stage was surprising.

USE: that

It was surprising

5. Fans jumping on the stage surprised the band.

USE: when (at the moment which)

It was at the moment when.
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6. Complete the sentences so that they have the same meaning as the
sentences before them.

1. You can eat in this restaurant after 8.00 p.m.

It's only after 8.00 p.m. ... in this restaurant.

2. She always pretends she hasn't heard me when I ask her to help me.
What ... pretend she hasn't heard me when I ask her to help me.
3. Monica studied English at La Laguna university.

It was at Laguna university ... English.

4. I had a party last Friday, not last Saturday.

It was ... I had a party.

5. I don't like his clothes.

... I don't like.

6. I just need ten minutes to finish this task.

All ... ten minutes to finish this task.

7. 1 washed all the clothes except the blouse.

The only thing ... the blouse.

8. I came back because I had forgotten to close the windows.
The reason ... I had forgotten to close the windows.

9. You should go on a diet.

What you ... on a diet.

10. I like the wonderful beaches in Tenerife.

What I like about Tenerife.

11.When I got home I realised that I had left the TV on.

It was ... I realised that I had left the TV on.

12. Monica (not Ana) studied English at La Laguna university.

It was ... English at La Laguna university.
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13. She is always telling lies, not John.

It's ... is always telling lies.

14. Ana started the trouble.

It was ... the trouble.

15. I would like to go to Paris on my next holiday.
The place ... on my next holiday is Paris.

7. Rewrite each sentence to emphasize the relevant noun, starting with It
was ... — where possible leave out the pronoun.

Example: Susie married Mike. — Not Mike, but Steve

No, it was Steve Susie married.

1.Mike bought her a ring for her birthday. — Not Mike but Steve.
No,

2.He bought her a ring for her birthday. — For their anniversary.
No,

3.He bought the necklace for Susie. — His daughter.
No,

4.He bought a guitar for Rick. — A drum kit.
No,

8. Rewrite each sentence to emphasize the underlined phrase, starting
with It was.... You will need to add that to each sentence. Look carefully
at the underlined words in the last two questions.

Example: She liked the smell of hyacinths the best.

It was the smell of hyacinths that she liked the best.
1. He found studying maths most difficult at school.

. He first heard about it from Pamela.

2
3. She got the job because she was the best qualified.
4

. Mike first met Susie when they were both studying in London.
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5.
6.
9.

I only realised who he was when he started speaking.

I did not hear about it until yesterday.

Rewrite each question to emphasize the underlined word or phrase,

starting with Was or Is and including the word given. If it's (-), don't
include any relative pronoun. Use contractions where appropriate.

1

. Did Shakespeare write Hamlet? (that)
2. Are they coming on Monday? (that)

3. Did you meet your husband in London? (that)
4. Is Isabel your boss? (that's)

5.
6
7
8

Do you prefer coffee? (-)

. Have you just come back from Thailand? (-)
. Did you put diesel in the car? (-)

. Have you pinched my pen? (who's)

10. Fill each gap with ONE suitable word.

1.

What I liked most about the movie ... (1) the music.

2. What she... (2) was ... (3) look for another job.

3. ... (4)Isaid ... (5) that he was a bit late, and he bit my head off.

4. What ... (6) then ... (7) that all hell broke loose.

5. All that has happened is ... (8) the police ... (9) given me a warning.
6.
7
8
9

.... (10) really annoys me ... (11) that he's always right.

. AllT... (12) ... (13) to ask for a clean cup, and the waiter went berserk.
. What ... (14) happened was that she'd completely forgotten about it.

. Your attitude is exactly ... (15) I was wanting to talk to you about.

11. Rewrite the sentences exactly as in the examples, following the three
patterns you’ve just looked at.

Example: Did you say you wanted me to get some flowers? (flour).

No, what I said was that I wanted you to get some flour.
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1. Did she mean that we’re to meet her at the cinema? (pick her up from
home)

2. Did you think that I was driving you to the shops. (the bus stop)
3. Did he feel he had done the right thing. (could have done better)
4. Did you tell her it was your fault. (your fault)

Example: Did you phone her? (send / a text)

No, what I did was to send her a text.

5. What did you do next? (next / call / police)

6. Did you buy a new laptop? (No / new tablet / instead)

No,

7. What did you do after that? (after that / go / bed)

8. Did you take the bus to work today? (cycle to work)

No,

Example: Tell me what happened. (first / we / have / a row)

What happened first was that we had a row.

9. And so? (next / she / kick / me out)

10. So what did you do? (then / I/ find / somewhere to stay)

11. Any luck? (a friend / offer / me / his sofa / a few days)

12. And what now? (now / I / have to look / somewhere more permanent)

12. Complete each gap with one of the words in the box. Where
necessary add that.

day - person - place - reason - stuff - thing - way

1. The... you really need to speak to is George, the guy standing by the fire.
2. One ... I’ve asked you here today is to talk about last week’s sales.

3. The ... really got my goat was that he never even apologised.

4. The main ... I want to talk to you is to discuss your future.
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5. The ... it works is that you press this button here and hey presto!

6. The ... we got married was the happiest day of my life.

7. One ... I’ll never forget is Niagara Falls.

8. The ... works the best for that is this cleaning jelly.

9. The ... you need to remember is that he’s only a child.

10. The ... impressed me the most was Silvia; she really knew her stuff.
11. The ... you need for cleaning oil off your hands is Swarfega.

12. One ... to get it through the door is to put it on its end.

13. The ... made the most lasting impression was the Temple of Venus.
14. The ... works best for me is to write down new words in context.
15. The ... I admire most is my grandfather.

13. In each of the sentences one of the underlined words or phrases is
wrong. Write the number in the first box and the correct word or
phrase in the second box. Use contractions where possible and capital
letters where necessary.

Example: What (1) surprised me most was when (2) she didn’t seem to
recognise me, even when (3) I asked her how she was. 2 that

1. Where (1) you went wrong was that (2) you didn’t ask the right questions.
It was (3) not so much who you ask as (4) what you ask.

2. All that (1) happened was what (2) they got a ticking off from two
policemen, who just happened (3) to be passing at the time.

3. It was (1) when (2) I was talking to Pete when (3) I noticed that he seemed
to be a bit depressed.

4. One person (1) who could help you is (2) Mandy. That was (3) who I
would ask.

5. It’s (1) classical music she (2) says she likes , and (3) I know that what (4)
really turns her on is (5) some hard techno.

6. Al I (1) love about her is (2) the way (3) she never gets fazed by anything.

7. It was (1) only until (2) she finally smiled that (3) I realised she had been
having me on all the time.
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8. What (1) we need to do is find (2) more customers. These are (3) what we
should be concentrating on doing.

9. What (1) she did next was (2) to say that it was my fault that we were
always late. But it was (3) always her who (4) takes ages to get ready.

10. The thing (1) to remember is that (2) learning a language properly is a
thing (3) that can take a long time.

14. Complete each gap with ONE word. Contractions count as one word.
1. ... Rick you should really speak to.

2. The best ... would be to have a chat with Rick.

3. The best ... to talk to would be Rick.

4. Probably ... I would do is speak to Rick.

5. ... Rick who deals with this sort of thing.

6. ... to speak to might be Rick.

7. Rick’s the ... you should speak to.

8. What ... next is that you go and find Rick.

9. .... you could consider is having a word with Rick.

10. Why not speak to Rick. ... what I would do.

11..... Tadvise is that you speak to Rick as soon as possible.

12. Look, here it is. ... is where Rick has his office.

13. Look at these figures! ... is why it’s so important you speak to Rick.
14. The best ... to catch Rick is just after lunch.

15. The ... I would do it is to tell Rick you need his expertise.

15. Complete the sentences as cleft sentences focusing on the underlined
phrases and including any words in bold. After It’s, only use that where
necessary. Don’t use any final punctuation.

1. I really enjoy a long walk in the country.

It’s
What
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(is) A long walk

(That’s) A long walk in the country
2. I dislike his rudeness the most.
What

(what) His rudeness

It’s

(That’s) His rudeness

3. His sense of irony makes me laugh.

(what) His

(That’s) His sense of irony
It’s

What [16].

16. Read the sentences. Then complete the replies. Each reply must
contain a cleft sentence.

1. Nick was late because he overslept, wasn’t he?

No, it that he was late.

2. How on earth did Nick let the boss know he’d be late?

Well, what call her from his

mobile phone.
3. Wasn’t Nick late on Wednesday?

No, that he was late.

4. Nick’s boss had to start the meeting without him, didn’t she?

No, what she the afternoon.

5. Didn’t Nick get stuck in a traffic jam in the town centre?

No, not in the town centre; it got stuck.

6. I heard the boss was a little annoyed with Nick for being late.
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No, she wasn’t “a little annoyed”. What !

17. For each of the sentences below, write a new sentence as similar as
possible in meaning to the original sentence, but using the words given
in bold.

1. We just need 5 minutes to fix it.

ALL

2. I’m not questioning his dedication.

ISN’T

3. These men are totally ruthless.

WHAT

4. We inherited everything except the house.
ONLY THING

5. You know the sales assistant told me exactly the same thing.

THAT’S

6. We’re taking the au-pair with us.

DOING
[22].

18. Put the parts of the following sentence in order to form a sentence.
1. I need a good rest
Begin: What....

2. I watched a crime thriller. I couldn't understand how they escaped from
prison.

Begin: What...

3. You're arguing with your brother. He wants you to tidy up but he made the
mess. What do you say?

Begin: It...

4. You're gossiping with your friend. She says that Tom asked Janet out for
dinner, but you know it was the other way round. What do you say?
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Begin: It...

19. Put the parts of the following sentence in order to form a sentence
that answers the question: What do you like most about being a
teacher?

Begin: What ... [17].

20. Fill in all the gaps.

1. Mr Palmer saw I could also act.

It ... I could act

2.1 didn’t invite them.

It ... invited them

3. I began to suspect something at that moment.

It ... something

4. Money is the thing people care about nowadays.
It ... about nowadays

5. His attitude towards other people really annoys me.
It ... that really annoys me.

6. I didn’t decide to take a short cut across country!
It ... a short cut across country!

7. The demonstrators didn’t start the trouble.

It ... started the trouble.

8. I didn’t suggest having a barbecue!

It ... having a barbecue!

9. The computer gives me a headache.

It ... me a headache.

10. My uncle Tom came on Thursday.

It ... on Thursday [20].
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21. Read the following sentences and circle the cleft phrases. If
applicable, underline the other phrases that you can emphasize by
rearranging the sentence.

1. It was Gina who read a poem to Tom in front of their entire class.
2. What I wanted was to take a long nap once I came home from school.

3. It was several hours before I finished writing my essay about Bram
Stoker’s Dracula.

4. Where [ wanted to go on vacation was Hawaii.

5. It was with joy and pride that Bryan held his newborn son for the first
time.

22. Rewrite the following cleft sentences.
1. Who I never thought would betray me was my best friend Julia.
2. It was Walter who used to give me a ride home from work every night.

3. What I expected to happen was that everyone cheer for me when I crossed
the finish line.

4. What I wanted was to eat pizza and fall asleep on the couch.
5. It was Sarah who gave me directions to San Francisco.
6. It is time to save water.

7. It is clear that you need a new distributor cap [21].
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AOMNONHUTENbHbIE 3AOAHUA / Examples
of Academic Discourse and Supplementary Exercises

1. Ha3oBuTe JleKCMYeCKHe U TPaMMaTH4YecKue CPeIcTBa, YKa3bIBaloLue
HA NPUHALJIEKHOCTD CJIeIYIOLIUX TeKCTOB K HAY4YHOIi peyn.

I. LEVELS OF FLUIDITY

At an institutional level, fluidity signals a society’s capacity to adapt to
changing circumstances, its ability to absorb adaptations productively, and
its openness to new ideas. Institutions are here taken to mean “durable
systems of established and embedded social rules that structure social
interactions.” According to Nobel laureate Douglass North, these include
both formal (rules, laws, constitutions) and informal (norms of behavior,
conventions, self-imposed codes of conduct) constraints, as well as “their
enforcement characteristics.”

If the laws and conventions of a society — and the regulations and habits of
economic activity — fail to account for a changing reality, the society will
become frozen. Obviously, if the institutions do not maintain a measure of
stability and permanence, a society will neither absorb adaptations nor be
able to adapt in the first place. As Heraclitus observed, “On those stepping
into rivers staying the same other and other waters flow.” For example,
American universities have continuously adapted themselves as the needs
and demands of society have changed, yet they have also maintained a level
of institutional permanence. Adaptation and absorption require openness to
those marginal ideas that often form the foundation of economic progress.

II. Organizationally, fluidity means minimal bureaucracy. Though necessary
and perhaps inevitable to some degree, bureaucracy is, in its essence, “a
means of communication whose purpose is to reduce risk. Within
organizations, the risk-averting dialogue is articulated in rules that bound the
behaviors of people and control processes.”

In terms of economic growth, bureaucracy often hinders progress because it
seeks predictable, low-risk outcomes — notions that are antithetical to
dynamic, entrepreneurship-driven growth. Rules and structure, however, are
inevitable and even desirable because they can help to propagate new ideas
and innovations.
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Within a business firm, a facilitative bureaucratic structure can increase the
“technology adoption investment” that is key to growth.

Problems and barriers arise when bureaucracy — in a firm, in government, in
a university — sees its goal as perpetuation of the status quo rather than
adaptation. The fluidity of a society’s organizations — their ability to
minimize bureaucracy and adapt their structure — is often a prime
determinant of economic growth.

The third level of economic fluidity is that of the individual: the ability of
individual economic actors to freely decide their line of work, move between
jobs, and, crucially, start new businesses. In last year’s Index of Economic
Freedom, Johnny Mattias Munkhammar highlighted constrictive labor laws
that continue to hamper economic growth even in Europe. Similarly, the
most recent Nobel laureate in economics, Edmund Phelps, has done
extensive research into how the “corporatist” economic structure of Western
Europe limits individual mobility: “high corporatism is strongly correlated
with stifled entrepreneurship and obstructive job protection.” Here, a
nation’s bankruptcy laws, ease of business formation, tax treatment of capital
gains, and, informally, receptivity to new ideas are all important.

I1I.
Magnetic-particle imaging shows how blood flows.

Over the past three decades it has become possible to peer inside the human
body and discern ever finer details of its functions. The technology for this
relies on magnetism, namely, magnetic-resonance imaging (MRI). Now a
new type of scanner is being developed to work alongside MRI that will also
use magnetism to allow doctors to watch how blood flows through organs.
This will yield even more informed pictures and help improve medical
diagnosis and treatment.

MRI works in an ingenious way, winning Nobel prizes for its architects. It
relies on the fact that the human body is mostly water, and that different
organs contain different arrangements of the wet stuff. Placing a person in a
strong magnetic field causes the hydrogen nuclei of water to align with the
magnetic field. The person is then zapped with a carefully chosen pulse of
electromagnetic radiation — specifically, radio waves. This causes the
hydrogen nuclei to flip over. As they subsequently realign themselves with
the magnetic field, they emit radio signals that have the same the frequency
as the radiation they had just absorbed. These signals are detected and
interpreted by the scanner, which uses them to build up a picture of the
person’s insides.
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The new technology, called magnetic-particle imaging, is being developed
by Jirgen Weizenecker of Philips Research in Hamburg, Germany, and his
colleagues. It measures the magnetic properties of tiny particles of iron oxide
that are injected into the bloodstream. Iron oxide, or rust, to give its common
name, is already used in medical imaging to enhance the contrast between
damaged and undamaged parts of the liver, for example, in an MRI scan.
The new technique creates a three-dimensional image of the flow of the
magnetic particles injected into the bloodstream. This can then be overlaid
on an anatomical map of the body provided by an MRI scan. ("Tracing the
bloodstream”, The Economist, 11.03.2009)

2. BblﬁepI/ITe NpeaIoKeHusd, KOTOPbI€ MOYKHO OTHECTH K HAyYHOMY
CTWIK0 pevu.

a) In the past 2 years essays on entrepreneurship and labor freedom in
America have evinced a growing recognition that developments on the
micro-level are centrally important to economic freedom.

b) We can book accommodation for you in Rizza Hotel and in economy
accommodation Belvedere.

¢) Training is very dear to my heart — about 25 per cent of our training
budget goes on technical skills as the rest is on attitude and motivation.

d) If you want to recruit students, negotiate business partnerships, meet
prospective clients and decision makers of education in the Middle East,
provide new systems and solutions, enter new markets, develop your existing
network of contacts, Expo 2002 will help you achieve this aim.

e) As North observed, “conditions of uncertainty... have characterized the
political and economic choices that shaped (and continue to shape) historical
change.”

f) The average Westerner produces over 500kg of municipal waste a year —
and that is only the most obvious portion of the rich world’s discards. In
Britain, for example, municipal waste from households and businesses
makes up just 24% of the total (see chart 1).

g) Rubbish may be universal, but it is little studied and poorly understood.
Nobody knows how much of it the world generates or what it does with it.

3. Ipoananu3upyiiTe cjaeAylOUUiA TEKCT ¢ TOYKH 3peHHs
NMPHHAVIEKHOCTH K HAYYHOMY CTHJIIO.

For two hundred years, the White House has stood as a symbol of the
Presidency, the United States government, and the American people. Its
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history, and the history of the nation’s capital, began when President George
Washington signed an Act of Congress in December of 1790 declaring that
the federal government would reside in a district "not exceeding ten miles
square...on the river Potomac." President Washington, together with city
planner Pierre L’Enfant, chose the site for the new residence, which is now
1600 Pennsylvania Avenue. As preparations began for the new federal city, a
competition was held to find a builder of the "President’s House." Nine
proposals were submitted, and Irish-born architect James Hoban won a gold
medal for his practical and handsome design.

4. YcraHoBMTe BBOJHOe TNpeAJIO:KeHHe, B KOTOpPOoM (opMyJHpyeTcst
TeMa CcOOOILIECHMS, 3aTeM paccTaBbTe NPeNJI0KeHHs B JIOTHYECKOM
nopsiAKe.

It was not until 1800, when the White House was nearly completed, that its
first residents, President John Adams and his wife, Abigail, moved in. It is
also the only private residence of a head of state that is open to the public,
free of charge. Construction began when the first cornerstone was laid in
October of 1792. Although President Washington oversaw the construction
of the house, he never lived in it. Since that time, each President has made
his own changes and additions. The White House is, after all, the President’s
private home.

5. Pa30eiiTe TekcT Ha a063anbl. [IoMHHTE, YTO HOBBLIH a03al J0JIKEH
HAYNHATHCA C BBOJHOI0 TMpeNI0KeHHe, KOTOpoe TMOAroTaBJIMBaeT
yHuTaTe/sl K BOCIPUATHIO AaibHelimeil nudgopmanum.

The White House has a unique and fascinating history. It survived a fire at
the hands of the British in 1814 (during the war of 1812) and another fire in
the West Wing in 1929, while Herbert Hoover was President. Throughout
much of Harry S. Truman’s presidency, the interior of the house, with the
exception of the third floor, was completely gutted and renovated while the
Trumans lived at Blair House, right across Pennsylvania Avenue.
Nonetheless, the exterior stone walls are those first put in place when the
White House was constructed two centuries ago. Presidents can express their
individual style in how they decorate some parts of the house and in how
they receive the public during their stay. Thomas Jefferson held the first
Inaugural open house in 1805. Many of those who attended the swearing-in
ceremony at the U.S. Capitol simply followed him home, where he greeted
them in the Blue Room. President Jefferson also opened the house for public
tours, and it has remained open, except during wartime, ever since. In
addition, he welcomed visitors to annual receptions on New Year’s Day and
on the Fourth of July. In 1829, a horde of 20,000 Inaugural callers forced
President Andrew Jackson to flee to the safety of a hotel while, on the lawn,
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aides filled washtubs with orange juice and whiskey to lure the mob out of
the mud-tracked White House.

6. O3aryaBbTe Ka:KIblil Haparpag ciaeayoLero TeKcra.
The History of Pizza.
Paragraph 1: heading:

Pizza, like so many other foods, did not originate in the country for which it
is now famous. Unless you have researched the subject, you, like so many
people, probably always thought Pizza was strictly an Italian creation. In
reality, the foundations for Pizza were originally laid by the early Greeks
who first baked large, round and flat breads which they topped with various
items such as olive oils, spices, potatoes and other things. However,
tomatoes were not known in Greece at that time or, very likely, the Greeks
too would have used them to garnish Pizza as we do today.

Paragraph 2: heading:

Eventually the idea of flat bread found its way from Greece to Italy where, in
the 18th century, the flat breads called "Pizzas" were sold on the streets and
in the markets. They were not topped with anything but were enjoyed au
naturel. Since they were relatively cheap to make and were tasty and filling,
they were sold to the poor all over Naples by street vendors.

Paragraph 3: heading:

The arrival of the tomato in Italy and the visit of a queen to Naples
contributed to the Pizza as we know and enjoy it today. In about 1889,
Queen Margherita, accompanied by her husband, Umberto I, took an
inspection tour of her Italian Kingdom. During her travels around Italy she
saw many people, especially the peasants, eating this large, flat bread. The
queen, who was in Naples at the time, was curious and so ordered her guards
to bring her one of these Pizza breads. The Queen loved the bread and would
eat it every time she was out amongst the people, which caused some
consternation in Court circles. It was not seemly for a Queen to dine on
peasant's food.

Paragraph 4: heading:

Despite people’s scandalized reactions, the queen continued to eat the bread
and at a certain point she decided to take matters into her own hands.
Summoning Chef Rafaelle Esposito from his Neapolitan pizzeria to the royal
palace, the queen ordered him to bake a selection of pizzas for her pleasure.
To honor the queen who was much beloved by her subjects, Rafaelle decided
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to make a very special pizza just for her. He baked a Pizza topped with
tomatoes, Mozzarella Cheese, and fresh Basil (to represent the colors of the
Italian flag: Red, white, and green).

Paragraph 5: heading:

This became Queen Margherita's favorite pizza and when word got out that
this was one of the queen's favorite foods, she became even more popular
with the Italian people. She also started a culinary tradition, the Pizza
Margherita, which lasts to this very day in Naples and has now spread
throughout the world.

7. HpOﬁHaJ’lHZ}prflTe ciaeayromue TCKCTbI C TOYKH 3peHus
NPUHAAJCKHOCTH K HAYYHOMY CTUJIIO.

Energize with Iron

Iron is known for building muscle, but it also helps us have enough energy to
do what we want in our daily lives. If we think about the symptoms of
anemia, we will know why an iron deficiency makes us feel tired and want to
nap more. The reason for this is that iron helps build red blood cells that
transport oxygen into our cells. If our cells do not have enough oxygen, we
feel fatigued. A few other factors include lack of hydrochloric acid and
vitamin B12; both are needed for our bodies to absorb iron. Iron deficiency
is one of the most common known deficiencies. The elderly, especially those
with low income or those in nursing facilities, are increasingly at risk
because of poor nutritional status. The green tops of radish are richer in iron
than a piece of red meat of equal size. Using kelp (a seaweed) in your
cooking by adding it to cooking water (like rice, stews and soups) can also
boost iron intake. My favorite tip is to cook in a cast iron pan.

Keep Your Mind Fit with B12

We now know that vitamin B12 is important for iron absorption, but it is
also important to brain health. The brain is particularly sensitive to
nutritional deficiencies, especially that of vitamin B12. So profound is the
effect of vitamin B12 that some people with mental disorders like
Alzheimer's can experience complete remission upon taking vitamin B12
with folic acid. Rich sources of vitamin B12 are animal proteins like liver
(especially lamb), clams, oysters and sardines. The most effective form of
supplementation for the mature adult is vitamin B12 injections, that can be
administered by a medical doctor. Most vitamin deficiencies can be detected
by blood tests, but if you would like to do a quick self test at home, here is
what to look for:

1. A thick white coat over the tongue.
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2.  White specks (not the half moon that is at the top of your cuticle) on
your fingernails.

If you suspect that you have a deficiency, consult with a health care
professional to suggest a course of action.

The Rotation of the Earth

You do not feel it, but Earth moves. It rotates around an axis, which is an
imaginary line through the center of Earth. It takes 24 hours, or one day, for
Earth to rotate one time. As Earth rotates, half of it faces the sun and has day.
The other side has night. As Earth continues to rotate, the light side becomes
dark. The dark side becomes light. The cycle of day and night repeats every
24 hours.

As Earth rotates, it also revolves around the sun. Because Earth’s axis is
tilted, the sun hits Earth at different angles. Each of Earth’s hemispheres, or
halves, gets different amounts of sunlight. The tilt of Earth’s axis and Earth’s
revolution around the sun cause the four seasons.

As Earth rotates on its axis around the sun, Earth’s hemispheres get more or
less sunlight. In June the North Pole tilts toward the sun and the South Pole
tilts away from it. It is summer in the Northern Hemisphere and winter in the
Southern Hemisphere. In December the North Pole tilts away from the sun
and the South Pole tilts toward it. It is winter in the Northern Hemisphere
and summer in the Southern Hemisphere.

Tornadoes

Tornadoes begin with warm, humid air. Humid air is air that holds a lot of
moisture. This humid air meets up with colder air. As the air masses come
together, the warm air rises. As the warm air moves upward, it holds more
and more moisture. Huge, dark clouds called thunderheads begin to develop.
These clouds can spread as wide as 100 miles (161 km) across the sky. There
is so much moisture in the clouds that it can’t just evaporate into the air. So it
falls as rain. The thunderheads produce giant storms with thunder and
lightning. These storms are called supercells. Winds high up in the storm
clouds blow faster than the winds lower down. The winds also blow in
different directions. This causes the air to spin. Then, as the winds spin, they
form a long funnel cloud. However, one last thing needs to happen for the
funnel cloud to become a tornado. It needs to touch the ground.

X-Rays in Medicine
X-rays are valuable in medicine because they can see through certain parts of

the body. Doctors can take pictures of bones, teeth and tissue. They use these
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pictures to see which bones are broken or to find out which teeth have holes
in them.

To produce X-ray pictures you need two things: a special plate that can
capture X-rays is placed behind a part of a person’s body. A machine that
produces X-rays is put in front of the person.

The X-rays are strong enough to pass through the skin and muscles but they
cannot pass through hard objects like bones. In the picture you see hard
objects, like bones, as white areas. Objects that X-rays go through are dark.
There are some situations in which X-rays cannot give you a clear picture.
Some organs, for example, may block X-rays from showing a broken bone.
For this reason computed tomography (CT) was invented. A person is put
inside a scanner, which is a large tube-shaped machine. Then he is X-rayed
from all sides. A computer puts together all of these images and can show
doctors more than a normal X-ray can. CTs are used for brain diseases and
head injuries.

X-rays, however, can also do harm to your body. Patients must wear special
protection for the parts of their body that are not X-rayed. Doctors and
helpers who work with X-ray machines must wear lead aprons and stand
behind screens.

X-rays are sometimes used to in the fight against cancer. Doctors often beam
X-rays at cancer cells in order to destroy them.

Cloning animals

Animals have billions of cells. The nucleus of such a cell has genetic
information called DNA. All the nuclei of an animal have the same
information. But each cell only uses a part of this information in order to
work properly. The other part of the DNA is not active. But because a single
cell holds all the DNA of an animal, scientists can make physical copies of
an animal from only one cell.

They transfer the nucleus of an animal’s cell into an egg cell of another
animal. This egg cell has the same genetic information as that of the donor
animal. The cell then grows into an embryo. Scientists must then activate the
DNA that was not active in the parent cell. Otherwise a full organism would
not develop.

Clones do not behave in an identical way — this is because they live in
different environments. Researchers have found out that identical twins that
carry the same DNA are different because they grow up differently.
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Darwin and DNA: How genetics spurred the evolution of a theory
By Peter Bowler

Our understanding of evolution today stems from the combination of two
very different ideas. One came from a monk who studied pea plants in a
Moravian monastery in the 1850s. The other came from a Victorian
gentleman who spent five years as a naturalist on a voyage around the world,
20 years previously.

Although Gregor Mendel and Charles Darwin were alive at the same time,
they never met and Darwin wasn’t aware of Mendel’s work. With hindsight,
the union of the two men’s work seems like a marriage made in heaven (or
hell, if you’re a creationist). In fact, for many years, it wasn’t obvious that
Mendel’s studies of heredity had any relevance to Darwin’s theory of
evolution by natural selection. It would take nearly 60 years for this jigsaw
to be pieced together and give rise to the “modern synthesis” of evolution,
which framed Darwin’s idea in terms of genetics.

How exactly did this new understanding arise? And why did it take so long?

The explanation starts with natural selection itself. According to this, only
the fittest — the best adapted to the local environment — survive and breed,
and in this way the population as a whole gradually transforms. The idea of
evolution was already accepted by many biologists in the mid-19th century,
but there was considerable opposition to the notion that it happened by
means of natural selection.

The plausibility of this mechanism rests on the assumption that beneficial
characteristics are passed more or less intact from one generation to the next.
But it was not clear how this might happen.

8. IlepeBeaure cileAylolmHe TEKCTbl, YCTAHOBHTE IpPaMMaTH4YeCKHe
TpancdopMaluK NIPHU NepeBoje.

1) Our galaxy’s impossible collision could break gravity
by Stuart Clark

The end of the Milky Way is already scheduled, and will be marked with
fireworks. Some 4 billion years from now, the night skies will be lit by the
glow of hundreds of billions of stars as the nearby Andromeda galaxy bears
down on us. The two celestial giants will become one and stars, planets and
gas clouds will be hurled into intergalactic space by titanic gravitational
forces. Surviving stars and planets will be pitched into a jumbled cloud
flaring up with new stars — floating into a long future not in the Milky Way,
nor Andromeda, but a monstrous “Milkomeda” galaxy.
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It’s a well-established picture of our galaxy’s cataclysmic future. More
controversially, it might also be a vision of its past.

Observations indicate that the eviscerated remains of a past encounter
between two celestial giants encircle our galaxy’s neighbourhood. Forbidden
alignments of satellite galaxies, globular clusters and streams of stars trailing
in our galactic wake all hint that our local cosmic history needs a rewrite.
And not only that: to explain what our telescopes are telling us, we may need
to rethink that most mysterious of substances, dark matter — and perhaps our
entire conception of how gravity works, too.

Like many big problems, this one started out small: in a strange
configuration of tiny dwarf galaxies surrounding the Milky Way. In 2012,
astronomer Marcel Pawlowski, then of the University of Bonn in Germany,
dubbed it the “vast polar structure®. This was for the way the dwarfs line up
in a ring that circles the galaxy at right angles to the main disc of stars, which
contains our sun.

Other experiments employ a large number of anchor-buoy stations which al-
low hundreds of instruments to be simultaneously operated for collecting
data on the state of water masses over extensive areas. Of these one may
mention the MODE (Mid-Oceanic Dynamic Experiment) whose first stage is
now being carried out by American scientists together with representatives
of other countries including those of Russia. Deep-sea drilling calls for
sophisticated equipment which allows the drilling vessel to be kept in the
predetermined place with great accuracy without anchoring it and which
enables the drilling tool to be accurately replaced in the bore hole through a
water layer 5 — 6 km deep. (“National Scientific”, 2005, Ne 2, ¢. 57-58)

2) For a neutron gun they used a small sealed glass tube containing beryllium
powder and a radioactive gas (radon) that, like radium, emitted alpha
particles (nuclei of helium), which were needed to obtain free neutrons.
Alpha particles (approximately one per hundred thousand) hit the nucleus of
a beryllium atom, uniting with it to form a carbon nucleus and liberate a
neutron. Fermi and his colleagues needed free neutrons as projectiles to force
their way into Nature's main citadel, the atomic nucleus. (“National
Scientific”, 2004, Ne 3, c. 98)

3) Many glasses are known to form during a sharp cooling of melt. True, a
metal glass can be made when the liquid is cooled down at a rate of the order
of a million degrees per second. Basing their view on this, some researchers
maintain that glass is a hard non-crystal substance which is formed by the
above-described method of hardening. A metal glass can also form when the
crystal is subject to intense low temperature deformation. However, crystal
turns into glass and vice versa when these substances are solid and when

135



they are subject to pressure, slow increase or decrease in temperature, or, fi-
nally, radiation. We also know that glasses can be made by precipitation of
atoms from a gaseous phase. (“National Scientific”, 2003, Ne 1, c. 39)

4) To build a vacuum energy generator, the following characteristics to
physical vacuum are used: — The critical level of vacuum excitation at which
vacuum generates elementary particles. — The ability of vacuum to produce
electric energy by generating electrical charges — electrons and positrons. —
The transition of vacuum into the excited state when a certain energy density
is achieved. (“Academic Research Journal”, 2006, Ne 6, ¢. 69)

5) The use of the listed characteristics of vacuum produce vacuum energy
effects, which is provided by the appropriate design of the vacuum generator
and electronic influence on the environment. The existence of a critical level
of excitation for vacuum and a natural background of electromagnetic fields
and cosmic radiation, which result in a background level of the excited state
of vacuum, create conditions for receiving a larger load energy than spent by
the primary energy source. The necessary addition is not taken from thin air,
but draws on natural energy reserves. (“Academic Research Journal”, 2006,
Ne 6, c. 70)

9. HazoBuTe JieKcHYeCKHE H TPAMMATHYECKHE CPEACTBA, YKA3bIBAIOILHE
HA NPUHALJIEKHOCTD CIEAYIOLIUX TEKCTOB K HAYYHOH peYu.

I. THE ROTATION OF THE EARTH
by Matt Williams (27 May, 2016)

By definition, the Earth’s rotation is the amount of time that it takes to rotate
once on its axis. This is, apparently, accomplished once a day — i.e. every 24
hours. However, there are actually two different kinds of rotation that need
to be considered here. For one, there’s the amount of time it take for the
Earth to turn once on its axis so that it returns to the same orientation
compared to the rest of the Universe. Then there’s how long it takes for the
Earth to turn so that the Sun returns to the same spot in the sky.

Solar vs. Sidereal Day:

As we all know, it takes exactly 24 hours for the Sun to return to the same
spot in the sky, which would seem obvious. 24 hours is what we think of as
being a complete day, and the time it takes to transition from day to night
and back again. But in truth, it actually takes the Earth 23 hours, 56 minutes,
and 4.09 seconds to turn rotate once on its axis compared to the background
stars.
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Why the difference? Well, that would be because the Earth is orbiting around
the Sun, completing one orbit in just over 365 days. If you divide 24 hours
by 365 days, you’ll see that you’re left with about 4 minutes per day. In other
words, the Earth rotates on its axis, but it’s also orbiting around the Sun, so
the Sun’s position in the sky catches up by 4 minutes each day.

The amount of time it takes for the Earth to rotate once on its axis is known
as a sidereal day — which is 23.9344696 hours. Because this type of day-
measurement is based on the Earth’s position relative to the stars,
astronomers use it as a time-keeping system to keep track of where stars will
appear in the night sky, mainly so they will know which direction to point
their telescopes in.

The amount of time it takes for the Sun to return to the same spot in the sky
is called a solar day, which is 24 hours. However, this varies through the
year, and the accumulated effect produces seasonal deviations of up to 16
minutes from the average. This is caused by two factors, which include the
Earth’s elliptical orbit around the Sun and it’s axial tilt.

Orbit and Axial Tilt:

As Johannes Kepler stated in his Astronomia Nova (1609), the Earth and
Solar planets do not rotate about the Sun in perfect circles. This is known as
Kepler’s First Law, which states that “the orbit of a planet about the Sun is
an ellipse with the Sun’s center of mass at one focus”. At perihelion (i.e. its
closest) it is 147,095,000 km (91,401,000 mi) from the Sun; whereas at
aphelion, it is 152,100,000 km (94,500,000 mi).

This change in distance means that the Earth’s orbital speed increases when
it is closest to the Sun. While its speed averages out to about 29.8 km/s (18.5
mps) or 107,000 km/h (66487 mph), it actually ranges by a full km per
second during the course of the year — between 30.29 km/s and 29.29 km/s
(109,044 — 105,444 km/h; 67,756.8 — 65,519.864 mph).

Earth's axial tilt (or obliquity) and its relation to the rotation axis and plane
of orbit as viewed from the Sun during the Northward equinox. Credit:
NASA

Earth’s axial tilt (or obliquity) and its relation to the rotation axis and plane
of orbit as viewed from the Sun during the Northward equinox. Credit:
NASA

At this rate, it takes the Sun the equivalent of 24 hours — i.e. one solar day —
to complete a full rotation about the Earth’s axis and return to the meridian
(a point on the globe that runs from north to south through the poles).
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Viewed from the vantage point above the north poles of both the Sun and
Earth, Earth orbits in a counterclockwise direction about the Sun.

This Earth’s rotation around the Sun, or the precession of the Sun through
the equinoxes, is the reason a year lasts approximately 365.2 days. It is also
for this reason that every four years, an extra day is required (a February
29th during every Leap Year). Also, Earth’s rotation about the Sun is subject
to a slight eccentricity of (0.0167°), which means that it is periodically closer
or farther from the Sun at certain times of the year.

Earth’s axis is also inclined at approximately 23.439° towards the ecliptic.
This means that when the Sun crosses the equator at both equinoxes, it’s
daily shift relative to the background stars is at an angle to the equator. In
June and December, when the Sun is farthest from the celestial equator, a
given shift along the ecliptic corresponds to a large shift at the equator.

So apparent solar days are shorter in March and September than in June or
December. In northern temperate latitudes, the Sun rises north of true east
during the summer solstice, and sets north of true west, reversing in the
winter. The Sun rises south of true east in the summer for the southern
temperate zone, and sets south of true west.

Rotational Velocity:

As stated earlier, the Earth’s is spinning rather rapidly. In fact, scientists
have determined that Earth’s rotational velocity at the equator is 1,674.4
km/h. This means that just by standing on the equator, a person would
already be traveling at a speed in excess of the speed of sound in a circle. But
much like measuring a day, the Earth’s rotation can be measured in one of
two different ways.

Earth’s rotation period relative to the fixed stars is known as a “stellar day”,
which is 86,164.098903691 seconds of mean solar time (or 23 hours, 56
minutes and 4.0989 seconds). Earth’s rotation period relative to the
processing or moving mean vernal equinox, meanwhile, is 23 hours 56
minutes and 4.0905 seconds of mean solar time. Not a major difference, but
a difference nonetheless.

However, the planet is slowing slightly with the passage of time, due to the
tidal effects the Moon has on Earth’s rotation. Atomic clocks show that a
modern day is longer by about 1.7 milliseconds than a century ago, slowly
increasing the rate at which UTC is adjusted by leap seconds. The Earth’s
rotation also goes from the west towards east, which is why the Sun rises in
the east and sets in the west.
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Earth’s Formation:

Another interesting thing about the Earth’s rotation is how it all got started.
Basically, the planet’s rotation is due to the angular momentum of all the
particles that came together to create our planet 4.6 billion years ago. Before
that, the Earth, the Sun and the rest of the Solar System were part of a giant
molecular cloud of hydrogen, helium, and other heavier elements.

As the cloud collapsed down, the momentum of all the particles set the cloud
spinning. The current rotation period of the Earth is the result of this initial
rotation and other factors, including tidal friction and the hypothetical impact
of Theia — a collision with a Mars-sized object that is thought to have taken
place approx. 4.5 billion years ago and formed the Moon.

This rapid rotation is also what gives the Earth it’s shape, flattening it out
into an oblate spheroid (or what looks like a squished ball). This special
shape of our planet means that points along the equator are actually further
from the center of the Earth than at the poles.

The Geocentric View of the Solar System

The geocentric model of the universe would also be challenged by medieval
Islamic and Indian scholars. For instance, In 499 CE, Indian astronomer
Aaryabhata published his magnum opus Aryabhatiya, in which he proposed
a model where the Earth was spinning on its axis and the periods of the
planets were given with respect to the Sun.

The 10th-century Iranian astronomer Abu Sa’id al-Sijzi contradicted the
Ptolemaic model by asserting that the Earth revolved on its axis, thus
explaining the apparent diurnal cycle and the rotation of the stars relative to
Earth. At about the same time, Abu Rayhan Biruni 973 — 1048) discussed
the possibility of Earth rotating about its own axis and around the Sun —
though he considered this a philosophical issue and not a mathematical one.

At the Maragha and the Ulugh Beg (aka. Samarkand) Observatory, the
Earth’s rotation was discussed by several generations of astronomers
between the 13th and 15th centuries, and many of the arguments and
evidence put forward resembled those used by Copernicus. It was also at this
time that Nilakantha Somayaji published the Aryabhatiyabhasya (a
commentary on the Aryabhatiya) in which he advocated a partially heliocentric
planetary model. This was followed in 1500 by the Tantrasangraha, in which
Somayaji incorporated the Earth’s rotation on its axis.

In the 14th century, aspects of heliocentricism and a moving Earth began to
emerge in Europe. For example, French philosopher Bishop Nicole Oresme
(ca. 1320-1325 to 1382 CE) discussed the possibility that the Earth rotated
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on its axis. However, it was Polish astronomer Nicolaus Copernicus who had
the greatest impact on modern astronomy when, in 1514, he published his
ideas about a heliocentric universe in a short treatise titled Commentariolus
(“Little Commentary”).

Like others before him, Copernicus built on the work of Greek astronomer
Atistarchus, as well as paying homage to the Maragha school and several
notable philosophers from the Islamic world (see below). Intrinsic to his
model was the fact that the Earth, and all the other planets, rolved around the
Sun, but also that the Earth revolved on its axis and was orbited by the
Moon.

In time, and thanks to scientists such as Galileo and Sir Isaac Newton, the
motion and revolution of our planet would become an accepted scientific
convention. With the advent of the Space Age, the deployment of satellites
and atomic clocks, we have not only confirmed that it is in constant motion,
but have been able to measure the its orbit and rotation with incredibly
accuracy.

In short, the world has been spinning since its inception. And, contrary to
what some might say, it actually is slowing down, albeit at an incredibly
slow rate. But of course, by the time it slows significantly, we will have
likely ceased to exist, or slipped its “surly bonds” and become an
interplanetary species.

II. HOW NEGATIVE INTEREST RATES CAN AFFECT BOND PRICES
by Richard Best (August 30, 2016)
How Negative Rates Came About

Following a weak recovery from the global recession of 2007-2009, much of
the eurozone has been languishing in a slow-growth, nearly stagnate
economy. With rates of inflation hovering near zero and threatening to go
negative, the European Central Bank (ECB) cut the deposit rate to zero to
spur growth. With the cost of lending reduced to zero, banks are supposed to
be encouraged to lend money instead of hoarding it, thus leading consumers
to spend their money rather than save it.

To keep the yield on Eurozone debt down, the ECB initiated an aggressive
bond-buying program, similar to the quantitative easing programs executed
by the Federal Reserve in the United States. As a result, the inventory of
government bonds has been depleted, which has driven yields below zero.

Several countries, including Sweden, Switzerland, Spain, Italy and Denmark,
have actually cut their deposit rates to below zero. In many of these
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countries, bond yields have followed suit and are now trading at negative
nominal yields. In July 2016, Deutsche Bank AG (NYSE: DB) was the first
non-finance company to issue negative-yield bonds.

How Negative Rates Affect Bonds

In a negative-yield environment, banks actually pay borrowers for the
privilege of lending them money. When investors buy negative-yield bonds,
they end up paying the borrower, which is the issuer of the bonds. An
investor who buys a bond issued with a negative yield receives total interest
and principle payments that are less than the price of the bond at the time it
was purchased. For example, in a normal interest-rate environment, an
investor buys a German treasury bill at a discount, paying $99.50, for which
he receives $100 at maturity. With negative rates, the investor might pay
$101 and receive $100 at maturity. The investment is made knowing it will
result in a loss.

Why Investors Still Buy Negative-Yield Bonds

Investors in Europe might be more willing to invest in negative-yield bonds
than store their money in cash because cash can present a higher risk under
certain circumstances. Whether they have a positive yield or a negative yield,
bonds still provide the best counterweight to equity risk in a diversified
portfolio, whereas cash does not. In a low- or negative-inflation
environment, bond investors, especially institutions, are willing to pay a
slight premium for the safekeeping of their capital. Cash can be expensive
and risky to store.

What About U.S. Bonds?

Although Federal Reserve Chair Janet Yellen has indicated, as of August
2016, that a change in circumstances could put negative rates on the table,
economic conditions would have to deteriorate significantly for it to be
considered. The U.S. economy is faring better than the European economy,
and the Federal Reserve is on-route to normalize interest rates after nearly a
decade of near-zero rates. However, U.S. government bonds are not immune
to the negative interest-rate activity occurring in Europe. Because they still
offer positive yields, U.S. bonds are an attractive alternative for European
investors. This increasing demand for U.S. bonds drives their prices higher,
which puts downward pressure on their yields. Shorter-term bonds selling on
the secondary market can be especially susceptible to negative yields.

Generally, long-term government and corporate bonds in the United States
are more affected by economic conditions than the incremental maneuvers of
the Federal Reserve. If the outlook for economic growth remains positive,
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with the prospect of higher inflation in the near future, bond prices are likely
to decline, pushing yields higher.

In the problem solving strategy, you spend a lot of time exploring ideas.
Companies are always looking for new ideas, too. That's because every
product starts as an idea. Someone may suggest an idea or invent something
to solve a particular problem. Many companies have special research and
development (R and D) departments. The people who work in R and D look
for new ideas, find then they develop them into products. Of course, not
every idea works. Only one out of every five ideas actually works. Research
helps us gather information. There are two kinds of research basic research
and applied research. Basic research is gathering information that helps us
understand things about the world around us. Sometimes the information
cannot be used right away. For example, people learned how to make a laser
in the 1960s, but they did not know what to do with it. Today we use lasers
for many things, from supermarket pricing to surgery. Applied research is
the kind of research done to solve a particular problem. The information can
be used right away. For example, people wanted to make computers smaller
and more portable. To do that they needed to put more components (parts) in
a smaller space. The microchip (a tiny silicon chip containing thousands of
electronic circuits) was invented to solve this problem. Basic and applied
researches use the same two methods to get information — retrieving and
experimenting. Retrieving is gathering already — known information from
sources such as books, people, and computers. The information is part of the
knowledge base. Using this kind of information saves time because you do
not have to start from scratch every time.

10. IIpouwmTaiiTe TeKCT, oONpegeIuTe KOMMYHMKATHBHbIe O0JI0KH,
COOTBETCTBYIOIIHE ONMCAHUIO HAYYHOMH NP00JieMBbl.

Machiavelli does not make it entirely clear why the preservation of the
political order outweighs any other known good, but we may understand his
thinking as a response to the rise of the modern, centralized state. In a world
of absolute sovereign states, no structure exists to which appeal can be made
over the heads of the princes. The state, therefore, becomes the only hope for
the survival of any conception of the good life. A transitional figure,
Machiavelli reflected the tension between the old and the new ways of
thinking about justice. On the one hand, he recognized the good in the
traditional sense — that there are certain qualities of character that are worth
having for their own sake, and goods that are self-evident in the sense that no
argument or further justification is necessary for them. On the other hand, he
believed that necessities of state require the sacrifice of some of these
principles (in particular, the prohibition against murder) for a greater good.
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Machiavelli’s thought was brought to completion in the 19" century by
philosophers like Jeremy Bentham and John Stuart Mill whose work faced
up to the pure consequentialism of much modern politics. In its mature 19th-
century formulations, consequentialism was a theory devised, in part, to deal
with the perceived disappearance of generally agreed-upon moral standards.
The skepticism brought on in some quarters by the rise of empiricism,
Darwinism and various forms of atheism led to the search for some standard
that would unite radically heterogeneous values. Mill and others fixed upon
certain subjective ends, styled variously as «happiness» or «pleasure» As the
aforementioned belief in divine providence continued to decline, the terrible
burden of completely securing the future seemed to fall entirely upon human
shoulders. In principle, no possible course of action could be ruled out as
wrong or impermissible in itself and no sacrifice of known goods could be
regarded as too great if it would secure greater happiness in the future. Thus,
in the search for a means of maximizing the good, moral rules lost their
categorical force. Given the pervasiveness of this moral theory and its impact
upon the common person, it is no accident that our own century is replete
with political movements that require or threaten the destruction of known
values in order to create a future of unlimited happiness. The belief in the
mutability of moral obligations is one of the main arguments for terrorism. If
there are no absolute human rights, the innocent are in danger.
«Calculations» about whether or not to kill an innocent person become no
more than arguments of advocacy based on hypothetical scenarios of the
future. Terrorists the world over have appropriated concepts and military
strategies (consider the nuclear bombing of Hiroshima and the fire bombing
of Dresden) that originated in the West. This fact should not, however, in
any way debilitate us in our fight against terrorism. No government, no
matter what its own past transgressions, should fail to protect its own
citizens. If anything positive can be said about this grim and ironic situation,
it is that as victims of terrorism we may be forced to rethink our own policies
on the use of force (including nuclear force) in order to bring them into line
with our moral denunciations of terrorism.
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